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IDENTIFICATION
PRODUCT (ODE: AC~8186(-M(
PRODUCT NAME : CVKAACO LSI=11 BSC INST
PRODUCT DATE: 01-NOVEMBER-1978
MAINTAINER: DIAGNOSTIC ENGINEERING
AUTHUR: SERVEZ A. ZAK]
MODIF IED BY: BARRY SUSSMAN 91-NOV-77

BARRY SUSSMAN 01-NQv-78

YHE INFORMATION IN THIS DOCUMENT [S SUBJECT TO (HANGE WITHOUT
NOTICE AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL
EQUJPMENT CORPORATION. DIGITAL EQUIPMENT CORPORATION ASSUMES NO
RESPONSIBILITY FOR ANY ERRORS THAT MAY APPEAR [N THIS DOCUMENT.

NC RESPONSIBILITY IS ASSUMED FOR THE USE OR RELJABILITY OF

SOF TWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL OR ITS
AFFILIATED COMPANIES.

COPYRIGHT (L) 1975, 1978 BY DIGITAL EQUIPMENT (ORPORATION

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:

PIGITAL OBF UNIBUS MAS SBUS
DE( DEL S DE( TAPE

SEQ 0001
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ABSTRACT
THIS PROGRAM TESTS THE LSI-11 gAS INSTRUCTION SET

IC
IN A.L MODES. THE DIAGNOSTIC IS DESIGNED TO RUN UNDER
BOTH APT. AND ACT. SYSTEMS

REQUIREMENTS

EQUIPMENT

L>i=11 STANDARD (OMPUTER
AND &< OF MEMORY

STORAGE
PROGRAM STORAGE =~ THE ROUTINES USE MEMORY O - 17500

PREL JMINARY PROGRAMS
NONE

LOADING PROCEDURE
USE STANDARD PROCEDURE FOR ABS TAPES,

STARTING PROCEDURE

STARTING ADDRESS

AFTER LOADING THE PROGRAM [T 5HOULD ALWAYS BE STARTED Af 200.

IF IT IS DESIRED TO SAVE THE PASS COUNTER THEN CLEAR THE

LOCATION $TESTN [1.E. LOCATION 102] AND RESTART FROM 450 OTHERWISE
THE PROGRAM (AN BE RESTARTED AT 200. IF IT IS DESIRED TO GO 1O A TEST
OTHER THAN TEST # O THEN PLALE THE TEST NUMBER IN LOCATION STESTN
AND RESTAR™ THE PROGRAM AT 450, IN WHICH CASE THE OROGRAM WILL HALT
Al LOCAT]ON 464 AND wiLL WAIT FOR THE OPERATOR Tu PLACE THE

STARTING ADDRESS Of THE DESIRED TEST IN PC (R7) AND TYPE A B,

SEQ 00UL°
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PROGRA™ AND/OR OPERATOR A(TION

PLACE LTC SWITCH IN OFF POSITION.

LOAD PROGRAM INTO MEMORY USING ABS LOADER.

TYPE 200G [ THERE ARE NO SWITCH SETTINGS AND THIS DIAGNOSTIC

DOES NOT USE SOFTWARE SWITCH LOCATION $SWREG J

4) THE PROGRAM WILL LOOP AND 'END PASS'' WILL BE TYPED AFTER
THE FIRST PASS AND THEN EVERY 377 PASSES. HOWEVER TYPE QUT
wiLL BE SUPPRESSED IF BIT 5 OF LOCATION $ENVM IS HIGH

5) A MINIMUM Of TWO PASSES SHOULD ALWAYS BE RUN.

NN -2
N

UPERATING PROCEDURE

OPERATING MODE :

AN 8 BIT BYTE $ENWM [I.E. LOCATION 117] HAS BEEN USED TO DEF INE
THE OPERATING MODE. ALL TYPEOUTS (AN BE SUPPRESSED BY MAKING
BIE ?18; B¥éE $ENVM HIGH, IN OTHER WORDS BY PLACING A 20000 IN
LJCA 116.

TRAP (AT(HER

A '+ = "HALT'' SEQUEN(Z IS REPEATED FROM 0-776 TO CAT(H
ANY UNEXPECTED TRAPS. THUS ANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT AT THE VE"TOR +2.

ERRORS

FRROR REPORTING

ON FINDING AN ERROR THE PROCESSOR WILL COME TO A HALT AFTER
PLACING THE ERROR NUMBER IN LOCATION SFATAL [].E. LOCATION 100].
IN MOST CASES THE COMMENTS BESIDES THE HALTS TELL WHAT WwAS BEING
CHECKED. IN SOME CASES THE TEST CAN GE” TO A HALT VIA 2 WAYS:

") WRONG TEST SEQUENCE
2) ERROR IN ACTUAL TEST

WHEN A HAL™ DOES OCTUR IT
LOCATION [I.E. LOCATION 7

Oé ECOMMENDED THAT THE TEST SEQUENCE
THE PRESENT TEST NUMBER. IL
ST

R

Bt CHECKED TO VERIFY THAT [T MATCHES
IT DOESN'T, THEN THE HALT OCCUKED

AS NOT CORRECT OTHERWISE THE HWALT [S

3
3

BECAUSE THE TEST SEQUENCE
DF "0 AN ERROR IN THE TF
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ERROR RE(OVERY
RESTART AT 200 OR 450 (SEE SEC 4.1)

RESTRICTIONS
NONE

MISCE_LANEOUS

EXELUTION TIME

EXECUTION TIME OF THE DIAGNOSTIC IS LESS THAN A SECOND, FIRST
“END PASS'' WILL BE TYPED QUT WITHIN A SECOND AND EVERY COSECUTIVE
"END PASS'' WILL BE TYPED OUT WITHIN 20 SECONDS (SEE SEC 4.2)

wHEN RUNNING UNDER APT IN A SCRIPT, THE FIRST PASS RUN TIME
AND SUBSEQUENT PASS RUN "IMES ARE ONE (1) SECOND.

STACr POINTER
STACK IS INITIALLY SET TC 450

PASS COUNT

A 16 811 LOZATION *$PASS'" (1.E. (LOCATION 104) IS USED TO KEEP
PASS COUNT. [T (AN BE CLEARED BY RESTARTING THE PROGRAM AT 200

TEST NUMBER

A 16 BIT LOCATION *BTES™M'* (I.E. LOCATION 102) IS USED TO KEEP TRACK
OF THE TEST NUMBER, UPPER BYTE OF THIS _OCATION GIVES THE ITERATION
NUMBER AND "HE LOWER BYTE THE TEST THAT WAS BEING EXECUTED

POWER FAJL

"HE DIAGNOSTIC CAN BE POWER rAILED WITH NO ERRORS. TO USE,
START THE CJAGNOSTI( AS LSUAL AND POWER DOWN THEN UP AT ANY TIME.
THE PROGRAM SHOULD TYPE 'POWER'' AND RESTART AT 450 WITH TESY & C
HOWEVER THE DIAGNOSTIC WiLL NOT RECOVER IF IT S STORED (N A
MEMORY NOT CAPABLE OF HOLDING DATA WITH POWER DOWN

“ROGRAM DESCRIPTION

SEQ 00C
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258
257 THIS PROGRAM TESTS ALL THE BASIC INSTRUCTIONS OF THE LSI-11 (EXCEPI
26C TRAF=TYPE) WHITH INCLUDES CONTROL CHIP, DATA CHJP, MJCROMS, PLA,
2¢! AND OTHER CIRCUITRY ON THE LSI=11 CPU MODULE. TRAP DIAGNOSTIC
267 SHOULD ALSQ BE RUN "0 MAKE SURE THAT THE BASIC LSI~11 IS FUNCT[ONAL
2t THi> DIAGNOSTIC DOES NOT MAKE A PASS WITH T-B]T SET.

[
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270 :

272 (TITLE (VAR

~COPYR| (C) 1975, 1978
27 Z«DIGITAL EQUIPMENT  CORP.
275 :*MAYNARD, MASS. 01754

377 S-DROGRAM BY PERVEZ ZAKI

279 .'THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
gg? -DA’KAGE (MAINDEC~11-DZQAC-C3), JAN 19, 1977,

28¢ e !'
283 e, $%Nﬂ"OOOOC ;:%ALT ON ERROK, LOOP ON TEST, INHIBIT EPROR TYPQUT

I

MACRO INSTRUCTION EXERCISER

1M
MC . MD, CND
ME

n)

o
Fy)
.

S
LSI-
IST
ST

C

™Ses
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L
1
T
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N
™
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ooxcgg
000046 Q74734
000052 gooooo

000G76

.=0
":....'.'.'."..'.'."'......'t.'....ttt!tt"t't'ttt'tlt.tt."'.'

TRAP (ATCHERS OF ,+2 AND HALT IN LOCATIONS Q THRU 776 [IT IS NLISTED]
LSBTTL  ACT11 HOOKS

A 222222222 AR AR NER2R2R R ZRY D]

1KMOOKS REQUIRED BY ACT11
$SVPC=.

e ;SAVE PC
$ENDAD ::13SET LOC.46 TO ADDRESS OF $ENL -0 IN .$EOP
TWORD 0 ::2)SET LOC.52 TO 2ERO
.- $SV2( .+ RESTORE P(
. 76
RO =20
R =1
R2 =32
R3 23
R4 =34
RS =5
R6 =%6
sP =36
p( =7
(LNZ =254
ERRNM =
NOPT =260
SEVC =263
SENVC =273

IN =0

TPE =IO

SEC 000k
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000000

00012¢
000024

000000
000076
00000

000014

59 PAGE 10
APT MAILBOX~E "ABLE

.SBTTL APT MAILBOX-ETABLE

-;tttttt.ttt'ttt'tt'tQtttttt.tt'ttttt.t'.t..'tnt....tt-nnnnn.naaa.na.aot.vant
L

.EVEN

MAL ;cAPT MA]LBOX

MSGTY: WORD  AMSGTY ;.MESSAGE TYPE CODE

$FATAL: .WORD AFATAL ;:FATAL ERROR NUMBER

S$TESTN: _WORD  ATESTN ;;TEST NUMBER

$PASS: L.WORD  APASS ; ;PASS COUNT

$OEVCT: _WORD  ADEVCT ;;DEVICE COUNT

$SUNIT: .WORD AUNIT 22170 UNIT NUMBER

$MSGAD: .WORD  AMSGAD . ,MESSAGE ADDRESS

$MSGLG: .WORD  AMSGLG ; ;MESSAGE LENGTH

$ETABLE : s sAPT ENVIRONMENT TABLE
$ENV: BYTE AENV ;s sENVIRONMENT BYTE

$ENVM:  _BYTE  AENVM  ;.ENVIRONMENT MODE BITS
SSWREG: .WORD  ASWREG ;;APT SWIT(Y REGISTER

SUSWR: .WORD  AUSWR ;;USER SWITCHES

$CPUOP: .WORD ACPUQP ;;CPU TYPE ,OPTIONS

o BITS 15-11=CPU TYPE
11/064=01,11/05-02.11/20=03,11/40=04,11/45=05
11/70=06,PD0=07,0-10

» 5 ¢ »

: BIT 10=REAL TIME CLOCK

: BIT 9=FLOATING POINT PROCESSOR
;¥ BIT 8-MEMORY MANAGEMENT

$E "END :

CMEXIT

.SBTTL APT PARAMETER BLOCK

MR AL S 4ARRAdRlRRRRlsl il il sl SRS AR TR 2T TR 2 2R

;SET LOCATIONS 24 AND &4 AS REQUIRED FOR APT
::'tttt"'ttt'tt't'ttttt'ttttttQltttlttt'tt!tttt'ttttttttttttttttt.t'ttttt'tt

.8X=.  ;:SAVE CURRENT LOCATION

.=24 ;:SET POWER FAIL TO POINT TO START OF PROGRAM

200 ;:FOR AP™ START uUP

.ché ;JPOINT TO APT INDIRECT ADDRESS PNTR.

$APTHDR ;;POINT TO APT HEADER BLOCK

.=.8X  ;;RESET LOCATION COUNTER
::tttttt'ttttt'ttt't'tt'tttttt'ttttttt'.tlttttt't't'tt-tttt'tnt"t'tttt.t'ttt
JSETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
; INTERFACE SPEC.

SEQ 0009

$SAPTHD :

$HIBTS: WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

SMBADR: .WwORD $MA], . ;ADDRESS OF APT MAI(BOX (BITS 0-15,

$TSTM:  _WORD 1 J;RUN TIM GF LONGEST TEST

$PASTM: _WORD 1 s sRUN TIME éN SE{S. OF 1ST PASS ON ' UN]T (QUICK VERIFY)
$UNITM: [ WORD ;;ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

LWORD  $ETEND-$MAIL/? ;; ENG™H MA]LBOX-E TABLE (WORDS)
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000132
000134
000136
000140
000142
000144
000146
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G00° 26
000130
000132
00013
00013¢
06014D
000142
000144
177564
177566
006402
005015
050040

005015
000122

000023
000020

017006
000000

0462440
051501

08:59 PAGE 11
APT PARAMETER BLOCK

MARK?:

Quc*¢ ENDPAS:
000123

067520 042527 POWER:

.—$APTHD

.STEMP2+2
TPS: 177564
TPR: 177566

2
<15><12>'" END PASS''

. OUTPUT TTY STATUS REGISTER
s OULTPUT BUFFER

<15><12>/POWER/

BLKW 19,

SEQ 0010
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000450
012706

001401
000000

016754 000624
00017¢

00076
000222

0004
0001

(=¥
% lap)

0950(T-78 8:55 PAGE 12

STARTING OF THE PROGRAM SEaQ 001"

:STARTING OF THE PROGRAM

MoV H#PWRDN , a#24 ; SERVICE POWER DOWN ROUTINE ON ANY FUTURE POWER DOWN
MOV #SETABLE ,RO

2s: (LR -(R0O) :START CLEANING THE STACK
MP RO, #$MAIL sFOR INITIALIZATION
BHI 2%
MP START
. 450
START: MOV ASTART,SP ; SET THE STACK POINTER

Moy #STESTN,RS PLACE THE ADDRESS OF LOCATION $TESTN IN RS

TST (R5) ; CHECK THE SEQUENCE COUNTER

BEQ NOBI T ; IF THIS IS THE STARTING OF THE TEST THEN
; GO TO NOBIT TEST

HALT . OTHERWISE HALT AND WAIT FOR THE OPERATOR

TO START AT THE PROPER TEST NUMBER
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CHECK BRANCH INSTRUCTIONS WITH ZERO CONDITION (ODES JEQ 0012
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012745
005245
000009
102000

003404

012745
005245
00000
01000

00000

000001

000006

10

"

IS4 224222322220 2R0R B2t RRtRR iRt RERl R AR 2R RRRR2RRRRRRZ

CHECK BRANCH INSTRUCTIONS WITH ZERO CONDITION CODES

S*TEST: O

:.'ttl’".'"Q'!"Qt"'l"".QQQ."."""..Q‘..'.'t.titttttt'.tttit't'tttttti"lt

NOBIT:

1%:

CCO:

L
ENDCCO: BVC

BHI

MOV
INC
HALT

(R5) ,40
cco
(RS)

o
o
o

YOI ICIOY YYD
YOI (xImlm]
QOOO0OO OO0

[aln)
[ Im)
QO

ENDCCO

#1,-(R5)
-(R5)

NBIT

; IF IN WRONG SEQUENCE GO TO HALT AT END OF THE TEST
; ZERO CONDITION CODES, N2v(=0000

; CHECK NOPT INSTRLCTION [.E. OP-CODE 260

s ONE OF THE ASOVE BRANCHES FAILED OR WRONG SEQUENCE

A AL RS RRRARS ARt 2R dRRdtR R Rl R 2Rl Xt A28 2ZX2RRt? ]

CHECK BRANCH INSRUCTIOUNS WITH N BIT SET

SETEST: 1

""‘tt'ttttﬁttt‘tittttt'tt"tiﬁ'Q'.l’l’.itl"t'.""t'tt'tttttlttttt"tltttt""

NBIT:

1%:

C1:

cMP
BNE
INC
SEN
BPL
BEQ
BGE
BGY
BCS
BLOS
8LO
BLE

MOV
INC
HAL Y

ENDC(1: BNE

(R5) .41

a1

#2,-(RS)
-(R5)

vBlT

¢ 1T IN WRONG SEQUENCE GO TO HLT AT THE END OF THETEST
: NBIT IS SET, N2v(=1000

; UNE OF THE ABOVE BRANCHES FAJLED OR WRONG SEQUEN(E
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::"ﬁ.'ﬁﬁﬁ‘."‘...t‘..'..‘..-.".."'t‘"".""""""'t'Q""""."'.".'
;+TEST: 2 CHECK BRANCH INSRUCTIONS WITH NRV BITS SET
s 2222822222222 2222828288222 8222222222222 2 3 YT TR R EE R R TR T XY

000D vBIT1:

000610 021527 00000c {™MP (RS) 42

000614 001014 BNE e > IF IN WRONG SEQUENCE GO TO HWLT AT THE END OF THE TEST

000616 005215 “$: INC (RS)

000620 000270 SEN

000622 000267 SEV : V AND N BIT SET, N7/C - 1010

000624 102010 BvC cce

0006%8 001407 BEQ cce

0006 100006 BPL ce

000632 103405 BCS €ce

000634 002404 BLT cce

000636 (03403 BLE cce

000640 101402 BLOS “C2

000642 103401 BLO e

000644 003004 BRGT ENDCC2

000646 £ce:

000646 012745 000003 MOV #3,-(RS)

000652 005245 INC -(RS)

000654 000000 HALT . ONt OF THE ABOVE BRANCHES FAILED OR WRONG SE JUENCE

000656 002000 ENDCC2: BGE (BIT
"""'"."'t‘.'.*"""""""'.'.""'.ﬁ"""....'.""“""."...'."'.'Qt
;«TEST: 3 (HECK BRANCH INSRUCTIONS WITH N,Vv&(C BITS SET
"" (2 ARl il il RS R R ET SRR TR RR T RE XX LR TR ZE TR FF L F L ERR R R R

000660 (BIT:

000660 021527 000003 CMP (RS) .43

000664 001013 BNE €2 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

000666 005215 1%: INC (R5"

000670 000270 SEN

000672 000262 SEV

000674 000261 SEC ; C, v, AND N BITS ARE SET, NZv(=1011

00676 001406 BEQ ]

000700 100005 BPL 3

000702 102004 8v( (C3

000704 002403 BLY €C3

000706 003402 BLE €C3

000710 101001 BHI] 3

000712 002004 BGE IBIT

000714 cc3:

000714 012745 000004 MoV #6, -(RS)

000720 005245 INC -(RY"

0007272 000000 HAL T . OUNr OF THE ABOVE BRANCHES FAILED

; OR WRONG SEQUEN(CE
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PN 09-0(1~78 08:58 T4 CHECK BRANCH INSRUCTIONS WITH N,Z,v&C BITS SET SEQ 0014

'.'"I'.'.tt.'ttt..ttt.'tttttttttt.tt'..'."..tt."'tt'..Qtttt.tttt'tt't't""

PeTEST: 4 CHECK BRANCH INSRUCTIONS WITH N,Z,VBC BITS SET

";.t‘.....t'.'ﬁ.'ttt..t.t.tt.'.tt..'.tt'tt..t.t..t.t'.....tt.ttt.t.t..tt..t.t

000724 IBI1:

000724 021527 000004 e, o (RS) , &4

000730 001015 BNE cC4 ; IF IN WRONG SEQUENCE GO TO MLT AT THE END OF THE TEST
000732 005215 INC (RS)

000734 000270 SEN

000736 000262 SEv

000740 000261 SEC

000742 000264 SEZ ; ALL BITS SET, NZvC=1111

000744 001007 BNE CCs

000746 100006 8PL CC4

000750 102005 Bv{ CC4

000752 103004 BC( )

000754 002403 BLT “C&

000756 003007 86T Ccé

000760 101001 BH] CCh

000762 001404 BEQ YESCC

000764 [(%:

000764 012745 000005 [ 01 #5,-(RS}

000770 005245 INC -(RS)

000772 000000 HAL T o ONE OF THE ABOVE BRAN(CHES FAILED

;. OR WRONG SEQUENCE

SuALEEilREA2222 2022222002020 d222202082002 232203000000 22220 iRl l 2]

PeesT: S CHECK BRANCH INSRUCTIONS WiTH ALL THE CONDITION CODES SET

;.'.'.Q.Q.....t....'...".'.."....."'..'...'."'t'."."t.'tﬁ'..'l......'tt‘

000774 VESCC:
000774 021527 000COS (M (RS S

001000 001014 BNE cce s IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
001002 005215 ING (RS

001004 000277 S ;N2 C-1IM

00100¢ 100011 BPL (6

001010 001010 BME (6

001012 102007 B¢  Ch

001014 103006 BCC (5

001016 000240 NOP : CHECK NOP INSTRUCTION

007020 100004 BRL (4

001022 001003 BNME (6

001024 102002 BV CC6

001026 103001 BCC (6

001030 101404 eLos NCT(f

001032 (c6:

001032 012745  00000€ MOV #6,='RS)

001036 005245 ING =(RS)

00060 000000 HALY ; (. OR A BRAN(H FAL.ED, OR WRONG SEQUENCE
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:58 16 CLEAR THE CONDITION (ODES

¢ 2

SEQ 0015

(S 2222322222224 a2t X2 22 22

SRTEST: 6

CLEAR THE

CONDITION CODES

'-:ttt'tt'lttttt'tt.tttttttttttttttttttttttt't..tt...tttttttt.tttt.tttt'ttt'.‘

NOT{ :

8h]

MOV
INC
HALT
ENDC(S5: BPL

5.

(RS) 46
CC5
(R5)
ccs
€cs
ccs

~

ENDCCS

#7 ,-(R5)
-(R5>

BRAN(CH

; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; NZvCe-1111
: NZVC=1110

; NZVC=1100
;. NZv(C=1000
; NZv(C=0000

; ONE OF THE ABOVE CLEARS FAILED OR WRONG SFQUENCE

':t.tttl.t'ttt.tt...tt." 2 2 AR AR R R R R R s s I I I I

CHECK FORWARD AND BACKWARD BRANCHES.

SATEST: 7

BRAN(CH:
™MP
8EQ
MOV
INC
HALT
*$: INC
B8R
MOV
INC
HALT
’2%: B8R
MOV
INC
HALT
7% BR
MOV
INC
HALT
8R

MOV

INC

HALT
‘g: B8R

4%:

(RS) 47
1%

10, ~(R5)
=-(R5)

(R5)
48
#11,-(R5}
-(RS)

38
£12,-(R5)
-(R5)

5%
#13,-(RS)
- (k&)

é 3
#14 =(R5)
-(RE)

=R

"'..tttttt..tt.‘tt.Q".ﬁtt.ttttttﬁﬁttﬁt"ttﬁ.tﬁQﬁt'tt.t.ﬁttﬁttlt.ttt.tt‘tt'1‘

'

'
: IF IN WRONG SEQUENCE GO TO HLT !
; CHECK BRANCH FORWARD AND BACKWARD
; FORWARD BRANCH FAILED
: FORWARD BRANCH FAILED
; FORWARD BRANCH FAILED

. BAZKWARD BRAN(CH FAJLED
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103404
012745

000110

012745
005245
000000

021527
001073

00001C

001232

0Coe1S

000016

001232
000017

001306

000026

000011

001336

000021

09=-0(7-78 08:59 PAGE 17
1 CHECK JMP INSTRUCTIONS FOR MODE 1 SEQ 0016

ro

D ¢

B2 2232232222222 202220 0222222233323 222322323223R 2232222238222 82322822223R280222}2222}]

SRTEST: 10

NPT
CMP
BNE

1%: INC
MOV
SCC
JMP
MOV
INC

HALT

2%:

3%:

6%: (MP

5¢: MOV
ENDJUPI :

HALT

CHECK JMP INSTRUCTIONS FOR MODE 1

-"...tt't'ttt'tttttttt"'Qtttttttttt'tttttQt'tt'ttttttttt"ttttt.‘tttt't"t't

(R5) ,410
ENDJP1 ; IF IN WRONG SEQUENCE GO TO HALT AT THE END OF THE TEST

#2%.R0 ; TEST JUMP INSTRUCTION MODE 1
(RQ)
#15,-(R5)

-(R§)
: JUMP INSTRUCTION FAILED

#16,~(R5)
-(rRS)

RO, #2%
5

$
#17 ,-(RS)
-(RS

f%gﬁZ,RO ; TEST JUMP INSTRUCTION MODE 1

#20,- (RS}
-(rR§)

: WRONG CC
; CONTINUE If RO IS OK

; JUMP INSTRUCTION FAILED OR WRONG SEQUENCE

A 2382222220202 2222200 RRR A0 ddR R0t Rttt dltittRiilittit il

SRTEST: M

THECK JMP INSTRUCTIONS FOR MODES 2 AND 3

""Qt.t(t't-tt'.tt".."t"'tﬁ't"tt"tttt"t'(ttt't"t‘! 2200022222222 dR2 R

IMP2:
CMP
BNE
INC
MoV
<CC
JmP
MOV
INC

HALT

3%:
BPL
BNE
8vl
B(S
u$:

(RS) 41
E§%§P3 ; IF IN WRONG SEQUENCE CG TO HALT AT THE END OF TEST
#3% RO s TEST JUMP INSTRUrTION MODE 2

(RO) +
827 =(RS)
-(RS)
; JUMP INSTRUCTION FAILED
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C(3-0C7-78 08:5?1 PAGE

09-0(C1~78 08:58

012745
005245
000000
020027
001404
012745
005265
000000
012700
000120
012745
005245
000000

012767
012767

012790
000130

012745
005245
0006000

000C22

001340
000023

001472
000024

001446
007466
000136

000025

000000
0000c6

001512
000134

000027

000612

176442

T

5%:

6%:

JMP3:

3%:

4%:

ENDJP3:

18

E 2

CHECK JMP INSTRUCTIONS FOR MODES 2 AND 3

MOV
INC
HALT
mp
BEQ
MOV
INC
HALT
MOV

822 ,-(R5S)
-(RS)

RO, 43842
$

6
#23,-(R5S)
-(R%)

#3%,TEMP
#4S,TEMP+2
#TEMP,RO

A(RO) +
#25,-(RS)
-(R5)

a(R0) 4%
4%

#26,-(RS)
-(R5)

#IMP4 , TEMP
#TEMP RO
d(RO) +

#27 ,~(RS}
-(R%)

; WRONG CC
; 1S THERE AULTO INC.?

; MODE 2 FAILED FOR JMP INSTRUCTION
; TEST JUMP INSTRUCTION MODE 2

; JUMP INSTRUCTION FAILED
; TEST JUMP INSTRUCTION MODE 3

; JUMP INSTRUCTION FAILED
; IS THERE AUTO INC.?

; JMP INSTRUCTION FAILED IN MODE 2
: TEST JUMP INSTRUCTION MODE 3

; JUMP ERROR OR WRONG SEQUENCE
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MACY'1 30A(1052)
09-0(1~78 08:58

021527

000404

012745
005245

000000
022700
001404

000000

012767
012700
012767
000150
012745
005245
000000

012745
005245
000000
022700
001404
012745
005245

000000
012767
072700
012767
000750

012745
005245
000000

000012

001544

0d0030

000031

001542
000032

0016°2
000033

001642
0001490
007652

000034

000035

000136
000036

001642
000140
001722

000037

09-0(7-78 08:5 5

F 2
19
TEST .UMP INSTRUCTION FOR MODE 4, 5

S A 2222222222222 222222 Rttt iRl R R XRRRRRDR ]

SETEST: 12 TEST JUMP INSTRUCTION FOR MODE &4, S

::.tt'"""Qt""'ﬁ'.iitt‘tttt‘tt'ﬁt't‘ttttttlt-tt*tttt.ttt.t'tttt.lt.t't...

(MP (R5) ,#12

%E E:lg.)JPS o IF IN WRONG SEQUENCE GO TO HLT AT THE END Of THE TEFST

ggy #3%,R0 : TEST JUMP INSTRUCTION MODE &
(W

P -(RO)

MOV #30,-(RS)

INC -(R5)

HALT : JUMP INSTRUCTION FAILED

BR X * JUMP SHOULD LAND HERE

MOV #31,-(R5)

NC -(R5)

HALT ; NO AUTO DECREMENT FROM JMP4
CMP #3$-2.R0O ¢ CHECK RO

BEQ 5§

MOV #32,-(RS)

INC -(R5)

HALT

MOV #IMPS+2 RO : TEST JUMP INSTRUCTION MODE &
_MP -(R0)

MOV #33_-(RS)

INC -(R5)

HALT : JUMP INSTRUCTION CAILED

MOV #38, TEMP1 ; TEST JUMP INSTRUCTION MOD. 5

MOV #TEMP1 RO

MOV #6S TEMP1=2 ;
JMP a=(RO)

MOV #36 ,-(RS"

INC -(R6)

HAL T : JUMP INSTRUCTION FAILED

MoV #35,-(RS)

INC -(R%)

HALT ; ERROR, NO AUTO DECREMENT

(MP #TEMP1=2 RO * CHECK RO

BEQ 5¢

MOV #36,-(RS)

INC -(rS)

HAL T : JUMP ONSTRUCTION FAILED IN MODE 5
MOV 38, TEMP1 - TEST JUMP INSTRUCTION MODE S

MoV #TEMP1 RO
MOV #JIP6, TEMPI =2
JMP a=(RO)

MCV #37 - (RS)
INC -(r6)
HAL 7 : JJMP ERROR OR WRONG SEQUENCE

':'QQQQQQQQDQQQQDQQQQQ'.tt.'t'..tr.t."...Q"."l"."'...t'"Q.".."'.t"'l




MACY1
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002022
002024

304(1052)

09-0c1-78 08:58

000000

012703
012713
000173
012745
005245
000000
012713
012700
000170
012745
005245
000000
012767
012700
000170

012745
005245
000000

000013

001760
1772772
300040

001760
0000461

000010
000042

002024
000090
000043

000136

000044

002074
000132
00000«
000045

002122
000136
000000

000046

176C34

09-0C7-78 08:5? PAGE

113
;=TEST:

JMP6 :

1%:

2%:

3%:

IMP7 :

7%

END JP?:

20

TEST JMP INSTRUCTION FOR MODE 6 AND 7

13

6 2

SEQ 0019

TEST JMP INSTRUCTION FOR MODE 6 AND 7

:"Q.'t"'Q'Q'QQ'QQQ"QQ"QQQQQ"'..t.""'t"'..'..'t"'....'."'.'.Q.Q.'QQ'.
v

(R5) ,413

R3,#18+6

2%
#41,-(R5)
-(R5)

38-.-~4(PC)
#42,-(RS)
-(RS)

#JMP7 ,R3
0(R3)
#63,-(RS)
-(R5)

#TEMP_R3
#18, (R3)
a(R3)
#44,~(RS)
-(rS)

#3%,(R3)
#TEMP-4 RO
a4 (RO)
#45,~(RS)
-(R§)

#JSRTST, TEMP
#TEMP RO
a0 (RO)

846 ,~(RS)
-(RE

; JUMP
. JuMP

; JuMWP

; Juwp
T

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; JUMP INSTRUCTION FAILED
; CHECK R3

; WRONG VALUE IN REGISTER AFTER JUMP MODE 6
; OR JUMP INSTRUCTION FAILED IN MODE 6
; TEST JUMP INSTRUCTION MODE 6

INSTRUCTION FAJLED
SHOULD LAND HERE

INSTRUCTION FAILED

INSTRUCTION FAILED

EST JUMP INSTRUCTION MODE 7

; JUMP INSTRUCTION FAILED
. CONTINUE

; JUMP ERROR OR SEQUENCE ERROR




JXAA(

MACY11 30A(105¢2)
09-0C1=7

r /KAAC P11

002230
002234
002236
002242
002244

012745
005245
000000
022706
001441
012745
005245
000000

00003
001002
102001
103404

012745
005245
000000
022706
001404
012745
005245
000000
022716
001404
012745
005245
000000

012716

012745
005245
000000

09-0(T1~78 08:59
08:58 T

000014

00045C
000026
0C00¢?

000450
000050

000051

000446
000052

002144
000052

002154
200054

175642
175636
175646
000130

000055

14

PAGE 21

H 2
(HECK JSR AND MARK [NSTRUCTIONS

X 2222222222322 2223232222223 23 2222222222202 RS RARRRRRRRRRRRRdddd

(HECK JSR AND MARK INSTRUCTIONS

:.'Q"Ql’t.l"'..'.""'""Q"""".".ttttt'.‘t.ttt.l.llll..tl..t.tlttt..t...

SeTEST:

14

JSRIST:
WP

's:

2%:

3%:

4%

5%:

6%

7%:

JSRM:

BA\E
INC
MUV
SCC
JSR

MOV
INC
HALT
(™
8EQ
MO
INC
HALT

BPL
BNE
Bv(
BCS

MoV
INC
HALT
MpP
BEQ
MOV
INC
HALT
MP
BEQ
MOV
INC
HAL T

MOV
RTS

(R5) 414

#START ,SP
PC.3$

#47,=(RS)
-(R5)

#START ,SP
RM

1S
#50,~(R5)
-(e§)

#51,-(R5)
-(RS)

#START-2,SP

5%
#52,-(R5]
-(RS)

#%,(SP)
7$

#53,-(RS)
=(R5)

#2%, (SP)
PC

#54 ,-(RS)
-(RS)

RS,=(SP)
DUMMY - (SP)
DUMMY ,~(SP)
MARKZ, = (SP)
R5.R3
R4,10%

#55 ~(R5}
=(R%)

IF IN WRONG SEQUENCE GO TO HALT AT THE END OF THE TEST

; SET UP STA(CK POINTER.

JSR INSTRUCTION FAILED
HAS SP BEEN RESTORED?

ST WAS NOT RESTORED BY RTS INSTRUCTION

; WRONG ((
; WAS THE SP EFFECTED?

WRONG SP AFTER EXECUTION OF JSR INSTRUCTION
IS THE RETURN ADDRESS =1%

SP DID NOT HAVE CORRECT RETURN ADDRESS
AFTER EXECUTION OF JSR INSTRUCTION
SET 2% AS THE RETURN ADDRESS

; RTS INSTRUCTION FAJLED

MOV RS TO STACK

; STORE MARK 2 ON THE STA(K,

SAVE K5 IN R3

.SR INSTRUCTION FAILED

SEQ 0020




MACY1T 30A4(1052)

PN 09-0C7-78 08:58

002420

002422
002426
002430
0024 54
002436

002440

X02526

100003

012763
005243

000000
022705
001404
012743
005243
000¢ ™0
022/ 6
001404
012745
005245
000000
012701
004011

012745

000000

022706
001443
012745
C05245
000000

020427
001404
012745
005245
000000

02002°

001404
012745
005245
000000

012700
00020C

000056

000102
0C00S7

000459
000060

002502

000061

000062

000450
000063

002310
000064

00232¢C

000065

002402

00006¢€

002422

09-0(71-78 08:5?4 PAGE

T

7%

43:

5%:

6$:
7%:

8¢:

10%:

1 ¢:

12%:

s ¥

22

(HECK JSR AND MARK INSTRUCTIONS

B8PL
BNE
8v(
BCS

HALT

I

#56,~(R3)
-(R%)

#STESTN,RS
5%

#57 -(R3)
-(R®)

#START,SP
$

6
#60,-(RS)
-(RS)

#1°% R}
RO, (R1)

#61,-(RS5)
-(rRS)

#62,~(RS)
-(rR§)
#START,SP
REGS

#63 - (RS)
-(RS)

R4 .48
1%

#66 ,=(RS)
-(R%)

SP,RS
(R6)+
#2%,(SP)

RS
#65,~(RS)
- (RS>
RO,47%
13¢
#66,-(RS)
-(rR%)

#c¢ RO
~C

; WRONG (C

; MARK INSRUCTION FAILED

; MARK INSTRUCTION FAILED
; PLACE THE ADDRES3 OF 12% IN Rl
: GO TO TAG 12%

; JSR INSTRUCTION FAILED

; RTS BROUGHT THE PROGRAM BACK [N WRONG
. PLACE

; STACK POINTER WAS NOT RESFT
; 1S THE RETURN ADDRESS -1% ?

; WRONG RETURN ADDRESS IN UNKAGE REGISTER R4

; SET UP ADDRESS IN RS AT MARK 2 INSTRUCTION
; SET RETURN ADDRESS =2%

; RETURN USING RS AND IN-TURN USING MARK INSTRUCTION

; RTS INSTRUCTION FAILED
; DOES RO (ONTAIN THE RETURN ADDRESS?

; 4RONG RETURN ADDRESS IN L INKAGE REGISTEW RO
; SET RETURN ADDRESS AT 8%

SEQ 0021




MACYY1 30A(1052)

PN

002526
002526

09-0.1-78 08:58

012745
005245
00000C

016706
000406
016706

012745
005245
000000

000067

000627
175310
175302
000670

09-0(T1-78 08:5? PAGE

114
ENDJSR:

J 2

23
CHECK JSR AND MARK INSTRUCTIONS SEQ 0022
MOV #67 ,-(RS)
INC -(R5)
HAL T ; RTS INSTRUCTION FAILED OR SEQUENCE ERROR

IS4 2222 2222222022220 R22R2RRR AR RRR R RRRRRRRRRRRARRRRRRZRARRRRRDR 222}

CHECK REGISTER SELECTION

LSTEST:

REGS:

EREGQ:

15

<
BNE
INC

MOV
MOv

(RS) 215
EREGS
(R5)
R6,TEMP
#1,R0

R5,R6
1STESTN0q25,R6

3
TEMP R6
TSTRO
TEMP_,R6

#70 ,-(RS)
~(RE)

Sevcu, 8000, 0

AR PR R TR I RN R N N Y

‘"'l..t.tt'"tt.'t..'Q'...'.Q'.'...Qtt...tt..'.....'Q..Qttt......Q.Q.Q..'tttt

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

SAVE THE STACK PQINTER
LOAD THE REGISTERS

ADD UP THE REGISTERS

CHECK IT

FAILED

RESTORE STACK POINTER
CONT INUE

RFSIORE STA(K POINTER

REGISTER SELECTION FAJLURE OR SEQUENCE ERROR




( vXAAC
CYKAAC

1009

(eldlelolelololelelelels)
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el o]o JNTe SV ARV \NE teo)

MACYY
PN

002720
002720
002724

UC3020

30A(10

b
00-0(T1=7

021527
001404
012745
005245
00

004737

021527
00105
005215
000277
152702
004737
122702

2)

09-0CT-78 08:

8 08:58

200016
0C0C71

017156
017150
000377
01723,

017236

000017

000377
017256
000377
000072
000077

000073

000074«

200377
000377

K 2
59 PAGE 24
(HECK BYTE INSTRUCTIONS, DESTINATION MODE O ONLY

CHECK BYTE INSTRUCTIONS, DESTINATION MODE O ONLY

B 2322222222222 2222202222220 RRRRRERRRRRRERR R RRRRRRRARRRRRRERRRRRRRRRR RN

SSTEST: 16 NEW INSTRUCTIONS USED IN THIS SECTION ARE TSTB, (LRB, MUVB

:;"""ﬁ't"ﬁ'tﬁt'"""tﬁ"""".Q't"tt't"tt'."t"t"'t'.'.t.'."t"."

TSTRO:

cMP (R5),#16

BEQ 2$ : 1F IN WRONG SEQUENCE GO TO HLT BELOW

MOV #71,-(RS)

INC -(RS)

HAL T : PROGRAM IS IN WRONG SEQUENCE
2%: INC (RS)

SCC

C(LRB RO : CLEAR THE REGISTER

JSR PC.a#$CC4 * CHECK FOR CC = &

1S18 RC * CHECK IT

JSR PC,a¥8(C4 " CHECK FOR CC = 4

MOVB  #377,R1 * LOAD THE REGISTER

JSR PC.,a#$CC10 * CHECK FOR CC = 10

7STB R ¢ CHECK IT

JSR PC.,a#$CC10 > CHECK FOR (L = 10
:;t"tt'tt'"ttitttﬁtttti't"t"tt"tt'ttt‘"tttttitt't'ii'ttttttttt.tttt.tt.
LeTEST: 17 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPS, BIS8
;:'ttttt'ttt'"Qtﬁ"ttttttit"'tttt't't".t'ttt"'tt't'tttt"ﬁt"t't'ittt't..
(MPB]:

™MP (RS) 417

BNE ECMPR0 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1$: é?g (R5)

BISB  #377.R2 : LOAD REGISTER

JSR PC,a#$CCT1 % CHECK FOR CC = 17

(M8 #377.R2 : CHECK COMPARE

BEO s : CONTINUE IF OK

MOV #72,~(RS)

INC -(RS)

HALT ; BISB OR CMPB INSTRUCTION FAILED
2%: MOVB #77 RO

(MPB  RO,R2 : CHECK IT AGAIN

ePL $ : CONTINUE IF Ok

MOV #73,~(RS)

INC -(RS)

HALT : (MPB INSTRUCTION FAILED [WRONG (C1
3% (MPB  R2.RO * ONCE MORE

8M] $ * CONTINUE IF OK

MOy 874 ~(AF)

INC -(R5) i

HALT ) : (MPB INSTRUCTION FAILED [WRONG (1
L1: MOVR  #277.RZ * LOAD REGISTER, SIGN EXTEND

"MPR  #377.R2 * CHECK IF BYTE INSTRU(TION




L 2
MACY'1 30A(1052) 09-0(T-78 08:?.97 PAGE 25
i

P11 09-0CT-78 08:58 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB. BISB SEG U2
003026 001404 BEQ S$ ; CONTINUE IF OK
ooxoge 012745 000075 MOV #75,-(RS)
003032 005245 INC -(R5)
00303¢ 000000 HAL 7 ; CMPB BECAME (MP INSTRUCTION
003036 112702 000377 )b MOVB #377 .R2 ; LOAD REGISTER, SIGN EXTEND
003042 120227 000377 (MPB  R2.4%77 * CHECK [F BYTE INSTRUCTION
003046 001404 BEG BI(R0 : CONTINUE IF Ok
003050 ECMPRO:
00205C 012745 000076 MOV #76,~(R5)
003054 005245 INC -(R5)
003056 (OCCOC HAL T ; WRONG CC OR WRONG SEQUENCE




1 10(,

107

MACYTT 304.105¢)
P11

82222
RIS

< ~NVO

2833333323

Q
o
w
N
"~

003174

Q03209
003200
003204
003206

OCS’RL

09~0"'~78

132703
004737

021527
001604
012745
005245
000000
005215
112704
000261
105204
004727
112704
10504
0047327
105204
006737
05,04

09-0CT-’8 08:59 PAGE 26
08:58 120

000020

000077

000377
000252

01706¢

000100

000125
N17066

000101

000177
017256
000377
017256

000021
000102

000177
017320
000376
017256
17172

M2

NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, BITB

SE 2222223282200 2 00220222002 2222002208002 R ddR R Rt iRidttdtatili sl )

NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, BITB

: (2222222222222 2322223222022222082 0223202 22022 2 2200200000200t 2dRRRRRRRR!

;*TEST: 20

BIC(KO:
BEQ
MOV
INC

2%: INC

6% BITR

6%: BICR

(R5) ,#20
$

2
477 ,-(RS)
-(RS)

(RS)
#377 ,R3
#252 ,R0

RO,R3
PC,a48CC1
R0,R3

48
#100,-(R5)
-(R5)

#125,R3
PC,a#8((?
RO.R3

6%
#101,-(R5)
=(RS)

#177 ,R3
PC,a#8CCT1
#377,R3
PC,a#8CC""’

; IF IN WRONG SEQUENCE GO TO HLT BELOW

; PROGRAM IS IN WRONG SEQUENCE

. LOAD REGISTER
; PLACE #4252 IN RO

; CLEAR EVERY OTHER BIT
; CHECK FOR CC =1

; CHECK [T

; CONTINUE IF OK

; BICB OR BITB INSTRUCTION FAILED
; CHECK IT

; CHECK FOR (C =1

; SET ThE BITS THAT WERE CLEARED

; BISB INSTRUCTION FAILED

; CLEAR ALL THE BITS EXCEPT FOR SIGN
; CHECK FOR CC = N

; CHE(K IT

; CHECK FOR CC - M

A A ARLERRA SRR ARttt AR RRRRRD 22

NEW INSTRUCTIONS USED IN THIS SECTION ARE IN(B, DECB

:;"tt"tt'tt"i"""ttt""ti""it"t.""tt'tﬁ'ttitttt'ttttttt'tttt'ﬁtttt

LRTEST: 21

INCBO:

(MP
BEQ
MOV
INC

(R5) 421
1%

#102,-(RS)
-(RS)

(RS)
#77,Ré6

R4
PC,aNsC(13
0376 R
pc anscc

P LONSC5
R

; (HECK FOR (C
; (HECK FOR CC

; IF IN WRONG SEQUENCE GO TO HLi

; PROGRAM IS IN WRONG SEQUENCE
; R4 - 177

; ADD ONES INTO REG. &
; CHEC% FOR CC = 13

17
5

SEQ 0025




N 2

C,XAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 27
r/KAAC.PIT  09-0CT~78 08:58 121 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB SEQ 0026

1109 003256 004737 017066 JSR PC,a#8CC) : CHECK FOR CC = 1

1117 003262 122704 0000017 (MPR #1,R4 ; CHECK 17

1111 003266 001404 BEQ 2% * CONTINUE IF OK

1112 003270 012745 000103 MOV #103,-(RS)

1113 003276 005245 INC -(R5)

11146 003276 000000 HALT : INCB INSTRUCTION FAILED

1115 003300 000261 2%: SEC

1116 003302 1053064 DECB R4 ; SUBTRACT ONES FROM REG. &

1117 003304 004737 017172 JSR PC,a#$(CS * CHECK FOR CC = 5

1118 003310 105304 DECR  R&4

1119 003312 004737 17256 JSR PC,a#8CC11 ; CHECK FOR CC = 11

1120 003316 012706 000200 MOV #200.R4

1121 003322 105304 ) DECB R4

1122 003306 004737 017124 JSR PC.aA8C(3 : CHECK FOR CC = 3

123 003330 105304 DECB R4

1124 003732 004777 (17066 \SR PC,ansCC1 : CHECK FOR CC = 1
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09-0(1~78 08:58

004737

021527
001025
005215
112700
105400
004737
122700

001404

000022
000104

000252
017066
000725
000105

017256
000252

000106

000377

01717¢

000023

000001

017256
000377

000107

000200

017320
000200

8 3
122 NEW INSTRUCTION IN THIS SECTION IS (OMB

SEQ 0027

B 2222322233232 2233332332323233232333 0323222220222 R 228802 Rttt llal il

NEW INSTRUCTION IN THIS SECTION IS (OMB

".""Q‘Q"QQ‘Q‘.Qﬁ““"Q‘Q"Q‘Q“““Q“.‘.“tt“‘tt'tttt'IQtttt'ttttttttttt

TRTEST: 22

comMs0:

1%: INC

2%: SCC

HALT
3%: MOV
SCC
coM8
JSR

(RS) 422
$

1
#104,-(R5)
-(R5)

(RS)

#8252 ,R3
R3
PC,arsCC1
#125,R3
’$
#105,-(RS,
~(D5)

R3
PC,a#$CC11
xiﬁz,ns

3
#106,-(RS)
=(RS)

4377 ,R3

R3
PC,a¥8((5

; IF IN WRONG SEQUENCE GO TO HLT

; PROGRAM IS IN WRONG SEQUENCE
; LOAD EVERY OTHER BIT

1'S COMPLEMENT
(HECK FOR (CC - 1
CHECK IT
CONTINUE IF OK

; COMB INSTRUCTION FAILED

COMPLEMENT BA(CK
CHECK FOR CC = M
CHECK IT

CONTINUE [F OK

COMB INSTRUCTION FAILED

; CHECK FOR CC = 5

BX 2222222822232 2222232 0222222022220l i Rt iRttt lfldd

NEW INSTRUCTION IN THIS SECTION IS NEGB

‘-.'QQ'Q‘t"!tt"t.“"‘""ttt'tt"t""“‘ﬁ"‘lﬁtt"‘t“"'t“"'.'tt“"“"

LRTEST: 23

NEGRO:
(™MP
BNE
1¢: INC
MOVR
NEGB
JSR
{
BEQ
MOV
INC
i HAL T
’%: MCvy
NEGR
;SR
CMPR
BEG

(RS) ,#23
ENEGRC
(RS)
#1,R0

RO
PC,a#$CC1?
2#377.R0

2%
#157,-'RS"
=(R5)

#200,R(C
RO
PC,a#8C(13

#>A0 ,RC
ot BE

; IF IN WRONG SEQUENCE GO TO HLT AT THF END OF THE TEST

LI PR TR N

LOAD THE REGISTER
2'S COMPLEMENT
CHECK FOR CC = 11
(HECK 17

(ONTINUE IF OK

NEGB INSTRUCTION FAILED

2'S COMPLEMENT
CHE(K FOR (C 13
(HECK IT

CONTINUE IF CK




c 3
MACY'1 30A(°052) J2-0CT-78 08:59_ PAGE 29

P11 09-0(1-78 08:58 123 NEW INSTRUCTION IN THIS SECTION IS NEGB SEQ 0028
003532 ENEGBO :
003532 012745 (00119 MOV #110,-(RS)
00353¢ 05245 INC ~(R5)
00541 FLu00C HALT ; WRONG RESULT IN RO OR WRONG SEQUENCE




0D 3
(VKAAC MACY11 30A(1052) 09-0(T-78 08:59 PAGE 30
CVKAAC P11 09-0(1~78 08:58 T24 NEW INSTRUCTION IN THIS SECTION IS ROLB SeQ 0029

-:Q..ttttttnn.ttttttttttttttttttt'tttn.nntQnttttttttttt-ttttttttttttttttttttt

—
a0
V]

) .

1184 S*TEST: 24 NEW INSTRUCTION IN THIS SECTION IS RULB

1187 N AR RN A A AN RN R RN ANE R R AAN AR R R AN R AR R AN AN AR R CC AR I TR R A RR R RGO A T OO NS
1188

1189 003%42 ROLBO:

1190 003% 2 021527 000024 (MP (RS) ,&24

1191 003546 001026 BNE EROLBO ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1192 003550 005215 INC (R5)

1193 003552 112701 000040 Movs #40,R1 ; LOAD REGISTER

1194 003556 000257 ccc ; CLEAR FLAGS

1195 003560 106101 ROLB R1 ; SHIFT

1166 063562 106101 ROLB R1 :

1797 003564 004737 917300 JSR PC,a#8CC12 ; CHECK FOR CC = 12

1198 003570 122701 000200 (s #200,R1 P OCHECK IT

1199 003574 001404 BEO 1% ; CONTINUE IF OK

1200 003576 012745 000711 MOV #111,-(RS)

1201 0036072 005245 INC -(RS)

1202 003604 000000 HALT ; ROLB INSTRUCTION FAILED

1203 003606 106101 1%: RGLB R1 s SHIFT

1206 003610 004737 017214 JSR PC,a#8CC7 ; CHECK FOR (CC = 7

1205 003614 106101 ROLB R1 ; SHIFT

1206 003616 122701 000001 (MPB #1,R1 ; CHECK IT

1207 003622 001404 BECQ RORRO . CONTINUE IF OK

1258 003624 ERULBO:

1209 003624 012745 000172 MOV #112,-(RS)

1210 003630 005245 INC -(RS)

15%; 003632 000000 HAL1 ; WRONG RESULT IN R OR WRONG SEQUENCE
1213

1214 S R A A AR AR AN R AN AR AN RN AR AN RN RN A R AR RN RN R AR PN R AN R AR RN R AP AR RN R
1215 ;*TEST: 25 NEW INSTRUCTION IN THIS SECTION IS RORB

1216 DR AR AR A AR R AR A AR R AR A AN R AR AN R AR AR NN AN AR AN AR T IR NG RN N E AN RN RO AN O NS
1217

1218 003634 RORB(

1219 003634 021527 000025 CMP (RS) 425

1220 003640 001026 BNE ERORBRC ; IF IN WRONG SEQUENCE GO TO WLT AT THE END OF THE TEST
1221 003642 005215 INC (R5)

1222 003644 112702 000004 MovR #4 ,R2 ; LCAD REGISTER

1223 003650 000257 qqe ; CLEAR FLAGS

12246 003652 106002 RORB R2 ; SHIFT

1225 003654 106002 RORB R2 :

1226 003656 122702 000001 (MP8 #1,R2 ; CHECK IT

1227 003662 001404 BEQ 1% ; CONTINUE IF Ok

1228 003664 012745 0007173 MOV #113,-(RS)

1229 003670 005245 INC -(RS:

1230 003672 000000 RALT ; RORB INSTRUCTION FAILED

1231 003674 106002 1%: RORR RZ ; SHIFT

1232 003676 004737 01724 JSR PC,aN$((7 s CHECK FOR (C = 7

1233 003702 106002 RORB R2 s SHIFT

1234 003704 004737 017200 JSR PC a#8C("2 s CHECY FOR (C = '2

1235 003710 122702 000200 (MPB #200,R2 s CHECK IT

1236 003714 001404 BEQ AsLB) : CONTINUE If Ok

'237 003716 ERORRO :

‘238 003716 Q12745 000174 MOY #1146 ,=(RS,

1239 003722 005245 INC -.P5)

26l 003724 00000C ~a| 7




C v AA(
(yKAAC

1261
1242
1243

— d e d —d d emd D D D
ASTASTASTAST, ST, 81,0 1 N T, ¥
AWAVWAAVWWAN
D00 NN L) —

—
N
EAS

1262

MACY11 30A(°0%52)
8 08:58

P

004100

B d —d ek b b

\pq-a—1;()
OO

ERReee

09-0(1-7

012745
005245

000026
000115

00004C

017300
000200

000116

017214
017i5C

000027
000004

000001
000117

017274

017150
000202

0172%¢
000340

000120

09-0(T1-78 08:59 PAGE 31
: 126

E 3
NEW INSTRUCTION IN THIS SECTION IS ASLB

SEQ 0030

SR 2222222222222 220N 2222322222222 2222 322 R R iR SRR ZRRRRRZRRRRRR2 222

NEW INSTRUCTION IN THIS SECTION IS ASLB

;:tttt"'tﬁ""ttﬁtttﬁ""ﬁﬁ".Q'."t.t.'t.t.'..t.."'ttt.'tt"t"'tt..'.""

SSTEST: 26

ASLRBO:

BEQ
MOV
INC
HALT
2%: INC
MOVR
ccC
ASLB
ASLB
SR
CMPR
B8EQ
MOV
INC
HALT
0% ASLB
JSR
ASLB
JSR

(RS).‘26
$

#115,-(RS)
-(RS)

(RS)
,40.R3

R3

R3
PC,I¥8CC12
3500.R3

4
#1.6,-(R5)
-(RS)

R3
PC.a#8$CC7
R3
PC,a#8(C4

; IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM IS IN WRONG SEQUENCE

LOAD REGISTER
CLEAR FLAGS
SHIFT

* CHECK FOR CC - 12
; C(HECK 7
* CONTINUE IF OK

ASLB INSTRUCTION FAILED
SHIFT

. CHECK FOR (C = 7
; SHIFT

* CHECK FOR CC = 4

M A AR AR AR RRRRRR 2Rt dddR R iR 22220002200t RR )

NEW INSTRUCTION IN THIS SECTION IS ASRB

:;..tt..tt.t"t..tt'.ttt.tt"t..'.'Q.tt'ﬁ""ﬁt'.tﬁtt"tt't'.tt""t't.'t't.'

LATEST: 27
ASRBO:

1% INC

’%: ASRB

EASRA(

(RS) 427
EASRRBO
(RS®

#4 R4

R4
R4
#1,R4

2%
#117,-(RS)
-(RS)

R4
PC,a487C7
R&

PC,aNsCC4
#202.R3
R3

R3
PC,aasC("
#340,R3
ADCB0

820,=-(R5)
-(R5)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE IF OK

ASRB INSTRUCTION FAILED
SHIFT

CHECK FOR (C = 7

SHIFT

(HECK FOR (C - 4

LOAD REGISTER

SHIFT

CHECK FOR (C - "1
(HECK T
CONTINUE IF Ok




CVRAAC MACYY11 304(1052)

09-0C7~78 08:59_ PAGE
: 127

CVKAAC.PT 09-0C7-78 08:58

1297 004122 . AC00

32

NEW INSTRUCTION IN THIS ST TION IS ASRB

HALT

F

3

SEQ 003"
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CWKAAC MACYY1 30A(1052) 09=0(T-78 08:59 PAGE 33
CVRAAC.P11 09-0(T-78 08:58 T30 NEW INSTRUCTION iN THIS SECTION IS ADCR SEQ 0032
'298 ;.-ttttttttttttttttttttttttttttntntttttt'tnnnnQtttnt-tttttttttttttttttn'ttttt'
1299 ;*TEST: 30 NEW INSTRUCTION IN THIS SECTION IS AD(B
1m0 :"tttttttttttttttttttttttttttt't'Qt"'tttttttﬁtt"t.Qntnn'n!ttttt'tttttttnntt
1301
1302 004124 ADCKO:
1303 004124 021527 000030 (MP (RS) 430
1304 004130 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
1305 004132 012745 000121 MOV #121,~(R5)
1306 004136 005245 INC ~(RS)
1307 004140 000000 HALT : PROGRA™ IS [N WRONG SEQUENCE
1308 004142 005215 2%: INC (RS)
1309 004144 105000 CLRRB RO : CLEAR THE REGISTER
1310 004146 000257 ccC ; CLEAR FLAGS
1311 004150 105500 AD(B RO :ADD CBIT O
'312 004152 004737 017150 JSR PC,a#$CC4 : CHECK FOR CC = 4
1313 004156 000261 SEC . =
1314 004160 105560 ADCB R0 ; ADD C BIT-1
1315 004162 000261 SEC ; =1
1316 004166 105500 AD(CB RC ; AGAIN
1317 004166 004737 017046 JSR PC.,a#$CC0O ; CHECK FOR CC - O
1318 004172 122700 000002 CMPR #2,R0 ; CHECK IT
1319 004176 001404 i BEQ Ly ; CONTINUE !F OK
1320 004200 012745 000122 MOV # °,=(R5)
1321 004204 005245 INC =(KS)
1322 004206 000000 HALT : ADCB INSTRUCTION FAJLED
1323 004210 112700 000177 4% MOVR #4177 RO : LOAD LARGEST POSITVE NUMBER
1324 004214 000261 SEC ; =1
1325 004216 105500 AD(B RO : ADD C BIT=1
1326 004220 004737 017300 JSR PC.a#$CC12 ; CHECK FOR CC = 12
1327 004226 122700 000200 CMPR #200,R0 ; CHECK IT
1328 004230 0014064 BEQ 6% ; CONTINUE [IF OK
1329 004232 012745 000123 MOV #123.-(RS)
1330 004236 005245 INC -(RS)
1331 004240 000000 HALT : ADCB INSTRUCTION FAILED
1332 004242 112700 000377 6%: MOVAR #377.R0 : LOAD =i
1333 004246 000261 SEC ; C=1
1334 004250 105500 AD(CR RO ; ADD C BIT=1
}%%2 004252 004737 017172 JSR PC,an$CCS : CHECK FOR CC - 5§
1337
1338
1339 IR AR AR A AN AR AN AR A AN AN AN AN AN AR RN E AN RN AR AR RAR AR AN RO AR AR AR D
1340 JeTEST: ¥ NEW INSTRUCTION IN THIS SECTION IS SBCB
1341 "'-tnQtttttttttttttttttttttttttttttttttt!ttttttttttttttttttt'ntnttttttt'tt't-t
1342
1343 004256 SB(RO:
134 004256 021527 000031 { (RS) ,#31
1345 Q04262 001404 BEQ 1% ; IF IN WRONG SEQUENCF GO TO HLT BELOW
1346 264 012745 000124 MOV #124,-(R5®
137 0046270 005245 INC -(R5)
13%8 004272 000000 HALT ; PROGRAM IS IN WRONG SEQUENCE
1349 004274 005215 1% INC (RS) : TEST IS IN WRONG SEQUENCE
350 006276 112701 000003 MOVR #3,R1 : LOAD REGISTER
1351 004302 000257 ccc : CLEAR FLAGS
1352 004304 1056017 SBCR R” : SUBTRA(CT C BIT=0
1353 004306 004737 01704¢ ISR PC,a#$({( : (HECK FOR CC O
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09-0(r-78 08:58

127N

000003
700125

17046
0¢0001

000126

17150
017256
000377
000127
000200

C*”"0¢

13

2%:

3%:

4%:

34

H 3
NEW INSTRUCTION IN THIS

#3.RP1

g 3
#125,-(RS)
-(R5)

R1

R1
PC,a4$CCO
#1.R1

2s
#126,-(RS)
-(RS)

K3
PC.¥$CC4
R1
PC,a¥$cC1"
#3977 .R1

4%
#127,-(RS)
-(R5)

#200,R?

R1
P(,a#%(C2

SECTION IS SB(B

CHECK IT
CONTINUE IF Ok
SB(128 INSTRUCTION FAILED

C=
(S:L?TRACT ¢ 8IT=1

CHECK FOR CC = 0

; CHECK [T
; CONTINUE IF OK

SBCB INSTRUCTION FAILED
SUBTRACT C BIT=1

CHECK FOR CC = 4

SUBTRACT C BIT =

CHECK FOR CC = 11
CHECK IT

1

. CONTINUE IF OK

SRCEB INSTRUCTION FAILED
LOAD K1
SUBTRACT € BIT = 1

* THECK FOR (C = ¢

SEQ 0033




(veKAAC MACYIT 30AC1052)

CUKAAC P

EREFLE

P i SN
ANLAIN
008
n)—

—
NN
SRS

E AN
8RS

1401

—_—
~eg
RS

1405

1407
1408
1409
1410
141
1412
413
1414
1415
1416
14617
118
1419
1629
142°
142¢
1423
1424
142(
‘626
1427
1428
1429
1430
141
1432
1433

1435
1436
1437
1438
1439

&

004532

09-0(1~78

021527
001404
012745
005245
000000
005215
000277
005000
004737
005700
004737
012704
010401
004737
005701
004737
020401
001404
012745
005245
000000

004767

021527
001726
005¢15
012700

00G000

O9~OCV -78 08:59 PAGE 35
08:58 CHECK WORD INSTRUCTIONS, DESTINATION MODE O ONLY SEQ 003«

000032
000730

017150

017150
177777

017236
017236

000131

012434

000033

177777
017236

00013¢

I3

(HECK WORD INSTRUCTIONS, DESTINATION MODE O ONLY

a2 2222222222222 3R dRddR 2R R0 0RdRdRRddRiA Rt 2023003038228 X]

LRTEST:

32

NEW INSTRUCTIONS USED IN THIS SECTION ARE TST, CLR, MOV

::ti.i""titl'ii""'t"'.it..t'titti'ii'ii‘."'i"i.ii'i"'ii'.i."'t.tlt.t

TSTO:

“$:

2%:

CMP
8EQ
MOV
INC
HALT
INC
ScC
CLR
JSR
TST
JSR
MOV
MOV
JSR
ST
JSR
MP
BEQ
MOV
INC
HALT
SEV(
MOV
JSR

(R5) 432
1% ; IF IN WRONG SEQUENCE GO TO HLT
#130,-(RS)
-(RS)
; TEST IS IN WRONG SEQUENCE
(RS)

CLEAR THE REGISTER
CHECK FOR CC = 4

RO
PC,a#8C(4
RO CHECK IT

PC,a¥$CC4 CHECK FOR ({ = 4
3175;77 R4 LOAD THE REGISTER
pc 10 : CHECK FOR (C = 10
s CHECK IT
pc arscCc10 * CHECK FOR CC - 10
§§'R1 : CHECK R1 TO CONTAIN PROPER DATA
#131,-(RS)
-(RS)
; SET V& CBITS
RO,RO
PC.$CCS

a2l 2222323222 2202232322322 232223 2288 2]

LRTEST:

33

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

::"ttttt..'.'Q“'t't'..'.l"..i"""l.i.'.i'.it..i'..'it.'i't.'i"iiﬂt.t‘tt

{MPC:

1%:

CMP
BNE
INC
MoV
BIS
JSR
(MP
BEQ
Mov
INC
HAL T

(RS) ,#33
Eg??O ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
8177777 ,R0 . LOAD REGISTER
RO,R? s CHECY THE BIS INSTRUCTION
PC,a#8CC10 ; CHECK FOR (C 10
RO,R? ; CHECK COMPARE
$ ; CONTINUE IF Ok

2
#132,-(RS)
-(HS)

; BIS OR (MP INSTRUCTION FAILED




J 3
LAA  MACYY' 2CAC1052) 09-0(T-78 08:?23 PAGE 36

KAAC.PTT GO=O(T-78 08:58 NEW INSTRUCTIONS USED IN THIS SECTION ARE CMP. BIS SEQ 0035
660 Q06576 022702 000077 2%: (0, o #77 R2 . CHECK T AGAIN

1447 00460G 00004 8PL 3 P CONTINUE IF Ok

1462 004600 012745 100133 MOV  #133,-(RS)

663 00460¢ 005245 INC =(R5)

1446 004610 600000 HALT : CMP INSTRUCTION FAILED CWRONG CC3
1445 004612 020227 00LCO77 38 (M R2,477 : ONCE MORE

1446 006616 100404 BM] BIC0O  CONTINUE IF OK

667 004620 ECMPO:

448 004620 012745 006" 3 MOV #134,-(RS)

1669 006624 005245 INC -(RS)

16450 04k26  OCGOO0 HAL T : WRONG CC OR WRONG SEQUENCE




K 3
CVKAAC MACY1Y 30A(1052) 09-0(7-78 08:59 PAGE 37
08:58 T34 SEQ 0036

(VKAAC.P11 09-0( 178 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(, BIT

14691 X Y e A I I It I R R

1452 TATEST: 34 NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT
1453 R L L e e e T R SN T2 AT R N
1454

1455 004630 BICO:

1456 004630 021527 000C34 ¢ (RS) ,#34

1457 004634 001053 BNE es8icd ; IF IN WRONG SEQUENCE GO TO HLT ABOVE
1458 004636 005215 INC (RS)

1459 00u640 012703 177777 MOV #177777 .R3 : LOAD REGISTER

1460 006644 072700 200136 MOV #TEMP RO * PLACE THE ADDRESS OF LOCATION TEMP IN RO
1461 0064650 012710 125252 MOV #125252. (RO) * SET (RO)

1462 004654 000277 SCC )

1463 004656 061003 BIC (RO) ,R3 : CLEAR EVERY OTHER BIT

1464 004660 004737 017066 JSR PC.a#$CC1 % CHECK FOR CC = 1

1465 006664 031003 8IT (RO) .R3 * CHECK IT

1466 004666 001404 BEC 18 © CONTINUE IF OK

1467 006670 012745 000135 MOV #135,-(R5)

1468 0064674 005245 INC -(R5}

1463 004676 000000 HAL T ; BIC OR BIT INSTRUCTION FAILED

1470 004700 032703 052525 1¢: BIT #52525 ,R3 * CHECK IT

1471 0C4704 004737 017066 JSR PC,an8CC1 Y CHECK FOR CC = 1

1472 004710 052703 125252 BIS #1235250 .R3 ¢ SET THE BITS THAT WERE CLEARED
473 004714 100404 BMI 2s : CONTINUE IfF OK

1474 004716 012745 000136 MOV #136,~(R5)

1475 004722 005245 INC -(RS)

1476 004726 000000 HAL T : BIT OR B!S INSTRUCTION FAILED

1477 004726 042703 0777277 2%: 8IC #77/77,R3 * CLEAR ALL THE BITS EXCEPT FOR SIGN
1478 004732 004737 017256 JSR PC,a#8(C 71 > CHECK FOP CC = M

1479 004736 0127200 177777 MOV #17727277.RC

1480 004742 030003 8IT RO,R3 ; CHECK IT

1481 004744 004737 017256 JSR PC.INSCCT * CHECK FOR (C = M

1482 004750 000263 SEV( P SET v & C BITS

1483 004752 040000 BIC RO.RO

16484 0047564 004737 017172 JSR PC.W$CCS : CHECK ¢C = 5

w85 004760 005700 IST RO * CHE(K RO TO CONTAIN O

1486 004762 001404 BEQ INCO

1487 004764 ERICO:

1488 004764 012745 000137 MOV #137,-(RS)

1489 004776 (05265 INC ~(RS)

490 004?772  (0000C HAL T : BIZ FAILED OR SEQUENCE ERROR

‘WG




L 3
CURKAAC MACY11 3CA:105 ) cw-78 08: 59 PAGE 38
cv'w\c.pn og-o 08:9% 3% NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, 8] SEQ 0037

1492




m3
KAA(L  MA(Y'1 30A(1052) U9-0(T-78 08:59 PAGE 39

fyKAAC P 06~ 7-78 08:58 134 NEW INSTRUCTIONS USED IN THIS SECTION ARF BIC, BIT SEQ 0038

493

1494 A A il e e e e R R I IS
1495 'TEST 35 NEW INSTRUCTIONS USED [N THIS SECLTION ARF INC, DEC

1496 : -.ttttta-n-tttt-ttttttt-ttt-tt---q----t--q-t-----tt----------.----.n-----n.
1497

1498 004774 INCO:

1499 004774 21527  (Q0C0O3S (MP (RS) , 435

1500 005000 00'4C4 BEQ ’% ; IF IN WRONG SEQUENCF GO TO HLT BELOW

1501 005002 012745 000140 MOV 0140 ~(RS)

1502 005006 005245 INC -(R5)

1503 005010 000GOC HALT ; PROGRAM IS IN WRONG SEQUENCE

1504 005C12 005215 2% INC (R5)

1505 005014 012704 (77777 MoV #77777 R4 ; R4L=27777




N 3
(VKAAC MACY11 30A(1052) 09-0(T-~78 08:59 PAGE 40
:58 135 NE

CVKAAC P11 09-0CT-78 08:5 W INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC SEQ 0039
1506 005020 000261 SEC
1507 005022 005204 INC R4 ; ADD ONES INTO REG. &
1508 005026 004737 917320 JSR PC,a#8CC13 > CHECK FOR CC = 13
1509 005030 01270¢ 177776 MOV #177776.R4
1510 00503 005204 INC R4
1511 005036 004737 017256 JSR PC.a#$CCN ; CHECK FOR CC = 11
1512 005042 005204 N INC R4
1513 005044 004737 017177 JSR PC.a#$CCS ; CHECK FOR CC = §
1514 005050 005204 INC R4
1515 005052 004737 017066 JSR PC.,ansCCT ; CHECK FOR CC = 1
1516 005056 022704 000001 (MP #1,R4 * CHECK IT
1517 005062 001604 BEQ 48 : FAILED
1518 005064 012745 00G141 MOV #1461,-(R5)
1519 005070 005245 INC -(RS)
1520 005072 000000 HALT ; INC INSTRUCTION FAILED
1521 005074 000261 L$: SEC
1522 005076 005304 DEC R4 ; SUBTRACT CNES FROM REG. 4
1523 005100 004737 017172 JSR PC,a#8C(S . CHECK FOR CC = §
1524 005104 005304 DEC R&
1525 005106 004737 017256 JSR PC,a#$CC11 ; CHECK FOR CC 11
1526 005112 012706 100000 MOV #10000C , R4
1527 005116 005304 i DEC R4 :
1528 005120 004737 017126 JSR PC,a#8(C3 © CHECK FOR C = 3
1529 005126 005304 DEC R4 :
1530 005126 004737 017066 JSR PC,a#8CC1 * CHECK FOR CC - 1
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41

8B &
NEW INSTRUCTION IN THIS SECTION IS (CM

SEQ 0040

:;ttt't'tttt'tt'ttt"ttttttttt't't"t"""'"'t"'t""'t"'.""t"'.ttttt.

NEW INSTRUCTION IN THIS SECTION IS COM

J*TEST: 36

::t"ttttttttttt'ttt'ttt"ttttt"tt't"t'tttﬁ'tt'ttttttﬁ"ttttttttt"'t"t"Q

COMO:

1%:

°%:

3%

™
BEQ
MOV
INC
HALT
INC

HALT
MOV
SCC
oM
JSR

(R5) 436
1%

#1462 ,-(R5)
-(RS)

(RS)
#125252.R3

R3

o 8 "
'l 5"!’( ,E'

[ 4 l‘(,'- ¢

BN

R3
PC,an$CC11
§1é5252.n3

$
#144,-(RS)
-(R5)

#177777 ,R3

R3
PC,a#$C(5

; IF IN WRONG SEQUENCE GO TO HLT BELOW

TEST IS IN WRONG SFQUENCE
LOAD EVERY OTHER BIT

1'S COMPLEMENT /
CHE(K FOR (C = 1

;o THEfK T

NN T

DUOMUINGTR 8

LOMPLEMENT BA(K
(HECK FOR CC - 17
CHECK IT

CONTINUE [F OK

COM INSTRUCTION FAILED

; CHECK fOR (CC = 5

S AASE2 RS2SR dR0R0RdR2RRdR2 it Rt i R R0 224 ]

NEW INSTRUCTION IN THIS SECTION IS NEG

LeTEST: 37

NEGO:

1%:

(RS) 437
ENEGD
(RS)

#1 R0

RO
PC,a¥8CC 1"
197777 R0

2%
#15,-(RS®
=(RS)

#10000C,R0
RO
PC,a#8(73

#°7C00C ,RC
ROLC

e, 8. %, 0,

’;'t'.'l""lQ"t.ttiﬁ"t't"'tt"'."'tlt"'t'tt't"""""'""t'."t."Q'

If IN WRONG SEQUENCE GO TO HLT AT THE END OF THt TEST

LOAD THE REGISTER
2'S COMPLEMENT
CHECK FOR (C 1
(HECK 7

(ONTINUE [F OK

; NEG INSTRUCTION FAILED

2'S COMPLEMENT
(HECK FOR 1 ( '3
CHECK |7

; CONTINUE 1F (0




C 4
(/KAAC MACY1T 30A(1052) 0‘;-0(7°78 08:?‘377 PAGE 42

CVKAAC,P11 09-~0(1=-78 08:58 NEW INSTRUCTION IN THIS SECTION ]S NEG SEQ UL
1587 005326 ENEGO:
15&8; 002 S 12745 000146 MOV #1466,-(RS)
15 0053 005¢45 INC -(R5)
1590 00533 QLo HALT ; WRONG RESULT [N RO OR WRONG SEQUENC:




0D 4
(VKAAC MACY11 30A(1052) 09-0CT~78 08:?20 PAGE 43

CVKAAC.P11 09=-0(T1-78 08:58 NEW INSTRUCTION IN THIS SECTION IS ROL SEQ 0042

591 AR R AR AR R AN AN R R R AN AN AR R RN NI C R AR R AR AN AR R R AR AR RN NN RO NN
1592 J«TEST: 4C NEW INSTRUCTION IN THIS SECTION IS ROL

1593 R e e e e e A L AR e il
1594

1595 005336 ROLO:

1596 005336 (21527 000040 CMF (RS) ,#40

1597 005342 001026 BNE EROLé ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1598 005344 005215 INC (RS)

1599 005346 012701 020000 MOV #20000,R1 . LOAD REGISTER

1600 005352 000257 €CC ; CLEAR FLAGS

1601 005354 006101 ROL R1 ; SHIFT

1602 005356 006101 ROL R1 :

1603 005360 004737 (17300 JSR PC,a#8CC12 ; CHECK FOR CC = 12

1606 005364 022701 100000 MP #100000,R1 : CHECK IT

1605 002370 001404 8EQ 1% ; CONTINUE IF OK

1606 005372 012745 000747 MOV #2147 ,-(RS)

1607 005376 005245 INC -(R5)

1608 005400 000000 HALT 2 ROL INSTRUCTION FAILED

1609 005402 006101 1%: ROL R1 ; SHIFT

1610 005404 004737 017214 JSR PC,ans(C7 ; CHECK FOR (C =7

1611 005410 006101 ROL R1 s SHIFT

1612 005412 022701 000001 (MpP A1 ,R1 ; CHECK T

1613 005416 001404 8te RORO . CONTINUE IF OK

1614 005420 EROLO: ‘

1615 005420 012745 000150 MOV #150,-(RS)

1616 0054246 005245 INC -(RS)

12}; 005426 000000 HALT ; WRONG RESULT IN R1 OR WRONG SEQUENCE

1619

1620 ‘

1621 N A AR R AR AN R R R R R AR R AN AR R R AR R R P AR R R RN N AR RN AR RN R AR RN AR AN RS

1622 J*TEST: 41 NEW INSTRUCTJON IN THIS SECTION IS ROR

1623 A AR AR AR P AN AN AR AR A AR R R P RN AR AR N AN AR AN AR AR R RN R R AN RN AR RN RRAR

1624

1025 005430 RORO:

1626 005430 021527 000041 MP (R5) ,#41

1627 0054346 (001026 BNE ERQORO ; 1F IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1628 (05436 005215 INC (RS)

1629 005440 012702 000004 MOV 4 ,R2 : LOAD REGISTER

1630 005444 000257 ccC ;. CLEAR FLAGS

1631 005446 006002 ROR R2 : SHIFT

1632 005450 006002 ROR R2 :

1633 005452 022702 000001 {mp ” RS ; CHECK |7

163 005456 001404 BEQ 1% ; CONTINUE IF Ok

1635 005460 012745 000157 MOV #151,-'RS)

1636 005464 005245 INC -(RS’

'637 005466 000000 HALT ;. ROR INSTRUCTION FAIIED

1638 005470 006002 1% ROR R2 s SHIFT

1639 005472 004737 017214 JSR PC,a#8C(7 ; CHECK FOR (C = 7

1640 005476 006002 ROR R2 P OSHIFT )

1641 005500 004737 (C17300 JSR PC,a#8((C12 ; CHECK FOR (C - 1¢

1642 005504 022702 100000 (MP #100000,R2 . C(HECK IT

‘663 005510 001404 BEQ ASLO ; CONTINUE IF Ok

166l 005512 ERCRO:

‘66S 005912 Q12745 000152 MOv #' 5z, =(RS)

Thhs 0S5T¢ 00524¢ IN -(R5%)




CvRAAL.  MACYTT
CVKAAC P11

1667 00552C

30A4(1052)

09-0(71~78 08:

09-0(7-78 08:58

<0000

59 PAGE 44
NEW INSTRUCTION IN THIS SECTION IS ROR

141

HAL T

E 4

; WRONG RESULT IN R OR WRONG SEQUFNCE

SEQ 0047




CVKAA(

CVKAAC.

MACY1T 30A(1052)

P11

VAN NN ANV

554

SS3338IS33SSIS

005612
005612

09-0CT-78 08:58

021527
001034
005215
012704

012745
005245

000042
000153

020000

017300
100000

000154

017214
017150

000043

000004

000001
000155

01724

017150
100002

017256
160000

000156

09-0(7-78 08: 592 PAGE 4

[3

65
NEW INSTRUCTION IN THIS SECTION IS ASL

SEQ 0044

ISR 2132323833330 0002282338308 2202222 220000 RRlRRltilRRRltliRRRNARldd

NEW INSTRUCTION IN THIS SECTION ]S ASL

(SR 2222232232223 28232233220202332232323223822323223222222338 3328232332203 0R22RR20RfRRRsRRRlY

SATEST: 42

ASLO:

2%: INC

4%: ASL

JSR

(RS) 442
$

2
#153,-(RS)
-(R5)

(RS

IZOOOO R3
R3

R3
PC,a¥8$CC12
#100000.R3
43
#154,-(RS)
-(R5)

R3
PC.a#8CC7
R3
PC,a#$CC4

JF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM ]S IN WRONG SEQUENCE

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK FOR CC = 12

CHECK IT
CONTINUE IF Ok

AS%FINSTRUCTION FAILED

> CHECK FOR CC = 7

SHIFY
(HECK FOR CC =

A A2 A222 2Rt RS2dRR R i 0202t 20020 2 28R RRditttdd Rttt tRRdd ]

NEW [NSTRUCTION IN THIS SEFTION IS ASR

::Qﬁttﬁtﬁ'ﬁﬁit"ttt'ﬁtt"ﬁﬁ'ttﬁitﬁt'.'tﬁtQttt.tttﬁﬁttﬁt'Qtttttittttttttt'ﬁtﬁﬁ

LRTEST: 43

ASRO:
c™MP
BNE

1%: INC
MOV
€cC
ASR
ASR
CMP
BEQ
MOV
INC

HALT

2%: ASR
J3R
ASR
JSR
MOV
ASR
ASR
JSR
cMpP
BFQ

MOV
INT

EASRO:

(RS) 443
eASRb

2%
#155,-(RS)
-(R5)

R&
PC a7

Pc 4$CC4
4160002 R3

3
PC,a4$C(C11
4160000,R3
ADCO

¥ 56,-(R5)
=-(R5)

; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE IF OK

ASR INSTRUCTION FAILED

SHIFT

CHECK FOR CC 4
LOAD REGISTER
SHIFT

; CHECK FOR (C =

CHECK IT
CONTINUE IF Ok




CVCAAC  MACY1Y 30A(1052)
09=0(1=78 0

CYKAAC P11
1706 00576

<0000

09~0CT-78 08:59 PAGE
8:58 143

46

G ¢4

NEW INSTRUCTION IN THIS SECTION IS ASR

HALY

; WRONG RESULT IN R3 OR WRONG SEQUENCE

SEQ 0045
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MACY11 30A(1052) 09-0(T-78 08:594 PAGE 47

P11 09-0C7~78 08:58 T4 NEW INSTRUCTION IN THIS SECTION IS ADC SEQ 0046
:;..t...".'.'....t'..t'.'.".'t"".'.'.ﬂtttt....tttttt'!ltt!t'tt.tt.ttttttt
cTEST: 44 NEW INSTRUCTION IN THIS SECTION IS ADC
:;..t.'.t'.....'...."......"""""."'...".'.......ttt.t"‘tt't.t..'l..l

005720 ADCC:

005720 021527 (000044 MP (RS) ,#44

005724 001404 BEQ 28 : IF IN WRONG SEQUENCE GO TO HLT BELOW
005726 012745 000157 MOV #157,~(RS)

005732 005245 INC -(R5)

005734 000000 HAL T ; PROGRAM IS [N WRONG SEQUENCE
005736 005215 2%: INC (RS)

005740 005000 CLR RO ; CLEAR THE REGISTER
005742 000257 ccC ; CLEAR FLAGS

005744 005500 ADC RO ; ADD C BIT = 0

005746 004737 017°5C JSR PC,a#8CC4 ; CHECK FOR CC - 4
005752 00C261 SEC ; (A1

005754 0055C0 ADC 30 ; ADD C BIT=1

005756 000261 SEC ;=

005760 005500 ADC RC ; AGAIN

005762 004737 017046 JSR PC.a#$(C0 ; CHECK FOR CC O
005766 022700 000002 ~MP #2 R0 ; CHECK IT

005772 001404 BEQ 4% ; CONTINUE IF OK

005774 Q12745 000160 MoV #160,-(R5)

006000 005245 INC -(RS)

006002 000000 HALT : ADC INSTRUCTION FAILED
006004 012700 077777 4%: mov #77777 ,RO ; LOAD LARGEST POSITVE NUMBER
006010 000261 SEC ;A

006012 005500 AD( RO ; ADD ¢ BIT-1

006014 004737 017300 JSR PC,a#8CC12 ; CHECK FOR CC - 12
006020 022700 100000 (MP #100000,RO s CHECK IT

006024 001404 BEQ 6% s FAILED

006026 012745 000161 MoV #161,-(R%)

006032 005245 INC =(RS)

006034 000000 HALT ; ADC INSTRUCTION FAILED
006036 012700 177777 0$: MOV #-1,R0 ; LOAD =i

006042 000261 SEC ; (=1

006044 005500 AD( RO ; ADD C BIT=1

006046 004737 017172 JSR PC.,a#8C(5 ; CHECK FOR CC - S

WA 222 AR R4 20222 2200220 R0 R RRRRRRRRRRRRRRRRRRRRRRRRRRRR])

;*#TEST: 45 NEW INSTRUCTION IN THIS SECTION IS SBC
;:.t'tt'tt'tttttttttt‘t.ttttt.tttttttttttttttt.ttttt.t.ttttt.tttttt"tttttt-'
006052 SBCO:
006052 021527 000045 cMP (RS) 445
006056 001404 BEQ 1% ; IF IN WRONG SEQUENCE GO TO HLT
006060 012745 000162 MOV #1u2,=-RS®
006064 005245 INC ~(RS)
006066 000000 HALT ; TEST IS IN WRONG SEQUENCE
006070 005215 18: INC (RS)
006072 012701 000G03 MoV #3 ,R1 ; LOAD REGISTER
00- 776 000257 {cc ; CLEAR FLAGS
006100 005601 SRC R ) : SUBTRACT C BIT=0
006102 004737 017046 JSR PC,a#8(C ; (HECK FOR CC -0




CvkKAA(
CVRAA(

1761
17672
1763
1764
1765
1766
1767
1768
* 769
1770
17721

MACY11 30A(1052)

PN

006224

09-0C7-78 08:58

022701
001404
012745
005245
000000

00026
005601
000

000003
700163

217046
000001

000754

017°5¢
01725¢
1777277
000165
100000

0*710¢

09-0C7-78 08:59 PAGE
145

’%:

3%:

4%

48

NEW INSTRUCTION IN THIS

CMP
BEQ
MOV
INC
HALT
SEC
SBC
SEC
S8(C
JSR
{MP
BEQ
MOV
INC
HALT
SEC
sS8(C
JSR
SEC
SBC
JSR
(mp
8EC
MOV
INC
HALT
MOV
SEC
SBL
JSR

I

#3.PM

2%
#163.-(RS)
-(R5)

R1

R
PC,a#8CCO
#1,R1

3%
#164,-(RS)
-(R5)

1
PC,a#8(C4
R1
PC,a#$CCT1"
’-1 .R1

4%
#165,-(RS)
-(R5)

#100000,R1

R1
PC,a#$CC2

4

SECTION IS SBC

[ S P A TR

CHECK IT
CONTINUE IF OK

g@g INSTRUCTION FAILED
ga?rRAcr ¢ 8IT=1

CHECK FOR CC = O
(HECK IT
CONTINUE IF OK

ng INSTRUCTION FAILED

SUBTRACT C BIT=
EH%CK FOR CC = 4
SUBTRACT C BIT =1
CHECK FOR CC = 11
CHECK IT

CONTINUE IF F OK

SBC INSTRUCTION FAILED

L0AD R
SUBTRACT € BIT = 1
CHECK FOR CC = 2

SEQ 0047
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001404
012745

005245
000000

021527

00V046

017172

000766

017256

177777

0001¢7

000047

125125

01723¢
052652

000170

000377

017150
177400

09-0CT-78 08:59 PAGE 49
: T46

J &
NEW INSTRUCTION IN THIS SECTION IS SXT

SEQ 0048

':tttt.ttttt..Qt'ttttttit..'..t'..'.".ll.....ll..tltttt(ttt"ﬁﬂtttﬂtttttttﬂt

NEW INSTRUCTION IN THIS SECTION IS SXT

::lt.ttttti'ttttt.tt'tlttt'Qtttlttttt.tltttttttt'.l.ﬂlttll.tt..titl't...ttttl

SeTEST: 46

SXT(Q:
(MP
BNE

1%: INC
(LR
SCC
(UNZ
SXT
JSR
ST
BEQ
MOV
INC
HALT

2%: SENVC
SXT
JSR
(MP
BEQ

MOV
INC
HALT

ESXTO:

(RS) ,#46
gsxT0
(RS)

R2

R2
PC,a#8(CC5
R2

2%
#166,~(RS)
-(R5)

R2
PC,ax8CC1"
#-1,R2
SWARQ

#167,-(RS)
=(R5)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
CLEAR REGISTER

SIGN EXTEND

CHECK FOR CC = 5

REG. 2 SHOULD STILL BE O
CONTINUE IF OK

SXT INSTRUCTION FAILED
SET N, v & C BITS

SIGN EXTEND

CHECK FOR (C = 1

REG. 2 SHOULD NOw HAVE -1
CONTINUE IF OK

WRONG RESULT IN R2 OR WRONG SEQUENCE

SINAN N AN AR AN A AR RN R RN R AN NN AR RN RAN I A RNANANNANRANANRNNARNR RN ANRAGTANANNRN

NEW INSTRUCTION IN THIS SECTION ]S SWAR

::tﬁttt‘ti*ti'tt'.'i‘llitl'ttlttttkt‘.tt'ttt‘ttlttil‘tQtl‘ti‘.tttttt‘ttti.‘t'

SATEST: 47

SWABO:
(MP
BNE
INC
MOV
SCC
CLN
SWAB
JSR
cMP
BEQ
MOV
INC
HALT

1%: MOV
SCC
Lz
SWAR
JSR
{MP
BEQ

FSWABQ :

(RS5) 447
E SWABO

(RS)
#125125.R3

R3
PC,a#8C(C10
qgéese.ns

#170,-~(R5)
-(RS?

#377 k%

R3

PC, a¥%( 4
#127400,R3
xcr0

If IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; LOAD BIT PATTERN INTO REGISTER

Ssn.u,0,

SWAP BYTES OF REGISTER
CHECK FOR CC = 10
CHECK IT

CONTINUE IF OK

SwWAB INSTRUCTION FAILED

. CHE(K FOR CC = 4




|

(vKAAC MACY'T 30A(1052) (9-0CT-78
T /KAAC P11 09~0(1~78 08:58

B47 006406 012745 000171
1843 006412 005245
1849 006474 500000

K &
08:59 PAGE 50
147

NEW INSTRUCTION IN THIS SECTION IS SwAB

MOV #171 ~(RS)
INC =(R5)
HALT

; WRONG RESULT IN R3 OR WRONG SEQUENCE

SEQ 0049




MACY'1 30A(1052)

P11

006522

09-0C7-78 08:59 PAGE 51

09~0(1~78 08:58

012745
005245
000G00

021527
001055
005215
012701
060101
004737
022701
001404
012745

n0005C

177777
177777

017172
077777

000051

021421

017046
043042

000173

156357

017256
134736

005174

L &
150 NEW [NSTRUCTION IN THIS SECTION IS XOR

SEQ 0050

X 22222232222 3223232223222 282222283823 32220203030d 3 Rl 2Rl RRRRRRlRaRRRldld]

NEW INSTRUCTION [N THIS SECTION IS XOR

:;.t.t.tttt.t..t..t..ttt..Q'.'...i'..t..'tit'l..II...I.I..'tttt.ltt.t..t.t‘lt

STEST: SO

XOR( :
MP
BNE
INC
MOV
MOV
SCC
XOR
JSR
MOV
MOV

SEVC

CL?
XOR
JSR
MOV
MOV
SCC
XOR
JSR
(MP
8EQ

MOv
INC

EX0R0:

HALT

(RS) 450
EXOR0
(R5)
#-1.R4
#-1.R3

R4 ,R3
PC.aNSCCS
#77777.R3
R4 RO

RO,R3

PC,a#8CC1
#.25252 ,R2
#52525,R4

R2,R4
PC,a#$CC1
#-1,R4
ADDO

#172,-(R%)
-(R5)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
LOAD REGISTERS

; SHOULD PRODUCE Q'S IN REG. 3
; CHECK FOR CC =5

PLACE A -1 IN RO
SET v & C BITS

CHECK FOR CC = 11
LOAD REGISTERS

; SHOULD PRODUCE ALL 1'S IN REG. &

CHECK FOR (C = 11
CHECK IT
CONTINUE IF OK

; WRONG RESULT IN R4 OR WRONG SEQUENCE

';tttl.t'tittt.ttttﬁl.i.t't.ttll.l....til.tt"t.tli'*\iil.t...t.t.tt.ttiititt

NEW INSTRUCTION IN TH]S SECTION IS ADD

;:t.tltttt't'ﬁi"".'.tt'.'ttitttl.ttttlt‘t.tt..ttit"tt"tt".'ttt't.'l"ttt

SeTEST: 51

ADDO:

'$: MOv

(RS) , 451
EADDO
(RS)
#21421,R1
R1,R1
PC.aN$CCO
:43042.a1

$
#173 -(R5)
-(R5)

#-21421 RO
RO,RC

PC,a#8CC1°
#-43042 RO

2%
¥ 74 ~(R5)
- (RS}

; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

kOAD REGISTERS

DD

CHECK FOR CC = O
CHECK IT
CONTINUE IF Ok

ADD INSTRUCTION FAILED
LOAD REGISTERS

ADD

CHECK FOR CC - N
CHECK [T

CONTINUE [F OF




M 4

MACY'T 304(°052) 09~0CT-78 08:59 PAGE 52
P11 09-0r 1-78 08:58 751 NEW INSTRUCTION IN THIS SECTION IS ADD SEQ 0051
006612 000000 HALT ; ADD INSTRUCTION FAILED
006614 012702 100000 28: MOV #100000,R2 * LOAD REGISTERS
00662¢ 060202 ADD R2.R2 * ADD SHOULD RESULT AS 0°S
006622 004737 017214 JSR PC.aNSCC7 “CHECK FOR CC = 7
006626 012706 021427 MOV #21421 R4 * LOAD REGISTERS
006632 (12701 156357 MOV #-21621,R1 p
006636 060401 ADD R4 R : ADD SHOULD RESULT AS 0°S
006640 001404 BEQ 3$ > CONTINUE IF OK
006642 012745 000175 MOV #175,-(RS)
006646 005245 INC -(R5)
006650 000000 HALT : ADD INSTRUCTION FAILED
006652 005404 3%: NEG Ré  SWITCH SOURCE AND DESTINATION
006656 012707 02°421 MOY #21421,R1 :
006660 060104 ADD R1,R4 '\ SHOULD RESULT AS 0°'S
006662 001404 8EQ SUBO * CONTINUE If OK
006664 £ ADDO :
006664 012745 LC0T7¢ MOV #176,-(R5)
00667C 005245 INC -(R5)

006€72 000000 HALT : WRONG RESULT IN R! OR WRONG SEQUENCE




MACY11 30A(1052)

P 09-0C1-78 08:58

004737

021527

005000

106400
00473%7

NUR

000052
000177

02142°
156357

01723¢
134736
000200

021421

000201
1777277
077777

017320
100000
000202

177777
017150

000053

127777

017046

09-0CT=78 08:59 PAGE 53
: 152

SATEST:

SUB0::

2%:

4%

6%:

e%:

N &

NEW INSTRUCTION IN THIS SECTION IS SuB

IR 2222322X222328 2223222322212 22 023 2RRRR2RR R 2R RSN RAR S NAA

NEW INSTRUCTION IN THIS SECTION IS SUB

::'tttit'tii't'ti'iiiiii"ii'ﬁ.ii"iiiititttiittltttttttltttttttttttttttttttt

52

rmp
BEQ
MOV

(R5) 452
$

2
#177,-(RS)
=(R5)

(R5)
#21421 ,R2
#-21421,R3
R2,R3
PC,a#$CC10
9-43042.R3

4%
#200,-(RS)
-(RS)

#21421,R3
R2,R4
R4 ,R3

6%
#201,-(R5)
=-(RS)

#-1,R3
n77777 ,R2
R3,R2
PC,a#$C(13
#100000,R2

8%
#207,-(RS}
-(R5)

#~1,R4
R3,R4
PC,a#8CC4

IF IN WRONG SEQUENCE GO TO HLT BELOW

; PROGRAM IS IN WRONG SEQUENCE

LOAD REGISTERS

RESULT SHOULD=~432042
CHECK FOR CC = 10
CHECK IT

; CONTINUE IF OK

SUB INSTRUCTION FAILED
LOAD REGISTER
NOW R4 = 421421

5 RESULT SHOULD=0

SUB NSTRUCTION FAJLED

; LOAD REGISTERS

LOAD REGISTERS

RESULT SHOULD BE_100000 AND OVERFLOW
CHE(K FOR CC - 13

CHECK IT

CONTINUE IF OK

; SUB INSTRUCTION FAILED

.

; CHECK FOR (C =

B 2322232222222 2332222222228 222322¢82802R02AR0RRRRR0RRRRR 2022022220t 2)2d]] |

NEW INSTRUTTIONS IN THARE SECTION IS MTPS & MFPS

ii'tii't.'titi.Qtit.'tittlitiii'*"'ﬁ't't.'.'iitt.'itiiiititt"itilitt'tttt

I"TEST

PSW:

1%:

53

(RS) 453
EPSV

R3)
1177777 R1
RO

RO
106400...C
PC W ()

106700

4

SET PSW TC O

CHECK FOR CC - ¢
MOVE PSW TO R1

SEQ 0052

; IF IN WRONG SEQUENCE THEN GO TO HLT AT THE END OF THE




CvxAA(
CVKAA(

981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1
.m"
R )2

MACYT1 30A(1052)

P11

09-0(T1-78 08B:59_ PAGE 54
NEW INSTRUCTIONS IN THARE

09-0C1-78 08:58

001404
012745
005245

000000
004737
012700

106400
004737
106701
004737
022701
007404

Cr076%
DrReat

000203

017150
000377

753

2%:

EPCy-.

8EQ
MOV
INC
HALT
JSR
MOV
MTPS
.WORD
JSR
MFPS
.WORD
JSR
CMp
8EQ

0.
INT
~A T

B S

2%
#203,-(R5)
=(RS)

PC,aNsCC4
#377.R0
RO

106400!..C
gg.acscc17
106700 . .

PC . a#$CC11

177757 .R1
MODEO

#2064 ,=(RS)
-(R5S)

SECTION IS MTIPS & MFPS SEQ 0053

; CONTINUE IF BIT 8 OF PSw WAS EXTENDED IN R1

; MTPS OR MFPS INSTRUCTION FAILFD

CHECK FOR (C = 4
SET PSw TO 357 SINCE MTPS DOES NOT SET T BIT

CHECK FOR (C - 17
MOVE PSW TO R1

CHECK FOR CC = 17 [C BIT SHOULD NOT BE EFFECTED By MFP
C(HECK TO SEE IF BIT 8 OF PSW WAS EXTENDED THRU R1

MTPS OR MFPS INSTRUCTION FAILED OR WRONG SEQUENCE




c 5
MACYYY 304(1052) 09~0CT-78 08:59 PAGE 55
P11 09~ 1=-78 08:58 LSI-11 INSTRUCTIONS NOT MODE 0 SEQ 0054

: LSI-11 INSTRUCTIONS NOT MODE O

EE 3222222222822 823223 2822222222222 2222222222 R RN R IR R FEE AN RS RS E R RN R AR X

S*TEST: 54 CHECK MODES O & 1 USING THE MOVB AND MOV INSTRUCTIONC

::'t.ﬁ"'ttt"t"'t""'....ttttt.tittt.*Qtt.t.ttt.tt'.ttt‘tt.t.tttttﬁt.t..t.

MODEOQ:

007142
007142 021527 0C0054 (P (RS) 454

007146 001063 BN EMODEO : IF IN WRONG 3EQUENCE GO TO HLT AT THE END OF THE TEST
007150 005215 ) 1¢ (RS)

007152 112700 000252 V3 #252,R0 - LOAD RFGISTERS

007156 110001 MOVB  RO.Ri :

007160 110102 MOVB  R1°R2 :

007162 122702 000252 e #2852 R2 T OCYECK IT

007166 001404 BEQ 1$ Ok, CONTINUE

007170 012745 000205 MOV #295,~(RS)

007174 005245 INC -(RS)

007176 000000 HALT ; MOV INSTRUCTION FAILED IN MODE O
007200 012700 125252 1% MOV #125252.RC * LOAD REGISTERS

007206 010001 MOV RO.RT :

007206 010102 MOV R1.R2 :

007210 022702 125252 ) #155252 ,R2 Y OCHECK 1T

007214 001404 BEQ MODE 1 Ok, CONTINUE

007216 012745 000206 MOV #206,~(RS)

007222 005245 ING -(RS’

007224 000000 HALT : MOV INSTRUCTION FAILED IN MODE O
007226 012700 000136 MODE1: MOV #TEMP,RO ; LOAD ADDRESSES INTO REGS.
007232 012701 000140 MOV #TEMPT R :

007236 012702 000742 MOV NTEMP2 R :

007242 005067 170674 CLR TEMP?  START CLEAN

007246 112710 000125 MOVB  #125.(RO® * LOAD THE LOCATIONS

007252 111011 MOVB (RO . (R1) D TEMP —==> TEMPI

007254 111112 MO/B  (R1).(R2) 1 TEMP] —==> TEMP2

007256 122767 000125 170656 CMPB 125 TEMP? L OCHECK IT

007264 001404 BEQ 1 * OK, CONTINUE

007266 012745 000207 MOV #207.-(R5)

007272 005245 INC -(R5)

007274 000000 HALT : MOV INSTRUCTION FAILED IN MODE 1
007276 012710 05257 1¢: MOV #52525, (RC) ; LOAD THE LOCAT]ONS

007302 011011 MOV (ROY, (R1) 1 TEMP ===> TEMPI

007306 011112 MOV (R1)° (R2) 1 TEMPT -==> TEMP?

007306 022767 052525 170626 (P #52555,TEMP2  * CHECK IT

007314 001404 BEQ MODE 2 Ok, CONTINUE

007316 EMODEO :

007316 012745 000210 MOV #270,-(RS"

007322 005245 INC -(RS)

007326 000000 HALT : MOV INSTRUCTION FAILED IN MODE 1

; OR WRONG SEQUEN(CE

;:'."t.'"tt'....ttt...'tt"t.‘""t...."tt.lQ.t.t"'....'.ttttlt'l.-..'.!t




MACY1?
M

304(105
09=-0C1=7,

(o}
~n

—_ e b b

o8
W=
~
o

005767
001404

012745
005245
0060000

2)
8 08:58

000055

000136
000140
200142

000252
170546

00025¢
170530

000211

125252
170500
125252
170464

000272

09-0C7-78 08:59 PAGE
:5 155

JeTEST:

MODE?2:

1%:

2%:

EMODE2:

D 5

56
CHECK MODE 2 USING THE MOVB A“.D MOV INSTRUCTIONS SEQ 0055
55 CHECK MODE 2 USING THE MOVB AND MOV INSTRUCTIONS

".'...'....-............................Q...i.tt.t.tﬁttt.t........l..........'
™e (RS) , 455
?zg EE??EZ : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
MOV #TEMP,RO : LOAD ADDRESSES
MOV #TEMPI R R
MOV ATEMP2.R2
(.RB (R2)+ ; START CLEAN
MOVB  #252,(RO) * LOAD THE LOCATIONS
MOVB  (RO)+,(R1)+ P TEMP --=> TEMPI
INCB  R1 * MAKE IT EVEN
MOVB  (R1),TEMP " MORE 0'S NTO TEMP
INCB RO * MAKE IT EVEN
MOVB (RQ)+,(R1)+ ; TEMP] ===> TEMP?
(MPB  -(R2) #4252 Y OCHECK IT
BNE 1$  FAILED
TSTB  TEMP Y OCHECK IT
BEQ 28 * OK. CONTINUE
MOV #211,~(R5)

INC - (RS}

HAL T ; INSTRUCTIONS FAILED IN MODE 2
ST ~(R1)

CLR (R2)+ ; START CLEAN

MOV #125252,-(RO)  : LOAD LOCATIONS

MOV (ROY+. (RO) + L TEMP —==> TEMPT

MOV (RO), TEMP 10 ---> TEMP

MOV (R1)+,(R1)+ ;125252 ===> TEMP?

P -(R2) . 4125252  : CHECK IT

BNE EMODE 2  FAILED

TST TEMP Y CHE(K QT
BEO MODE 3 * OK, CONTINUE
MOV #212,-(RS)

INC -(RS}

HAL T . INSTRUCTIONS FAILED IN MODE 2

* OR WRONG SEQUENCE




CVKAA(
CVKAA(

3553

[,N1aV1,NT,N 11V}

o e d b o d e —d D b e D e D D . D md d md D b P ) d d b e d ed D d d d D e d D b D d d
NINUNUNY VRVPONIPIN) = b 2 s 22 -‘—‘—'OOO?O?OOO
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WU =O VNN WA 2O V00NN WD 2O 00N

LSLVLNTLELS LV LV LN LT, V1AV, SN 1N 1,8, N, N1,N 1,1 ST, 1, N1, N, N1,V [,S N1, ST, ST, 01, ST, U LN LS LW, ST, §1, ST,V
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2145

MACY'1 30A(°052)
09-G{1-78 08:58

P11

007654

2288S
SISO
N = RIWNINIWWRNDWNNONNOMND) NN = =
RANIIFINY

NOANAF OO ARR -GN

O N YN=ONYNNO N

OON) -2 s a2
O=0ON

(e oo P pr e P leolele!]
NON
[e X @Te N
NWN

012745

022767
001003
005767
001404

012745
CuS5245
000000

Seg=8se

000056

000136

000125
170370
000125
170352

000213

170340
052525
000126
000130
170310
052525

170272

0002° 4

000057

170244
000136
0001402
000162

170424
170420
170414

"7037¢

170364

170326

170304

09-0(7~78 08:59 PAGE
: 156

LRTEST:

MODE 3:

%

2%:

EMODE3:

57

E 5

CHECK MODE 3 USING THE MOVB AND MOV INSTRUCTIONS

'.'Qtﬁﬁtﬁﬁ'QQttﬁ‘tQﬁti'ttt'(i‘i“.t't.‘ttt"t‘tttttttttttttt.tt.t.tt.t.t.....'t

CHECK MODE 3 USING THE MOVB AND MOV [NSTRUCTJONS

:"tt.ﬁt‘tQQQtttﬁ"'ﬁﬁ'ﬁtt.tttt"t't“ttt.t‘itt.it.'ttttttttttt.ttt.tt.ttt...‘

56

C

BNE
INC
MOV

INC
HALT

(R5) ,456
EMODE 3

(R5)

#TEMP ,ADR
#TEMP1 ,ADR1
#TEMP2 ,ADR?
#ADR,RO

#ADR1 ,R1
TEMP?

125, TEMP
d(RO) +,2(R1)+
A(R1)+,TEMP
a(RO)+,9(RO)+
?;?5.TEMP2

TEMP
2%

#213,-(RS)
-{R5)

TEMP2
#52525,TEMP
#ADR RO

#ADR1 ,R1
a(R0O)+,8(RO)+
a(RO) +, TEMP
a(R1)+,a(R1)+
#52525, TEMP2
EMODE 3

TEMP

MODE 4

#8214 ,-(R5S)
=(R5)

; IF IN WRONG SEQUENCE GO TO HLT ABOVE

LOAD ADDRESSES

LOAD ADDRESSES OF ADDRESSES
START CLEAN
TEMF -=-=> TEMPI

TEMP? --=> TEMP
TEMPT -==> TEMP?2

; CHECK IT

LI I R I Y

FAILED
CHECK IT
0K, CONTIMUE

INSTRUCTIONS FAILED IN MODE 3
START CLEAN

LOAD { OCATIONS

LOAD ADDRESSES OF ADDRESSES

TEMP -==> TEMPI
TEMP2 ===> TEMP
TEMP] =-==> TEMP?
CHECK IT

FAILED

CHECK IT

; 0K, CONTINUE

: INSTRUCTIONS FAILED IN MODE 3

B 22222222222 YRS RS SRRRSZSRSRRE RS R RS dlARR Rl Rl

CKECK MODE 4 USING THE MOVB AND MOV INSTRUC™IONS

."'"tt‘t.t.'ﬂ..tttit‘.tﬁt.tti.'tiiliitti.iii‘tt.t.itt'tti'tt."'.'.""'ttt"

S*TEST:

MODE4:

£7

(MP
BNE
INC
CLRB
MOV
MOV
MOV

(RS) ,A57
EMODE &
(RS)

TEMP
#TEMP RO
#°MP1,R1
RTEMP? R?

SEQ 0056

; JF IN WRONG SEQUENCE GO TO #LT AT THE END OF THE TEST

START CLEAN
. OAD ADDRESSES




2155

MAUN ALNLNUNLFUALNVNDINVAL AL NNV AL AL NV AUTUINL NN AL AL NINL NLNVNVNL NNV NIRL PV NN N NUNI N
ot d D D s D d b b b oD D D D e d b kD D D D ) b D o b b b D d b =D B b —D —d 2 2 —2—3

B LR R 28 B R RN R B IR VA A NINIITEUFIRAR LB 55 LF

NIRRT
FSRSSI3
OOOOQOOOOO

2207

MACY'1 30A(1052)
09-0CT1~78 08:58

PN

007706
007710
007714
007716
007722

pripunr G Quay QunrGuarGunr Gur Ganrd
[plelelelolalelelel
Jar G G Sur GherGurGuur SarGuurd
[p®]

8RS

WAININ) — —
[ S WY W )

005202
021267
001404
012745
005245
000000
112742

1146140
122767
001003
105767
001404

012745
005245

012745
005245

09-0CT1-78 08:

170227
000215

000252

170743
000276

000252
170134

000217

170112
000136
000140
000142
170076

000220

125252

125252
170020

000221

170136

170022

59 PAGE
157

1%:

2%:
3%:

AN

5%:

EMODES:

58

F 5

CHECK MODE 4 USING THE MOVB AND MOV INSTRUCTIONS

INC
MP
BEQ
MOV

R2
(R2) , TEMP2+1

1%
#215,-(RS)
-(R5)

#252,~(R2)
R1

R2
-(R2),-(R1)
RO

R2
-(R0) ,~(R2)
RO
(RO) , TEMP+1
2%

#216,-(R5)
-(R5)

R1
=-(R1),=(R0)
#252,TEMP
3%

TEMP2

4%

#217 ,=(RS)

-{RS)

TEMP

ATEMP RO
#TEMP] R1
#TEMP2 ,R?
(R2)+

(R2) ,TEMP2+2
5%

#220,-(RS)
-(R5)

#125252,-(R2)
(R1)+

(R2)+
=(R2),=(R1)
(RO)+

(R2)+
~(ROY,=(R2)
(RO)+

(R1)+

~(R1) ,=-(RO)
#125252, TEMP
EMODE 4

TEMP?

MODES

#221,-(RS)
-(R5)

LI R I IR I I Y Ve Wy Wy By N, N, N,

[ YEFE TR YRR Y]

LISE YK TP Y I

; ADJUST THE POINTER

INSTRUCTIONS FAILED
LOAD TEMP?2
ADJUST THE POINTERS

TEMP2 --=> TEMPI
ADJUST THE POINTERS

TEMP —==> TEMP?2
ADJUST THE POINTERS

INSTRUCTIONS FAILED

TEMP1 -<=> TEMP
CHECK IT

FAILED

CHECK IT

0K, CONTINUE

INSTRUCTIONS FAILED
START (CLEAN
LOAD ADDRESSES

ADJUST THE POINTER

INSTRUCTIONS FAILED
LOAD TEMP?
ADJUST THE POINTERS

TEMP2 --=> TEMP]
ADJUST POINTERS

TEMP -==> TEMP?
ADJUST THE POINTERS

TEMP1 ===> TEMP
CHECX T

FAILED

CHECK IT

0K, (ONTINUE

IN MODE 4

IN MODE 4

IN MODE &

IN MODE 4

SEQ 0057




CvkAAC  MACY1Y 30A(1052)

09-0C7~78 08:59 PAGE
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CVKAAC,.P11 09-0CT7-78 08:58

2208 010132 0OCCON
2203

59

G 5

(HECK MODE 4 USING THE MOVB AND MOV INSTRUCTIONS

HALT

s INSTRUCTIONS FAILED IN MODEf &
: OR WRONG SEQUENCE

SEQ 0058
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€210

N
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RS 1AS1 N1V V1, N IINT. N
AN LN LN N1, N1, N7 T 1
— d d b D d d b
Nols ENTe SV, P IGV1N)

2220

MACY11 30A(1052)

PN

OO0 ODD0D
rSrruoRR

NN = D Db a2 2
HO

[olelslolelelelolelelo]
nORONONL LN
WIWNINOPONY
nNOOSNO

o
n
[V
o

0246

274

[slelololelolololslaleolololelolelololslolelalalololololololololololololalololololololalolalolololololole]
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09-0C7~78 08:59 PAGE 60

09-0("~78 08:58

021527

O=O=20=00000
NN =) == b

2022
125052

001404

012745
005245
000000
005067
012700
012701
012702
005722
012752
022122
015251
022022
015052
022021
015150
022767
001003
005767
001404

012745
005245

000u60

167766
200136
000148
000126
000132

000125

000222

000125
167660

000223

167636
000126
000130
000132

05252¢

052525
167570

000224

167750
167744
167740

167662

167572

760

CHECK MODE 5 USING THE MOVB AND MOV [NSTRUCTIONS

H 5

SEQ J059

B2 2222222232302 222RR2RRRR2 00202 iRl iR R0 RRRdRRRlRasddd)

CHECK MODE 5 USING THE MOVB AND MOV [NSTRUCTIONS

""tttl"tttlttlttttttttt't"tltttt'tt'tltttttttt'it'tttttlt‘t‘tl".lltl'.ltl‘

LeTEST:

MODES:

2%:

3%:

EMODES :

60

(RS) ,#60
EMODES

(RS)

TEMP
#TEMP,ADR
#TEMPI, ADR1
#TEMP2 ADR2
#ADR R0
#ADRT R1

(R2)+
#125,a~(R2)
(R1)+,(R2)+
a-(R2),a-(R1)
(RO)+,(R2)+
a-(RD) ,a-(R2)
(RO)+,(R2)+
a-(RO) ,a~(R2)

1%
#222,-(R5)
-(RS)

(R1)+,(RO)+
a=(R1) ,a-{(R0)
#125,TEMP

2%

TEMP?2
3%

#223,-(R%)
-(RS)

TEMP

#ADR RO

#ADR1 ,R1
#ADR? ,R2
(R2)+
#52525,-(R2)
(R1)+,(R2)+
a~(R2),@=(R1)
(RO)+, (R2)+
@=(R0) ,@-(R2)
(RO)+,(R1)+
a-\R1J,a=(R0O)
#52525,TEMP
EMODE S

TEMP2

MODEG

#224,-(RS)
=(R5)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

START CLEAN
LOAD ADDRESSES

LOAD ADDRESSES OF ADDRESSES

; ADJUST THE POINTER

. LOAD TEMP?

; ADJUST THE POINTERS

; TEMP2 --=> TEMP]

; ADJUST THE POINTERS

i

L TEMP ===> TEMP?

ADJUST THE FOINTERS
HECK IT

; ADJUST THE POINTERS
; TEMP1 --=> TEMP

; 0K,

CHECK [T
FAILED

CHECK IT
CONT INUE

; INSTRUCTIONS FAILED IN MODE 5
s START CLEAN

LOAD ADDRESSES OF ADDRESSES

ADJUST THE POINTEF
LOAD TEMP?

ADJUST THE POINTERS
TEMPZ2 ---> TEMPI]
ADJUST THE POINTERS
TEMP -==> TEMP?2
ADJUST THE POINTERS
TEMPY --~> TEMP
CHEC® IT

FAILED

CHECK T

OK, CONTINUE
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MACY1T 30A(1052)
09-0C7~78 08:58

010362 (00CCO0

021527

012745
005245
000000
005967
012760
016260
022767
001404

012745
005245
000000

09-0(1-78

000"

167542
00013¢
00014C
000742
000252
000252
125252

000001
000002
125252

000225

167440
052525
177774
052525

000226

000000
000001
167500

000000

000005
167460

000600

08:59 PAGE
760

TRTEST: 61

""'ttit'tttttttti't""i"tittitittttitti“tiittttttt'ttttittttt'tttttttt"tt

I 5

CHECK MODE S USINC THE MOVB AND MOV INSTRUCTIONS

; INSTRUCTIONS FAILED [N MODE S
; OR WRONG SEQUENCE

'"tttﬁti'titt'lttt'iﬁii'ttiittttttitii'iiiiitiﬁi.tttt‘ttt‘ttt'tttttt'tt.tt.'.

CHECK MODE 6 USING THE MOVB AND MOV INSTRUCTIONS

(RS , 461
EMODE6

(RS}

TEMP?

ATEMP RO
H#TEMPT ,R1
RTEMP? R?2
#252,0(R0)
#252,1(RO)
n 25252, TEMP

1(RO),0(RD)
2(R1) J5(R0O)
ngSZSZ.TEMP2

#225,.-(RS)
-~(RS)

TEMP]
#52525,0(RQ)
~4(R2) ,2(RQ)
#52525, TEMP1
MODE7

#226,-(R5)
-(RS)

; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; START (LEAN
. LOAD ADDRESSES

. LOAD TEMP (LOW BYTE)

; LOAD TEMP (HIGH BYTE)
; CHECK [T

; FAILED

; TEMP(H) ===> TEMP2(L)
; TEMP2(L) -===> TEMP2(H)
. CHECK IT

. OK, CONTINUE

; INSTRUCTIONS FAILED IN MODE 6
; START CLEAN

; LOAD TEMP

; TEMP -==> TEMPI

; CHECK IT

; OK, CONTINUE

; INSTRUCTIONS FAILED IN MODE 6
; OR WRONG SEQUENCE

SEQ 00el




J 5

(VKAAC MACY!T 30A(1052) (09-0(T-78 08:59 PAGE 62
(VKAAC.P11 (09-0('~78 08:58 162 (HECK MODE 7 USING THE MOVB AND MOV INSTRUCTIONS SEQ 006"
2304 R R R R L L T T T R
2305 DeTEST: 62 CHECK MODE 7 USING THE MOVB AND MOV INSTRUCTIONS
2306 R A R L R L e R A A R TR
2307
2308 01053% MODE 7 :
2309 01053¢ 021527 000062 (MpP (RS) ,#62
2310 0106540 001052 BNE EMOPE?7 ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2311 070542 005215 INC (RS)
2312 010544 005067 167370 (LR TEMP1 ; START (LEAN
2313 010550 012767 770136 167350 MOV #TEMP,ADR ; LOAD ADDRESSES
2314 010556 012767 000140 147344 Mov #TEMP1 ,ADR1 :
2315 010564 012767 000142 167340 MOV #TEMP?2 ,ADR?2 ;
2316 010572 012700 000126 MOV lADR.Ré ; LOAD ADDRESSES OF ADDRESSES
2317 010576 012701 000130 MOV #ADR1 ,R1 :
2318 010602 012702 €Lu132 MOV #ADRZ ,R2 ;
2319 010606 112770 000252 000000 MOVB #4252 ,a0(RQ) ; LOAD TEMP
2320 010614 1772270 177774 000002 MOvB 3=4(R2) ,82(R0) ; TEMP -=<> TEMPI]
2321 010622 122767 000252 167310 (MPR #4252, TEMP1 ; CHECK IT
2322 010630 001404 BEQ 1% ; 0K, CONTINUE
2323 010632 012745 000227 MOV #227 ,-(RS)
2324 010636 005245 INC -(RS)
2325 010640 000000 HAL T ; MODE 7 IS FAILING
2326 010642 012770 125252 000000 1%: MOV #125252,a0(R0) ; LOAD TEMP
2327 010650 017270 177774 000002 MOV @=4(R2’,82(R0) ; TEMP -=<=> 1EMP)
2328 010656 022767 125252 167254 (MP #125252,TEMPT  ; (HECK IT
2329 010666 001404 BEQ TSTRY 5 Ok, CONT!INUE
2330 010666 EMODE 7 :
2331 010666 012745 000230 MOv #230,-(RS)
2332 010672 005245 INC =(RS)
2333 010674 000C00 HALT ; INSTRU(CTIONS FAILED IN MODE 7
233 . OR WRONG SEQUEN"E
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000063

000136
000°40
017150
017150
000377
017236
017236
000200
177777

00023"

000232

(HECK BYTE INSTRUCTIONS, NOT DESTINATION MODE O SEQ 0062

CHEC< BYTE INSTRUCTIONS, NOT DESTINATION MODE O

e ii 824300222222 2300222223322 3222222282222 222 2232222323222 222222 s

LeTEST: 63 NEW INSTRUCTIONS USED IN THIS SECTION ARE TSTB, CLRB, ™MOVB

:.'tttt.tttt.tttt"'tti'tttt"tt'ti'ttt'ﬁttt'ttttttttttttttit‘tlttttttttttttt'

TSTR1:
CMP (RS) ,#63
BNE ETSTRI : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF TEST
28 INC (R5)
MOV #TEMP,RO : LOAD ADDRESSES
§?¥ #TEMPT,R1 :
CLRB  (RO) : CLEAR THE LOCATION
JSR PC,aN8CCh * CHECK FOR CC - 4
1STR (RO) Y CHECK IT
JSR PC,an$C (6 > CHECK FOR CC = &
MOVB  #377,(R1) © LOAD THE LOCATION
JSR PC,a#8CC10 > CHECK FOR CC = 10
TS1B (RT) * CHECK IT
JSR C.aN8CC10 * CHECK FOR CC = 10
MOV RO.R2 Y R2 IS NOW POINTING TO LOCATION TEMP
move  #200,0(R2) * PLACE #200 IN LOCATION TEMP
MOVB  (R2)+,-{(R1) * MOVE #200 TO LOCATION TEMP+1
ggg z;(R1). 100200 : CHECK THE DATA IN LOCATION TEMP
MOV #231,-(RS)
INC -(RS)
HAL T : MOVB INSTRUCTION FAILED
4%: P R1,R2 ' CHECK THE REGISTERS FOR PROPER VALUE
BEQ CMPR1
ETSTR":
MOV #232,=(RS)
INC -RSS
HALT ; MOVB INSTRUCTION FAILED OR WRONG SEQUENCE
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L S
NEW INSTRUCTIONS USED IN THIS SECTION ARE CMPB, BISB

SEQ 0063

';.tttttttt't.'tt"'tt'ttttttttt'ttt.ttt"ttt"ttt.tt'tttttttttt'tttttttt't‘t

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB

;:ttttﬁtttﬁ.tt."tt.tﬁﬁt"'it'.i'tttttttttt't‘tttttttt.ttttittttlttttt'ttttt‘

DeTEST: 64

CMPR1:
(MP
BNE

1%: INC
MOV
MOV
MOV
MOVA
B]ISK
JSR
(MPR
BEQ
MOV
INC
HALT

2%: (MPR
8PL
MOV

3% (MPB
ECMPRT:

(RS) 464
ECMPR1
(RS)
#TEMP2 R1
#TEMP,R2
#77,(R1)
#377 R4
R4, (R2)
PC.a#s$CC10
R4, (R2)

2%
#233,-(R5)
-(RS)

(R1),(R2)
3%

#2364 ,- (RS,
-(RS)

(R2),(R1)
BI(B1

#235,-(RS)
-(R5)

; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD ADDRESS

PLACE 77 IN LOCATION_TEMP2
R4 SHOULD CONTAIN #177777
LOAD LOCATION

CHECK FOR CC = 10

CHECK COMPARE

CONTINUE IF OK

BISB OR (MPB INSTRUCTION FAILED
(HECK 1T AGAIN
CONTINUE IF OK

CMPB INSTRUCTION FAILED [WRONG CC)
ONCE MORE
CONTINUE IF OK

MR AL R ARASAR ARl dR2R2RdRRRR22 2R X2 2222 s 22222222 ZRK 2]

NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, RITR

::kttttttﬁﬁ't.ﬁ.'*'t'l.t"’ttttttttttttQtt"ttttt"tt‘Qtl"tt‘ttt‘.lttt.t'tt.

SSTEST: 65

BI(B:
MP

3EQ
MOV
INC
HALT
2% INC
MOV
MOovB
MOV
MOV
MOVR
SCC
BI(R
JSR
BITB
BEQ
MOV
INC

(RS) 465

2%
#236,-(RS)
-(RS)

(R5)
#TEMP,RY
#377,(R3)
#TEMPT RO
RO‘R1
”2)2,\R1)‘

J(R0O), (R3)
PC, o481
=-1(R1),(R3)

4%
8:%7 ,-(RS)
-(RS)

.

.

’

Sea,amen,

[F IN WRONG SEQUENCE GO TC HLT BELOW

; PROGRAM IS IN WRONG SEQUENCE
; LOAD ADDRESS

LOAD LOCATION

E:h3(511HE ADDRESS OF LOCATION TEMP1 IN RO
PLACE #252 IN TEMPI

(LEAR EVERY OTHER BT
CHECK FOR (T - 1
CHECK T

CONTINUE I+ OK




msS
MACY11 30A(1052) 09=0CT-78 08:59 PAGE 65

P11 09-0C1-78 08:58 165 NEW INSTRUCTIONS USED IN THIS SECTION ARE BICB, BITE SEQ 00* .
011212 000000 HAL T : BICB OR BITB INSTRUCTION FAILED
011214 732713 000125 4% : BITR  #125,(R3) * CHECK IT
01122C 004737 917066 ISR PC,a#$CC] * CHECK FOR CC = 1
011224 154113 BISB  ~-(R1),(R3) 1 SET THE BITS THAT WERE CLEARED
011226 100404 BM] 63 : CONTINUE IF OK
011230 012745 000240 MOV #240,~(RS)
01123 005245 INC -(RS)
01123 000000 HALT ; BITB OR BISB INSTRUCTION FAILED
011240 012746 006177 €% : MOV #177.-(SP) * STORE #177 ON THE STACK
011244 142613 BICB  (SP)+,(R3) * CLEAR ALL THE BITS EXCEPT SIGN BIT
011246 006737 017256 JSR PC,a#8CC11 : CHECK FOR CC = 1N
011252 132713 (00377 BITB  #377,(R3) L CHECK IT
011256 004737 017256 JSR PC,a#8CC11 : CHECK FOR CC = 1N
011262 010300 MOV R3,R0 ' PLACE THE ADDRESS OF LOCATION TEMP IN R(
011264 012710 000149 MOv ATEMPT, (RO) ; PLACE THE ADDRESS OF LOCATION TEMP1 IN TEMP
011270 012730 000377 MOV #377.3(RO)+ " WRITE A 377 IN LOCATION TEMP1
0112764 000263 SEVC S SET v & C BITS
011276 145070 00000G BICB  a-(RO),a(RO) * BIT CLEAR THE CONTENTS
: OF TEMP1 TO THE CONTENTS OF TEMP
011302 004737 017172 JSR PC,aN8((S : CHECK FOR (CC = 5
011306 022027 000140 cMP (RO) + ,ATEMP] * MAKE SURE THAT (R0O) IS POINTING TO LOCATION TEMP1
011312 001404 BEQ 8%
011316 012745 000241 MOV #241,-(R5)
011320 005245 INC -(RS)
011322 000000 HALT : BICB OR (MP INSTRUCTION FAJ.ED IN THE SPECIFIC MODE
011324 005750 8%: TST a~-(R0O) ; TEST LOLATION TEMPI
011326 001404 i BEQ 108
011330 012745 000242 MOV #2462 ,-(RS)
011334 005245 INC -(R5)
011336 000600 . HAL T : BICB INSTRUCTION FAILED
01130 000257 108 : ccc
011342 46100 N BI(R (RO, (RO : CLEAR THE LOCATION TEMP
011344 C047%7 077750 JSR PC,a¥$C(4 ; (HECK FOR CC = 4
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(. AAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 66
(N AAC.PT1 09-0( T-78 08:58 166 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DE(CB SE0 0065
24(,6 ".-tttttttttttttttttttttttt.ttttttttttttttttttt‘tttttt-tttttt.tttttttt't'tttt'
2467 SATEST: 66 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DE(CB
2‘68 ;"tttt...ttttttttttttQﬁtttﬁtttttttttttttttttttttttttttttttt!tttttttt'ttttttt!
2669
2670 011350 INCB1:
2471 011350 021527 000066 cMP (RS) , 466
2672 011354 001067 BNE € INCBI : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2673 011356 005215 1$: INC (RS)
2676 011360 012706 00036 MOV #TEMP R ; LOAD ADDRESS
2675 011364 112714 000177 MOVB  #177.(R4) : TEMP LCCATION=177
2676 011370 000261 SEC
2477 011372 105214 INCB  (R4) : ADD ONES INTO LOCATION
2678 011376 004737 017320 JSR P, a#8CC13 * CHECK FOR CC = 13
2679 011400 012714 000374 MOV 4376, (R4)
2480 011404 012700 017256 MOV #$CC11.RO : MAKE RO POINT TO CHECKING ROUTINE FOR (C = 1?
2681 011410 105224 INCR (RG) + :
2482 011412 004720 JSR nC, (RO) + * CHECK FOR CC = M
2483 011414 105744 ISR -(R4) : DECREMENT R4 BY 1
2484 011416 005746 ST -{SP) : AND SP BY 2
2485 011420 010426 MOV R4, (SP)+ ; P_ACE THE ADDRESS GF TEMP ON THE STA(X
2486 011422 000247 cLC > CLEAR C BIT
2487 011424 105256 INCB a-(SP) ; INCREMENT THE C(CONTENTS OF LOCATION TEMP
2488 011426 004737 017150 JSR PC,a”%( 4 ; CHECK FOR CC = &
2689 011432 123634 CMPB a(SP)+,a(R4)+ ; RESTORE STACK POINTER
2490 011436 000261 SEC : SET C BIT
2491 011436 105264 177777 INCB -1(R4)
2692 011442 004737 017066 JSR PC,a#$CC) ; CHECK FOR CC = 1
2493 011446 124427 000007 (MPB  =(R&) 41 : CHECK IT
2494 011452 001404 BEG 2$ : CONTINUE IF OK
2495 011454 012745 0N0243 MoV #243%,-(RS)
2496 011460 005245 INC -(R5)
2497 011462 000000 HAL T : INCB INSTRUCTION FAILED
2498 011464 000261 2s: SEC
2499 011466 105314 DF(CB (R4 : SUBTRACT ONES FROM LOCATION
2500 011470 004737 017172 JSR PC.a#$CC5 : CHE(K FOR CL - §
2501 011474 105324 DECB (R )+
2502 011476 004740 JSR PC,~(RO) : CHECK FOR CC = 11
2503 C11500 112764 000200 177777 move  #200,-1(R4)
2506 011506 105344 DECB  ~(R4) .
2505 011510 004760 177650 JSR PC,$CC3-$CCIT1(ROY; CHECK FOR CC = 3
2506 011514 105364 000000 DECB  O(R&) :
2507 011520 004737 017066 JSR PC,a#$CC1 * CHECK FOR CC = 1
2508 011526 126427 000000 00077¢ (MPB  O(R/),#17¢
2509 (11532 001404 BEQ COMB1
2510 011534 EINCRI:
25N 011934 012745 000244 MOV 8244 ,-(RS)
2512 011540 005245 INC - (RS}
quz 011842 000000 HA! T , DELB INSTRUCTION FAILED OR SEQUENCE ERROR
TN
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NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB

'"'tt'tttttttttttttttt'ttttQQ'QQtt""t"'ﬁt"ttttttttttt.tt'.tttttttttt‘tttt

NEW INSTRUCTION IN THIS SECTION IS C(OMB

LATEST: 67

'-.-ttttttt!tttttt‘t"tttttttﬂtttttt'ttt'tttﬂttt't"ttt'tttttttltttt'tttttttttt

(OMB1:

1.

3%:

MP

(RS) ,#67
1%

#245 ,-(RS)
~(RS)

(RS)

#TEMP ,R3
#TEMPY R4
#252, (R4)
(RLY+, (R3)

(R3)
PC,a#8CC?
#4125, (R3)

2%
#246,-(RS,
-( 7))

(R3)
PC,a48$C(11
R4 RO

s
#247 ,-(RS)
-(RS)

#3777, (R4)+
~(R&) ,(R3)

(R3)
PC,a#8((%

4,
1(R0O), (R3)

; IF IN WRONG SEQUENCF GO TO HLT

; TEST IS IN WRONG SEQUENCE
; LOAD ADDRESS

; LOAD EVERY OTHER BIT

; 1°'S COMPLEMENT

; CHECK FOR (€ =1

; CHECK IT

; CONTINUE IF Ok

; COMB INSTRUCTION FAILED

; COMPLEMENT BACK
; CHECK FOR CC 1

; CHECK IT
; CONTINUE IF OK

; COMB INSTRUCTION FAILED
; PLALE #377 IN (R3)

; CHECK FOR CC - 5

'SEQ 0066
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MACY11 30A(1052) 09-0(T-78 08:?;0 PAGE 68

P11 09~0rT1<78 0B:58 NEW INSTRUCTION IN THIS SECTION IS NEGB SEG 0067
:.-atttttttttttttttttttttttttttt.'tttﬁttttttttttttﬁtttttﬁQtttttttttttttttttttt
1STEST: 70 NEW INSTRUCTION IN THIS SECTION IS NEGB
"'-ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttQtttttttttttttttt

011676 NEGH1 :

011676 (21527 00007C cMP (RS) ,470

011252 001027 BNE ENEGR1 : IF IN WRONG SEQUENCE GO TO HWLT AT THE END OF THE TEST

011704 005215 1¢: INC (RS)

011706 012700 000136 MOV #TEMP RO ; LOAD ADDRESS

011712 112710 200001 MOVB #1,(RO) ; LOAD THE LOCATION

011716 105410 NEGR (RO 2 2'S COMPLEMENT

011720 004737 017256 JSR PC,a#8CC11 : CHECK FOR CC - 1

011726 122710 000377 (MPB  #377,(RO) Y CHECK [T

011730 001404 BEQ 2% * CONTINUE IF OK

011732 (12745 000250 MOV #250,~(RS)

0117236 005245 INC -(RS)

0117240 000060 HALT ; NEGB INSTRUCTION FAILED

011742 012710 000200 2%: MOV #200, (RO)

011746 105410 NEGB  (RD) ; 2'S COMPLEMENT

011750 004737 017320 JSR PC.aN$CC13 * CHECK FOR CC 13

011754 122710 000200 cmPe #200, (RO) * CHECK IT

011760 001404 BEO ROLBT * CONTINUE IF OK

011762 ENEGR1:

011762 012745 000251 MOV #251,~(RS)

011766 005245 INC -(RS)

011770 000000 HALT ; WRONG RESUL™ AT TEMP DR WRONG SEQUENCE
:"ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
TeTEST: 71 NEW INSTRUCTION IN THIS SECTION IS ROLB
-"-tttttttttttttttttttttttlttttttttttttttttttttttttttttttttttttttttttttttt"tt

011772 ROLR1:

011772 021527 000071 c™MP (R5) , 471

011776 001030 BNE EROLA1 : IF IN WRONG SEQUENCE GO TO HLT ABOVE

012000 005215 INC (R5)

012002 012701 000140 MOV #TEMP1,R1 ; LOAD ADDRESS

012006 112711 000040 MOVB  #40,(RD) * LOAD LOCATION

012012 000257 cce * CLEAR FLAGS

012014 106111 ROIB  (R1) L SHIFT

012016 106111 ROLB  (R1) :

012020 004737 017300 JSR PC,a#8C(12 * CHECK FOR (C "2

012024 122711 000200 cwes #200, (R * CHECK IT

012030 001404 BEQ 1$ * CONTINUE IF OK

012032 012745 000252 MOV #252,~(RS)

012036 005245 INC - (RS}

012040 000000 HAL T ; ROLB INSTRUCTION FAILED

012042 10611 1%: ROLB  (R") Y OSHIFT

012044 004737 01724 JSR PC,a¥8$CC7 : CHECY FOR CC = 7

012050 106111 ROLB  (RT) L SHIFT

12052 122711 000001 CMPB  #1,(R1) Y CHECK IT

012056 007604 BEQ RORB1 * CONTINUE IF Ok

012060 FROLB1:

012060 012745 000253 MOV 253, ~(R5)

22066 005244 INC -(RS)
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D 6

NEW INSTRUCTION IN THIS SECTION IS ROLB

HA_T

; WRONG RESULT AT TEMP1 OR WRONG SEQUENCE

SEQ 0068
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E 6
NEW INSTRUCTION IN THIS SECTION IS RORB

SEQ 0069

33 2222232233222 22 222323222 222222 2232222222322 222 22222222222 RRR2RlRRtRRdd ]

NEW INSTRUCTION IN THIS SECTION IS RCRB

::ttttttttt"ﬁf"'tttttﬁﬁﬁ'tttﬁ‘ﬁtttttﬁt.tt‘ttttttltttttttttttttt.tttttt.tttt

TATEST: 72

RORRB1 :
(MP
BNE
INC
MOV

mMovs

qqe

RORB
RORB
{MPB

BEQ
MOV
INC

HALT
1¢: RCRB

JSR

«0RB

JSR

(MPB

BEQ
ERORR1 :

MoV

INC

HALT

(RS) 472
ERORS1
(R5)
#TEMP1 ,R2
#4,(R2)

(R2)
(R2)
#1,(R)

1%
#2546 ,~(RS)
-(R%)

(R2)
PC,a#8CC7
(R2)
PC,aN8$CC12
#200, (R2)
ASLAT

#255,-(RS)
-(RS)

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD ADDRESS
LOAD LCCATION
CLEAR FLAGS
SHIFT

CHECK T

CONTINUE IF OK

ROR3 INSTRUCTION FAILED
SHIFT

CHECK FOR CC 7

SHIFT
CHECK FOR CC = 12

; CHECK IT

CONTINMJE [F OK

WRONG RESULT AT TEMP1 OR WRONG SEQUENCE

R 2322 2 222222222233 8228 3282022333233 3222228222322 22200022 RRRRRdRd)

NEW INSTRUCTION IN THIS SECTION IS ASLB

:;t“ttttﬁ'ﬁ'ttltt'ﬁttﬁ'i‘tt'ﬁtttttttttttttﬁQttttt.t‘tt"tﬁtttttt't'ttttt't.t

LeTEST: 73

ASLBI1:

L% ASLB

(R5) 473
%

#256.,~(R5)
-(RS)

(RS)
BTEMPT R3
#40, (R%)

(R3)

(R3)

P #8C(12
ZZUC,(RB)

$
#257 ,~(R5)
-(RS)

(R
Fo,a¥8((7
(R%)

; 1f IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM IS [N WRONG SEQUENCE

LOAD ADDRESS
LOAD LOCATION
CLEAR FLAGS
SHIFT

CHECK FOR (C = "2
CHECK IT

; (ONTINUE IF OK

S, 0.8, N,

ASLB INSTRUCTION FAILED
SHIFT

I
(HECK FOR (C = 7
SHIFT
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173

71

F

6

NEW INSTRUCTION IN THIS SECTION IS ASLB

JSR

PC.a#%CC4

; CHECK FOR (C = 4

SEQ 0070
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59 PAGE 72
174 NEW INSTRUCTION IN THIS SECTION IS ASRR

SEQ 201

MACY11 30A(1052) 09-0CT-78 O08:
P11 09-0(1=78 08:58

012262

012262 021527 000074

012266 001040

01270 005215

012272 (12706 000140

312276 012703 000142

012302 112714 000004

512306 000257

012310 106274

012312 106214

012314 122714 000001

012320 007404

012322 012745 000260

012326 005245

012330 000000

012332 106214

01233 004737 017214

012340 106214

012342 004737 017150

012346 112713 000202

012352 106213

012354 106213

012356 004737 017256

012362 122713 000340

012366 001404

012370

012370 012745 00026

012374 005245

012376 000000

012400

612400 021527 000075

012404 001404

012406 012745 000262

0126412 005245

012414 000000

012416 005215 )

012420 012700 000142

012426 105010

012426 000257

012430 105510

012432 004737 01750

012436 000261

012440 105510

012442 000261

012444 105510

a4 2A 24322020002 0d222000222 0222080322383 222 2323223222233 2233222]1

NEW INSTRUCTION IN THIS SECTION IS ASR8

::QQ.ttﬁQtttttt.tttttttt'tttttttiiilttt.t‘tt'tt'ttttttt.tt.t....t.t.tl"!tt.'

SETEST: 76

ASRR1:
(RS) 474
s ?N% Ea§?81 ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
: N
MOV #TEMP1 R4 ; LOAD ADDRESSES
MOV RTEMP? ,R3 ;
MOVB #4,(RS) . LOAD LOCATION
CCC ; CLEAR FLAGS
ASRB (R4) ; SHIFT
ASRRB (RG) K
CMPR #1,(R4) ; CHECK IT
BEQ 2% ; CONTINUE IF OK
MOV #260,~(R5)
INC =(RS)
ALT . ASRB INSTRUCTION FAILED
2%: ASRB (R4) ; SHIFT
JSR PC.a78CC7 . CHECK FOR CC - 7
ASRR (R4) ; SHIFT
JSR PC,a#8CC4 ; CHECK FOR CC - &
MOVR #202, (R3) ; LOAD LOCATION
ASRB (RY) ; SHIFT
ASRB  (R®) :
JSR PC,a#8( (11 ; CHECK FOR CC - M
(MPR #340, (R3, ; CHECK IT
BEQ AD(CR1 : CONTINUE IF Ok
EASRB1:
MOV #261,=(RS)
INC =(RS)
HALT ; WRONG RESULT AT TEMP?2 OR WRONG SEQUENCE

A AR RAAAAARARAR 2222222222222 2222222222222 2222 2222222222222 22 2222 222X 2

NEW INSTRUCTION IN THIS SE(TION IS AD(B

::.'..'.Qi."'."'il"'tQ“'."t"""""'"Q"""""Q""t't""""'."t

S*TEST: 75

ADCR1:

™M (RS) ,#75

BEQ 2% ; IF IN WRONG SEQUENCE GO TO HLT BELOW

MOV #262,-(RS)

INC ~(RS)

HALT : FROGRAM IS IN WRONG SEQUENCE
2%: INC (RS)

MOv #TEMP? RO . LJUAD ADDRESS

(LRB (RG) : CLEAR THE LOCATION

ccc ;. CLEAR FLAGS

ADCR (RO) ; ~ADD CBI7V =0

é?? PC,a#8((4 ; CHECK FOR (CC = 4

AD(R (RO) ; ApD € BIT=?

SEC ; (-1

AD(R (RO) . AGAIN




H 6
09-0(7-78 08:59 PAGE 73
:58 175

“VKAAL  MACY'1 30A(1052)
(UKAAC.P11 090 T-78 08 NEW INSTRUCTION IN THIS SECTION IS ADCB SEQ 0072
2730 012446 004737 017046 JSR PC,a$CCO ; CHECK FOR CC = 0
2731 012452 122716 000002 CMPB  #2.(RO) : CHECK IT
2732 012456 001604 BEQ 4$ : CONTINUE IF OK
2733 012460 012745 000263 MOV #263,-(R5)
273 012464 005245 INC -(R5}
2735 012466 000000 HAL T : ADCB INSTRUCTION FAILED
273 012470 112710 600177 4$: MOVB  #177,(RO) : LOAD LARGEST POSITVE BYTE
2737 012474 000261 SEC (=
2738 012476 105510 ADCB  (RO) : ADD C BIT=1
2739 012500 004737 917300 JSR PC,aN$C(12 : CHECK FOR CC = 12
2740 012506 122710 000200 (M 2200, (RO) : CHECK [T
2741 012510 001404 8EQ 6$ : CONTINUE IF OK
2742 012512 012745 00024¢ MOV #264 ,~(R5)
2763 012516 005245 INC - (RS}
2764 012520 000000 HAL T : ADCB INSTRUCTION FAILED
2765 012522 112710 000377 ‘g MOVB  #377, (RO : _OAD -1
2766 012526 000261 SEC 2L
2767 012530 105510 ) ADCR  (RO) : ADD C BIT=1
2748 012532 004737 1777; SR PC,aAsCCS  (HECK FOR CC = S
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000000
1Me7n

000076
000265

000142
000003

017046
000003

000266

017046
000001

000267

017150
017256
000377
000270

000200

176

9 PAGE
7

74

I

NEW JNSTRUCTION IN THIS SECTION IS SB(B

-;ttt.tt'.tl'Qtﬁttt.'Qt"""'t"t'i"tt"tt.'.'.ttttttlQttQttt..ttt..tt'!tt'

NEW INSTRUCTION IN THIS SECTION IS SB(B

S*TEST: 76

.

SB(B1:

1%:

2%:

3%:

‘A ¥

cMP
BEQ
MOV
INC
HALT
INC
MOV
MOVR
toC
SB(R
JSR
CMPS
Bta
MOV
INC
HALT
SEC
SB(R
SEC
SB(R
JSR
CMPS
BEQ
MOV
INC
HALT
SEC
SB(R
JSR
SEC
SB(R
JSR
(MPB
8EQ
MmNy
INC
HALT
MCvR

(RS) 476
1%
#265,~(R5)
-(R5)

(RS)
4TEMP2 R
43.(R1)

(R1)
PC.a#%CC0
#2,(R1)

2
#256,~(RS)
-(RS)

(R1)

(R1)
PC.a#8CCO
#1.(R1)

3%

#8267 ,~(RS)
~(RS)

(R1)
PC,WS(CL
(R1)
PC,a#$CC11
#377,(R1)

3 ]
#270,=-(R5)
~(R5

#2G0, (R1)

':t.ttttt.i'ttiitii'iﬁ'ttt"'tttﬁt"titttttt.t.t.t......t!tttt"t'tt!.Q'ttttt

IF IN WRONG SEQUENCE GO TO HLT

TEST IS IN WRONG SFQUENCE

LOAD ADDRESS
LOAD LOCATION
CLEAR FLAGS
SUBTRACT C BIT=0
CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

?BgB INSTRUCT.ON FAILED

EG?TRACT ¢ BIT=1

CHECK FOR CC = O
CHECK IT

. CONTINUE IF OK

ngB INSTRUCTION FAILED

SUBTRACT C BIT=1
EH?CK FOR CC - &
SUBTRACT C BIT - 1
CHECK FOR CC = 11
CHECK IT

CONTINUE IF OK

SB(B INSTRUCTION FAILED
LOAD R

SEQ 0073
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FyKAAD MACY1Y 30A(1052) 09-0CT~-78 08:59 PAGE 7S
r /RAAC,PT1 09-0(7-78 08:58 176 NEW INSTRUCTION IN THIS SECTION IS SBCB SEQ 0074
2792 012710 00(:261 SEC s €=1
279% (12712 0561 SR(R (R1) ; SUBTRACT C Bl ]
279 N2716 06737 "M7106

JSR PC.a#8CC2 ; CHECK FOR ((C =

2
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005720
004737
010040
012730
017¢11
006737
005711
004737

000077
000271

000136
000140
017150
017150
177777
177776
017236

017236

(HECK WORD INSTRUCTIONS, NOT DESTINATION MODE 0

CHECK WORD INSTRUCTIONS, NOT DESTINATION MODE O

CCARARANAANAAAANAAAANAASAANANNAANARNAAANAANARNARARN T AAARRAAANIANAA ARt an et a s

TeTEST: 77 NEW INSTRUCTIONS USED IN THIS SECTION ARE TST, (LR, MOV

:.'QQQtt*tt.l’l’tl’tl’ﬁl’*ﬁtl’tttttttttttﬁtt'tl’*tt*tt.'t!.QQtﬁ'!'ttt.!'!t"t!ttttttt

1ST1:

(MpP (RS) , 477

BEQ 19 ¢ IF IN WRONG SEQUENCE GO TO HLT

MOV #271,-(RS)

INC -(RS)

HALT ; TEST IS IN A WRONG SEQUENCE
1%: INC (RS)

MOV #TEM? R ; LOAD ADDRESSES

2?! #TEMP1 RO :

(LR (RO) s CLEAR THE LOCATION

JSR PC,a#8CC4 ; CHECK FOR CC = 4

TST (RO)+ ;s CHECK [T

JSR PC.aN$CC4
MOV RO, =(RC)

MOV #177777,8(RO) +
MOV @~2(R0O) . (R1)
JSR PC,a#$CC10

ST (RT)

JSR PC.a#$CC10

CHECK FOR (C = 4

LOAD THE LOCATION
CHECK FOR CC = 10
CHECK [T

CHECK #OR CC = 10

SEQ 0V/°
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001404

057432

010200
025027
001404
012745
005245
000000
020227

001404

001404
072745

08:5

000100

000140
300136
177777

017236
177777

000272

000142
000273
000077
017066
077777
017320
077777
017236

052525
000142

177776

177777
000274

000142
000275
164712
000002
000136

000276

09-0C71-78 08:59 PAGE 77
:58 1100

G04
774

——
rOn
Hun

164672

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

L 6

A 2222222222222 ARRRRRARRRdldRRR Rl R RRRRRR2RRRRRRRRRRRRRRRRRRRRRRRRRA )

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

;:ttt.t.t'ttttt.tﬁﬁt.‘.t...t...‘tt.tt‘.t‘...tttttttttttttttttttttttttt"tttt'

S*TEST: 100

(MP1:
CMP
BNE

1%: INC
MOV
4 (01Y]
MOV
8IS
JSR
() ad
8EQ

2%: (MP

3%: (MP

43%: CMpP

5%: CLR

(R5) ,#100

#TEMP RO
#177777,(RO) +
-(RO), (R2)
PC,a#$CC10
(R2)+,4177777

2%
#272,-(RS)
-(R5)

Rg.#TEMP1+2

3
#273,-(RS®
-(R5)

#77.-(R2)
PC,a#8CC1
#77777.(R2)+
PC.a$CC13
-(R2) 477777
PC,ar$CC10
#52525, TEMPD
ATEMP2 . TEMP]
#ADR R4

#ADR1, (R4)
#125252,a(R4) +
-2 (R4) Ja(R2) +

R2,RO
a-(R0) 4177777
4%

#274 ,~(RS)
-(RS)

R ATEMP1+2

5%
#275,~(R5)
-(R5?

-(RO)

RO, TEMP?
(RO)+, (RO) +
a~(RO) .32 (RO)
#TEMP, TEMP
BIC1

#276,-(RS)

I A PR TRE YR Y

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE EST

LOAD ADDRESS

PLACE THE _ADDRESS OF TEMP [N RO

PLACE #177777 IN LOCATION TEMP AND INC. RO BY 2
LOAD LOCATION

CHECK FOR CC = 10

CHECK COMPARE

CONTINUE IF OK

(MP OR BIS INSTRUCTION FAILED
CHECK R2 TO CONTAIN ADDRESS OF TEMP1+?2

; NO _AUTO INCREMENT

CHECK IT AGAIN
CHECK FOR CC =1

; CHECK FOR CC = 13

ONCE MORE

CHECK FOR CC = 10

SET EVERY OTHER BIT IN TEMP?2

PLACE THE ADDRESS OF TEMP2 IN LOCATION TEMPI

; PLACE THE ADDRESS OF ADR1 IN ADR POINTED BY R<
; PLACE THE #125252 IN LOCATION ADR1

; SET EVERY OTHER BIT AT LOCATION TEMP2

; AND INCREMENT RZ2 BY 2

. PLACE ADDRESS OF TEMP2 IN RO

; TEMPZ2 SHOULD CONTAIN ALL 1°'S

; CMP OR BIS INSTUCTIONS FAILED IN MODES OTHER THAN 0

% R2 SHOULD CONTAIN THE ADDRESS FOR TEMP?

[.E. TEMP142

MODE 5 IS FAILING

PLACE A O IN LOCATION TEWP

PLACE ADDRESS OF TEMP [N LOCATION TEMP?

BUMP RO BY 4

PLACE THE CONTENTS OF LOCATION TEMP2 AT TEMP
LOCATION TEMP SHOULD CONTAIN ITS OwN ADDRESS

SEQ 0076
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0c0101

000136
177777

000126
000130
000140
125252
017066
000277

052525
017066
000000

006300

077777
177776
017256
000142

000301

09-0(7-78 08:5
00

78

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

INC

HALT

SATEST: 101

::lttt.*tt.t*ttt*Qtttttt*t*ttttttttttﬂﬂttQtttttt'tttttttttttttttttt'tt'tttttt

CMP
BNE
INC
MOv
MoV
MOV
MOV
MOV
MoV
MOV

M6

-(R%)

; CMP OR BIS INSTRUCTIONS FAILED OR WRONG
; SEQUENCE COUNTER

SR A28 RRRRRRRRRRRRRRRiRRRlRt 2Rl 2200280222 20302 22222232 22 X2 ]

NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT

(RS) ,#101
eRICH
(R5)
#TEMP,R3
2177777 (R3)
#ADR R4
#ADRT, (R4)
(R3),a(R&)+
#TEMP1,RO
#125252, (RO)

(RC) +, (R3)
PC,a#%CC1
-(R0O), (R3)
1%
#27¢,-(RS)
-(R5)

#52525, (R3) _
PC,8CC]
0(RO), (R?)

2%
#300,-(RS)
-(R5)

077757.(R0)0

RO.R
-2(R2), (R3)
PC,a#8CCM
RO, ATEMP1+2

3$
#301,~(RS)
~(RS)

RO, (RO) +

a-(RO) .RO
PC,a#8(CS
3~2(R4) , (R3)
PC,a48C (11
#125252,-(SP)

a-2(R4) , (R3)+

0(sP) ,~(R3)
(R +, 852525
4%

AR R X N

; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; LOAD ADDRESS

; LOAD LOCATION

; PLACE THE ADDRESS OF ADR IN R4

; PLACE THE ADDRESS OF ADR1 IN_ADR

: LOAD LOCATION ADR1 WITH #177777

; P_LACE THE ADDRESS OF TEMP1 IN RO

; SET EVERY OTHER BIT AT LOCATION TEMPI

; CLEAR EVERY OTHER BIT
; CHECK FOR (C = 1

; CHECK 1T

; CONT e IF OK

BIC OR BIT INSTRUCTION FAILED
CHECK IT

CHECK FOR CC =1

SET THE BITS THAT WERE CLEARED
CONTINUE IF OK

; BIT OR BIS INSTRUCTION FAILED
; SET ALL THE BITS AT LOCATION TEMP1 EXCEPT SIGN BIT

; TRY CLEARING THE OTHER BITS
; CHECK FOR CC - N
: RO SKOULD CONTAIN THE ADDRELS OF TEMP1+?

FLACE THE ADDRES OF LOCATiON TEMPZ2 IN TEMP2
SET v & C BITS

CLEAR RO

CHECK FOR CC - 5

CHECX IT

CHECK FOR CC = NI

SET EVERY OTHER BIT ON THE STA(K

; SET ALL THE BITS AT LOCATION TEMP
. CLEAR EVERY OTHER BIY AT LOCATION TEMP
; TEMP SHOULD CONTAIN # 52525

SEQ 0077




N 6

MACY'1 30A(1052) 09-0CT-78 08:59 PAGE 79
P11 05-0(T-78 08:58 7101 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(, BI' SEQ 0078

01372 012745 000302 MOV #302,-(RS)

013476 00524 INC -(RS}

013500 000000 HAL T ; BIC FAILED IN MODE 6

013502 012700 000744 4% MOV NTEMP2+2 RO : PLACE THE ADDRESS OF TEMP2+2 IN RO

013506 010340 MOV R3,~(R0) : PLACF THE ADDRESS OF TEMP1 [N TEMP?

013510 014330 MOV -(R3),8(R0)+ - MOVE # 52525 IN LOCATION TEMPI

013512 000262 SEVC P SET v & C BITS

013514 035026 8IT @-(R0),(SP)+  : BIT TEST TEMPT WITH STACK AND RESTORE STA(K POINTER

013516 004737 017172 JSR PC,aHSCC5 * CHECK FOR CC = S

013522 020627 00450 cMP SP.#START * MAKE SURE THAT THE SP IS OK

013506 001404 BEQ INC1

013530 ) FRICT:

013530 012745 57307 MoV #303,-(R5)

013534  $05245 INC -(R5)

01353 000000 HA( T ; STACK POINTER FOULED UP OR SEQUEN(F E&ROR
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MACY'1 30A(1052) 09-0(7-78 08:59 PAGE 80 |
Pl 09-0('~78 08:58 1102 NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC SEQ 007«

(8 3322323223233 2382222222222 2R R R 2R R R Rt RiRttRRRRRRRRRRRlRl Rl

SHTEST: 102 NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DE”

::t"tt..".t..t'ttt.ttt".tttttﬁtttt.t.t..tttttttt.t'ﬁ..'.t.QQtﬁﬁﬁtﬁtQ'.t.t.

013540 INCT:

013540 021527 000162 (MP (RS) ,#102

013544 001404 BEQ 2% : IF IN WRONG SEQUENCE GU TO HLT BELOW

01%546 012745 000304 MOV #304 ,-(RS)

013552 005245 INC -7RS)

013554 000000 HAL T : PROGRAM IS IN WRONG SEQUENCE

013556 005215 2%: INC (RY)

01;560 012704 000140 MOV A#TEMP1 R4 . LOAD ADDRESS

013564 012714 077777 MOV 877777 (RG) L TEMPY = 77777

013570 000261 SEC

013572 005214 INC (R4) : ADD ONES INTO LOCATION

013574 004737 017320 JSR PC,a#$CC13 . CHECK FOR CC = 13

013600 012714 177776 MOV 2177776, (R&4)

013604 012700 000136 MOV ATEMP RO : RO IS POINTING TO LOLATION TEMP

013610 012710 917256 MOV 2#$CC11, (RO) » PLACE THE ADDRESS OF SUBROUTINE TO CHECK CC - 11

: IN LOCATION TEMP

013614 005214 INC (R&) :

013616 004730 JSR PC.a(RO)+ * CHECK FOR CC = 11

013620 005214 INC (R&) :

013622 004737 017172 JSR PC.,a#$CCS * CHECK FOR (( = 5

013626 005214 INC (R&)

013630 004737 017066 JSR PC,a#$CC1 : CHECK FOR CC = 1

013634 026427 000000 070001 P 0(R&) 41 : CHECK IT

12642 001404 8EQ 4% * CONTINUE IF OK

013644 012745 000305 MOV #305,=(RS)

013650 005245 INC ~(R5)

013652 000000 HALT ; INC INSTRUCTION FAILED

013654 000261 4% SEC

013656 005314 DEC (R&) : SUBTRACT ONES FROM LOCATION

013660 004737 017172 JSR PC,48CCS * CHECK FOR CC = &

013664 005314 DEC (R&)

013666 004770 177776 JSR PC,a~2(R0) : CHECK FOR CC = M

012672 012714 100000 MOV #100000, (R4)

013676 005314 DEC (R&) :

013700 004737 017126 JSR PC.aN8C(3 * CHECK FOR CC - 3

013704 005314 DEC (R&) :

013706 004737 017066 JSR PC,a#8CC? * CHECK FOR CC = 1
;;tt!tt..tttt.t.tttttt'tt"'ttttttttttttttttttttttt'ttttttQ'Qt'tttttt"tt'ttt
S«TEST: 103 NEW INSTRUCTION IN THIS SECTION IS COM
;;ttttttttttttt't'tttttt'tltttttttqtt't‘nttttttttttttt'.ttttt.'ttt‘tt....tatt

013712 ToM1:

013712 021527 0001C3 cMP (R5) ,#103

013716 001404 BEQ 1% : IF IN WRONG SEQUENCE GO TO HLT

013720 012745 000306 MOV %06,~(R5)

013724 005245 INC ~(RS)

013726 000000 HAL T : TEST IS IN WRONG SEQUENCE

013730 0052'S % INC (nS)

012732 012703 00040 MOV STEMP? R3 ; LOAD ADDRESS




MACY11 30A(1052)
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013770

014032

012713

004737

09-0CT=~78 08:5
1103

125252

052525
000307

017256
125252

000310

177777

017172

2%:

7%:

9 _PAGE 81
1 NEW INSTRUCTION IN THIS

MOV
SCC
com
JSR
4
BEQ
MOV
INC
HALT
SCC
(OM
JSR
(MP
BEQ
MOV
INC
HALT
MOV
MOV
SCC
oM
JSR

c 7

#125252, (R3)
0(R3)
PC,a#$CC1
#58525, (R3)
23

#307 ,-(RS)
-(RS)

(R3)+
PC,aNsCC I
a;észsz.-<ns>

3
#310,-(RS)
-(R5)

R3,R0
#1°7777,(RO)

(RO)
PC,a#8(C5

SECTION IS (OM

LOAD EVERY OTHER BIT

1'S COMPLEMENT
CHECK FOR CC =1
CHECK IT
CONTINUE IF Ok

COM INSTRUCTION FAILED

COMPLEMENT BACK
CHECK FOR CC = 11
CHECK IY
CONTINUE IF Ok

COM INSTRUCTION FAILED
RO IS NOW PCINTING TO LOCATION

; (HECK FOR (CC - 5

SEQ 008U

TEMP1 l
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ryKAAC P11 09-0( T-78 08:58 1104 NEW INSTRUCTION IN THIS SECTION IS NEG SEQ 0081
w“ 2222333223332 32233323233223222232223323222232232322323222223222222Z2X2 2222222820 d%22 2]
3037 -rssr 104 NEW INSTRUCTION IN THIS SECTION IS NEG
wsa ’- (222223323323 323 332222222222 2232232222222222 2221222222222 RRREARE22ZARERZARRZ 2 8]
3039
3040 014036 NEG1:

30641 014036 221527 000104 cMP (RS) ,#104

30642 014062 001033 BNE ENEGT : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3043 014044 005215 1%: INC (RS)

3044 014046 012704 000140 MOV #TEMP1,RG : LOAD ADDRESS

30645 014052 012724 000007 MOV c1 (RG)+ : LOAD THE LOCATION

3046 014056 010402 MOV R2

3047 014060 012762 100000 000400 MOV #100000 0(R2)

3048 014066 005444 NEG -(R& : 2'S COMPLEMENT

3049 014070 004737 017256 JSR PC a#scc11 * CHECK FOR CC - 11

2050 0164076 022724 177777 cMP #177777.(R&)+ - CHECK IT

3051 014100 001404 BEQ 2% : CONTINUE IF OK

2052 014102 712745 000311 MOV #311,-(RS)

23053 014106 (05745 INC -(RS)

3054 014110 OULIOU HALT : NEG INSTRUCTION FAILED

3055 014112 016444 000000 2%: MOV 0(R4) ,~(R&) : TEMP1 CONTAINS THE LARGEST NEGATIVE NUMBER
3056 014116 005414 NEG (R&) : 2'S COMPLEMENT

3057 014120 004737 017320 JSR PC,a#$CC13 > CHECK FOR CC = 13

3058 014126 026214 100000 cMP 0(R2), (R&) ; CHECK 17

3059 014130 001404 BEQ ROL1 : CONTINUE IF OK

3060 014132 ENEGT :

3061 014132 012745 000312 MOV #312,~(RS5)

3062 014136 005245 INC ~(RS)

3063 014140 000000 HALT : WRONG RESULT IN TEMP2 OR WRONG SEQUENCE
3065

3066

3%7 (R332 2233323222323 3332232033224 32282322232322223232332322234243322323232323223222342223234223234§¢8)]
2068 ansr 105 NEW INSTRUCTION IN THIS SECTION IS ROL

3%9 " 23 2222332233333 3222322233 2222232832230 223232322233232323232233232223323224223223323222]
3070

3071 014142 ROLT:

3072 014142 021527 000105 cMP (R5) 4105

3073 (014146 001032 BNE EROL1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3074 014150 005215 INC (RS)

3075 014152 012701 000142 MOV #TEMP2 R : LOAD ADDRESS

3076 014156 012711 020000 MOV #20000, (R1) > LOAD LOCATION

3077 016162 000257 ccc * CLEAR FLAGS

3078 014164 006121 ROL (R1)+ s SHIFT

3079 014166 006141 ROL ~(R1) :

3080 014170 004737 017300 JSR PC,a¥80C12 : CHECK FOR CC - 12

3081 014174 022711 100000 CMP x1boooo (R1) * CHECK IT

3082 014200 001404 BEQ : CONTINUE IF OK

2083 (14202 012745 000313 Y, ~313 ~(RS)

3084 0146206 005245 INC ~(R5S)

3085 014210 000000 HAL T : RG. INSTRUCTION FAJLED

3086 C14212 006161 000000 ‘s ROL 0(R1) : SHIFT

3087 (014216 004737 01721¢ JSR PC,aNs((7 s CHECK FOR CC - 7

3088 (014222 0i01C2 MOV R1,R2 : R2 IS NOW POINTING TC LOCATION TEMPZ

3089 014226 006112 ROL (Ré) Y OSHIFT

3090 01622¢ 0227'1  {NOOQT (MP ,(R1) ; CHECK [T

3007 1623, 007404 BEG ROR1 : CONTINUE IF Ok




E 7
fvKAAL MACY'1 30A(7052) (9-0CT-78 08:??059465 83

CUKAAL P 09-0(1-78 08:58 NEW INSTRUCTION IN THIS SECTION IS ROL SEQ 0082
3092 014234 EROLT:
3093 01423 012745 000314 MOV #314 ,-(RS)
3096 01424C (5245 INC =(RS)

3005 Cl4z47 Q00000 HALT ; WRONG RESULT AT TEMP2 OR WRONG SEQUENCE




F 7
(VKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 84
P 8:58 T

CVKAAC.P11  09-0(T-78 0 06  NEW INSTRUCTION IN THIS SECTION IS ROR SEQ 0083
3096 A A R R KA R AR T AR NN AN RN RN R AN R N A AN R NN RN AN R AN R TN AN RO
097 ;«TEST: 106 NEW INSTRUCTION IN THIS SECTION IS ROR
2008 P T e e A e R e L e LA L R A AR LA R AR ARl
3099
3100 014244 ROR1:

3101 014244 021527 Q0010€ (MP (RS) ,#106

3102 014250 001030 B8NE EROR ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3103 014252 005215 INC (R5)

3104 0162564 012702 000142 MOV #TEMP? ,R2 . LOAD ADDRESS

3105 014260 012712 200004 MOV #4,(R2) . LOAD LCCATION

3106 014266 000257 {CC ;. CLEAR FLAGS

3107 014266 006012 ROR (R2) s SHIFT

3108 014270 006012 ROR (R2) :

3109 014272 022712 000001 {MP #1,(R2) . CHECK IT

3110 014276 001404 BEQ 19 . CONTINUE IF OK

3111 014300 012745 00035 MOV #315,-(RS)

3112 016304 005265 INC -(RS)

3113 014306 000000 HALT ; ROR INSTRUCTION FAILED

3114 014310 006012 1%: ROR (R2) ; SHIFT

3115 014312 004737 017214 JSR PC,a#8C(C7 ; CHECK FOR CC - 7

3116 014316 006012 ROR (R2) ; SHIFT

3117 014320 004737 017300 JSR PC, a48CC12 ; CHECK FOR CC - 12

3118 014324 022712 100000 CMP #100000, (R2)  : CHECK IT

3119 0146330 001404 BEQ ASL1 . CONTINUE IF OK

3120 014332 EROR1:

3121 014332 012745 000316 MOV #316,~(RS)

3122 014336 005245 INC =(RS)

%}sz 014340 000000 HALT ; WRONG RESULT AT TEMP2 OR WRONG SEQUENCE
3125

3126

3127 PR R e A L A et d ittt ittt iiiiiiil
3128 J«TEST: 107 NEW INSTRUCTION IN THIS SECTION IS ASL

2129 IR R AN AN AR S A AR A R R A R AN R AN R R AN R NN AR AN AN AN NN NN I AN NNRN
3130

3131 01432 ASL1:

3132 014342 021527 000107 (MP (RS5) 2107

3133 01436 001404 BEQ 2% ; IF IN WRONG SEQUENCE GO TO HLT BELOW
3134 014350 012745 000317 MOV #3i7,=(RS)

3135 014354 005245 INC -(R5)

3136 014356 000000 HALT : PROGRAM IS IN WRONG SEQUENCE

3137 014360 005215 2%: INC (R5)

3138 016362 012703 000142 MOV #TEMPZ R ; LOAD ADDRESS

3139 014366 012713 020000 MOV #20000, (RY) ; LOAD LOCATION

3140 014372 000257 (CC ; CLEAR FLAGS

3141 014374 006313 ASL (R3) s SHIFT

2142 014376 006313 ASL (R3) ;

3143 014400 004737 017300 JSR PCAG#$CC12 . CHECK FOR CC - 12

3144 014404 022713 100000 (MP #100000, (R3) ; CHECK [T

3145 014410 001404 BEQ 4% ; CONTINUE IF OK

3146 014412 012745 000320 Mov #320,-(RS)

3147 014416 (05245 INC -(RS)

3148 07«20 000000 HALT ; ASL INSTRUCTION FAILED

3149 014422 006313 6% ASL (R3) ; SHIFT

3150 0144246 004737 077274 JSR FC,a#8CC7 ; CHECK FOR CC = 7

3151 01443C 006313 AS| (R%} : OSHIFT




(vKMA( MACYTT 30A(1052) 09-0CT~78 08:59 PAGE
CyKaAC . P11 05-0(1=78 08:58 1107

5152 0746432 004737 017159

85

G 7

NEW INSTRUCTION IN THIS SECTION IS ASL

JSR

PC,a48( (4

.

; CHECK FOR (C

4

StQ 008~
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MACY11 30A(1052)

P11

014554
014554
014560
014562
014566
014570
014572
014574
014600
014602
014604
014606
014612
014614
014616
2146627

09-0C1-78 08:58

001404

012745
005245
000000

021527
001404

000110

000142
00136
000604

000091
00032°

017214
017150
100602

017256
160000

000322

000111
000323

000136

017150

09-0C7~-78 08:5?10PAGE 86

T

H 7
NEW INSTRUCTION IN THIS SECTION IS ASR

SEQ 0085

2232222222232 3 2323232382233 22323222222 8222223222220 2Rl RtRtlll Rl ld)

NEW INSTRUCTION IN THIS SECTION IS ASR

""QQQ'.Q""Q'""'t't"'tt""""""ﬁ".""""..'tt"t!.'lltl"""l'l'l

SeTEST: 110
ASR1:

15: INC

2%: ASR

EASRY:

HALT

(R5) ,#110

2%
4321,-(R5)
=(R5)

(RG)
PC,a78CC7
(R&)

PC,aN8CC4
#100002., (R3)
(R

(R?)
PC,a#8CC1
#160000, (R3)
ADCY

#322,-(R%)
=(RS)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
LOAD ADDRESSES

LOAD LOCATION
CLEAR FLAGS
SHIFT

CHEC IT
CONTNUE IF OK

ASR INSTRUCTION FAILED
SHIFT

CHECK FOR CC = 7

SHIFT

CHECK FOR (C = 4

LOAD LOCATION

SHIFT

CHECK FOP (C - 17

CHECK IT
CONTINCE IF Ok

WRONG RESULT IN TEMP OR WRONG SEQUENCE

X 2223222222222 2222828222222 222022202 20d0RRRiR ARl lldldllddd

NEW INSTRUCTION [N "HIS SECTION IS AD{

::'Q'l’"".t.""".""'.tit."'.'Q.'.Q'.'..."."'."""". (42222208 4% AR R4

SETEST: 111

aAD(C1:

cMP
BEQ
MOV
INC
HALT
2%: INC
MOV
(LR
cCC
ADC
JSR
SEC
ADC
SEC
ADC

(RS) ,#111
$

2
#323,-(RS)
-(R%)

(RS)
#TEMP RO
(RC)

(RO)
PC,a#8C(4

(RO)
(RO)

IF IN WRONG SEQUENCE GO TO HLT BELOW

FROGRAM [S IN WRONG SEQUENCE

; LOAD ADDRESS

CLEAR THE LOCATION
CLEAR FLAGS

ADD C BIT = 0
CHECK FOR (C 4

C
apD ¢ BIT=?
=1

;. AGAIN




MACY'1 30A(1052)

PN

014622
014626
014632
016634
014640
014642
014644
014650
014652
014654
014660
014664
0146666
014672
014674
014676
014702
014704
01470¢

09-0(7-78 08:58

004737
022710
001404
012745
005245
000000

012710

017046
000002
V00324
077777
217300
100000
000325
177777

177 7¢

09-0(T1-78 08:5?11PAGE

T

A ¥

6%

87

NEW INSTRUCTION IN THIS

JSR

1 7

SECTION IS ADC

PC,a#8(C0 s CHECK FOR (C = 0
#2, (RO) s CHECK IT
43 ; CONTINUE IF OK
#3264 ,-(RS)
-(R5)

s ADC INSTRUCTION FAILED
#77777,(R0O) H %O?D LARGEST POSITVE NUMBER
(RO) : ADD C B8IT=1
PC,a#8CC12 s CHECK FOR CC = 12
#100000, (RO) s CHECK 1T
6% ; CONTINUE IF OK
#325,-(RS)
-(RS)

; ADC INSTRUCTION AILED
#-1,(RO) H %O?D -1
(RO) ; ADD C BIT=1
PC.a#%C(5 : CHECK FOR (C = S

SEW 00&-




MACY11 30A(1052)

N30 09-0(71-78 08:

014712
014712

14764

021527
001026

000112
00032¢

000136
000003

01704€
0000C3
0003¢7

017046
0000C1

000330

017150
017256
177777
000331
100000

017106

000113

09-0('-78 08: 59 PAGE 88
58 1112

tTEST

SB(C1:

1%:

2%:

5%:

4%:

J 7

NEW INSTRUCTION IN THIS SECTION 1S SBC

't'...t.ttt..'i......t..'..'tt"t..tt.'tt't'.tt'tttt'QQQQ'QQQQ".""""l'

NEW INSTRUCTION IN THIS SECTION IS SBC

""."t't't..t...t.'......"..tttt'.tt..t"'it'.'i"t"'."""'Qt""tllt

112

MP

(RS) 4112
s

1
#326,~(R%)
~(R5)

(RS)
4TEMP,R1
#3,(R1)

(R1)
PC,a#8((0
43,(R1)

2%
#3227 ,=-(RS)
-(R5)

(R1)

(R1)
PC,a#$CC0
#1,(R1)

3%
‘330 ‘(RS/
-(RS)

(R1)
PC,34#8((s

(R1)
PC,a#8CC11
#-1,(R1)

4%
#331,-(R5)
-(RS)

#100000, (R1)

(R1)
PC.aa8C(2

IF IN WRONG SEQUENCE GO TO HLT

TEST IS IN WRONG SEQUENCE

LOAD ADDRESS
LOAD LOCATION
CLEAR FLAGS
SUBTRACT C BIT=0
CHECK FOR (C = 0
CHECK IT
CONTINUE IF OK

SBC INSTRUCTION FAILED

(=1
EU?TRACY ¢ 81T=1

(HECK FOR (C = O
CHECK IT

SB% INSTRUCTION FAILED

¢
SUBTRACT € BIT=1
CHECK FOR CC - &

=1

SUBTRACT C BIT =
(HECK FOR (C = 11
CHECK IT

CONTINUE [F OK

SBC INSTRUCTION FAILED
LOAD R1

C 1
SUBTRACT ( BI =
CHECK FOR (C 2

R 2322222232222 22222323323 332232222 3322222222222 2220 8RR RdRtdRl Raldlddd]

NEW INSTRUCTION IN THIS SECTION IS SXT

;:l...lt"tt.tﬁ"tt.l'.'t"t"tt't""t'"."Q""l'l".."""".t't."l"tt

SETEST:

SXT?*:

113

™MP
BNF

(n<),~13
ESXTI

SEQ OU8

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST




K 7
MACY'1 30A(1052) 09-0CT-78 08:59 PAGE 89
113 SEQ 0088

P 09-0CT1-78 08:58 T NEW INSTRUCTION IN THIS SECTION IS SXT
015102 005215 18: INC (RS)
015104 012702 000140 MOv #TEMPT R2 . LOAD ADDRESS
915110 005012 CLR (R2) ; CLEAR LOCATIONS
01512 000277 SCC
015114 000254 CLNZ
015116 006712 SXT (R2) ; SIGN EXTEND
015120 004737 (017172 JSR PC,aN$CC5 s CHECK FOR (CC = 5
015124 005712 TST (R2) ; LOCATION SHOULD STIiL BE O
015126 001404 BEQ 2% . CONTINUE IF Ok
01513C 012745 00332 MOV #332,-(R5)
015134 005245 INC -(RS)
015136 000000 HALT s SXT INSTRUCTION FAILED
015140 000273 2%: SENVC : SET N, V& CBITS
015142 006712 SXT (R2) ; SIGN EXTEND
015144 004737 017256 JSR PC,a#$CCN ; CHECK FOR CC = M
015150 022712 77777 CMP #-1,(R2) ; LOCATION SHOULD NEW HAVE -1
015154 001404 BEQ SWAB1 . CONTINUE IF OK
015156 Foxrr:
015156 012245 000333 MOv #333,-(R5)
015162 005245 INC =-(R5)
015164 000000 HAL T ; WRONG RESULT IN TEMP1 OR WRONG SEQUENCE




L 7
(WKAAL MACY11 30A(1052) 09-0('-78 08:59 PAGE 90
(VKAAC.PTI 06-0{"-78 08:58 1114 NEW INSTRUCTIOON IN THIS SECTION IS SWAB SEQ 0089

3305 ‘—‘-tttttttttt.tttttt!'t'tttttttttttttttttttt'tt.'t"""'t.t.t't"""'t'ttttt
3304 LSTEST: 114 NEW INSTRUCTIOON IN THIS SECTION [S SWAB

3307 '-'-t"....tt.tttt.ttt'ttttt.tttttttt"tttt.ttttttt.tttttttttltttl.t'tt.ttttt.t
3308

3309 015166 SWAB " :

33170 015166 02152 000114 c™P (RS) 4114

3311 015172 00103 BNE ESWAR1 : IF IN WRONG SFQUENCE GO TO HLT AT THE END OF THE TEST
3312 015174 005215 INC (RS)

3313 015176 012703 000142 MOV #TEMP? R3 : LOAD ADDRESS

3314 015202 012773 125125 MOV #125125, (R3) * LOAD BIT PATTERN INTO LOCATION

3315 015206 000277 5CC

3316 015210 900250 (LN

3317 015212 000313 SWAR (R3) ; SWAP BYTES OF LOCATIONS

3318 015214 004737 017236 JSR PC,a#$CC10 " CHECK FOR CC = 10

3319 015220 022713 052652 ™P #52652, (R3) © CHECK IT

3320 0152264 007404 BEQ 1% : CONTINUE IF OK

3331 015226 012745 000334 MOV #334,-(R5)

3332 015232 005245 INC ~(R5)

3323 01523 000000 HALT ; SWAB INSTRUCTION FAILED

3334 015236 012713 000377 1$: MOV #377,(R3)

3355 (015242 000277 SCC

3356 015244 000244 Lz

3337 015246 000363 000000 SWAB  O(R®)

3328 015252 004737 017150 JSR P, a¥8((4 : CHECK FOR (C = &

3329 015256 022713 177400 (™MP #177400, (R3)

3330 015262 001404 BEQ XOR1

3331 015264 ESWABT :

3332 015264 0127645 000335 MOV #335,~(RS)

3333 015270 005245 INC -(R5)

%ggg 015272 000600 HAL T ; WRONG RESULT IN: TEMP2 OR WRONG SEQUENCE
3334

3337

3338 AL AL AL AR AR ARAS SRRt it i bbb il bl il bbbl
3339 SeTEST: 115 NEW INSTRUCTION IN THIS SECTION IS XOR

33‘.0 '-:t.'Qt'tt..I.tttttt'ttt'.'tt.'lt..t't..Qtt.tt..'Qt.ltt'...ttl'ttttt..t".'tt
3341

332 015274 XOF ™ :

33,3 (0152764 021527 0001°5 cmP (RS) ,#115

334 015300 007041 BNE EXORT : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2345 015302 005215 INC (RS)

33 015304 012706 177777 MOV #-1,R4 ; LOAD LOCATIONS

3347 015310 012767 177777 162622 MOV #-1.TEMP1 :

338 015316 000277 SCC

3349 (015320 (74467 162614 XOR R4, TEMP ; SHOULD PRODUCE Q'S IN TEMPI

3350 015326 004737 017172 JSR PC.a#%CCS > CHECK FOR CC - §

3361 015330 012767 077777 162602 MOV 877777, TEMP1

3352 015336 012700 000140 Cv #TEMP1 RO ; PLACE THE ADDRESS OF “EMP1 IN RC

3353 015342 000263 SEVC P SET v & C BITS

3354 0153%4 000244 (L2

3355 015346 074410 XOR R4, (RQ)

335¢ 015350 004737 017256 JSR PC.a#$CC1" ; CHECK FOR CC = 11

3357 015354 012701 125252 MOV #125252 R1 ; LOAD LOCATIONS

7358 015360 012720 052525 MOV #52505,(RO)s -

3359 (015364 277 SC(C

330 0153%& 074140 XOR Ki,=(RO) ; SHOULD PRODUCE ALL 1'S IN TEMP®




M7

MACY11 30A(1052) 09-OCT-78 08:59 PAGE 91
P11 09-0CT-78 08:58 1115  NEW INSTRUCTION IN THIS SECTION IS XOR SEQ 0090

015370 004737 017256 JSR  PC,aas$CC1T ; CHECK FOR CC = 1

016376 022737 177777 000140 e w1 aNTEMPI > CHECK IT

015402 001404 8EQ ADD * CONTINUE IF OK

015406 EXOR1:

015406 (12745 0003% MOV #336,-(RS)

G154°7 (05245 INC ~(RS5$

015477 060090 HALT ; WRONG RESULT IN TEMP1 OR WRONG SEQUENCE
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MACYT1 30A('052) Q9-0CT-78 08:59 PAGE 92
P C9-0CT~78 08:58 1116 NEW INSTRUCTION IN THIS SECTION IS ADD SEQ 0091

IBE 3222232222232 22R2222222daRdsdil i iRl dtRRRil RRiRRillRddRdRRRRRRRRARR R ARl

S*TEST: 116 NEW INSTRUCTION IN THIS SECTION IS ADD

;:tttt.tttt.ttttt"t"tt'tt'tit‘iii"i‘ti*ttttttti't.Qttt.tt'ttt'tttttttttttt

0156414 ADD1:

015414 021527 000116 CMP (RS) ,#116

015420 001133 BNE EADD1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

015422 005215 INC (RS)

015426 012700 000142 MOV ATEMP2 RO : LOAD ADDRESSES

015430 012701 900136 MOV #TEMP R .

015634 012767 021621 162500 MOV #214271,TEMP2  : LOAD LOCATIONS

0156442 011011 MOV (RO), (R1) :

015444 061011 ADD (RO) . (R1) * ADD

015446 004737 017046 JSR PC,a#$CCO * CHECK FOR CC ©

015452 022767 043042 62456 cMP #65042, TEMP ¢ CHECK IT

015460 001404 BEQ 1% : CONTINUE IF Ok

015462 012745 000337 MOV #337,~(R5)

015466 005245 INC ~(RS)

015670 000000 HALT ; ADD INSTRUCTION FAILED

015472 005010 1%: CLR (RO) * C_EAR LOCATION TEMP?

015474 060029 ADD RO, (RQ) + ; PLACE THE ADDRESS OF TEMP2 IN LOCATION TEMP?

015476 026027 000142 CMP ~(RO) ,#TEMP2  : CHECK IT

015502 001404 BEQ 2

015506 012745 000340 MOV #340,~(RS)

015510 005245 INC ~(RS)

015512 000000 HALT : ADD INSTRUCTION FAILED IN MODE 2

015514 012767 156357 162420 2%: MOV #-21421,TEMP?2 : LOAD LOCATIONS

0155022 012011 MOV (RO)+, (R1) :

0155?4 064011 ADD ~(RO),(R1) ; ADD

015526 004737 017256 JSR PC,ar$CC > CHECK FOR CC - M

015532 022767 134736 162376 CMP #-43040,TEMP  » CHE(K IT

015540 001404 BEQ 3$ SCONTINUE IF OK

015542 01745 000341 MOV #341,-(RS)

015546 005245 INC <(RS)

015550 000000 HALT ; ADD INSTRUCTION FAILED

015552 012767 100000 162362 3%: MOV #100000, TEMP2 - LOAD LOCATIONS

015560 011061 000000 MOV (RO) ,0(R1) :

015564 066011 000000 ADD 0(RO) ,(RT) : ADD SHOULD RESULT AS 0'S

015570 004737 017214 JSR PC,an$CC7 > CHECK FOR CC-7

0158574 012767 021421 162336 MOV #21421 ,TEMF : LOAD LOCATION TEMPI

015602 012760 000140 000700 MOV A#TEMP1,0(RY) ;. PLACE THE ADDRESS OF LOCATION TEMP1 [N TEMP?

015610 012711 156357 MOV #-21621, (R1) * LOAD LOCATION TEMP

015614 010004 MOV RO.R4 * MAKE R4 POINT TO LOCATION TEMP?

015616 067411 000000 ADD a0(R4) , (R1) * ADD SHOULD RESULT AS 0°S

015622 004737 017172 JSR PC.4$CCS * CHECK FOR CC=5

015626 005430 NEG a(R0) + * NEGATE THE CONTENTS OF TEMP1

015630 012746 021421 MOV #214621,~(SP) * PLACE # 21421 ON THE STACK

015636 065066 000000 ADD a-(R0) .0 (SP) * ADD, SHOULD=0'S

015640 004737 Q17172 JSR PC,a#8C(5 ; CHECK FOR C(C=5

015644 005726 TST (SP)+ ; CHECY, THE STACK TO CONTAIN O, ALSO
* RESTORE THE STACK POINTER

015646 001404 BEG 48

015650 012745 00032 MOy #342,-(RS)

015656 005245 INC -(R5)

015656 000000 HALT : ADD INSTRUCTION FAILED IN MODE 5

<
g
o
o
—
N
2.8
~N

HRSEER SRR S ¥ MOV #1377727 ,TEMP?
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(VR AA( P 09~0("~-78 08:58 T NEW INSTRUCTION IN THIS SECTION IS ADD Stkw OUY.
%26 015666 062767 137777 162246 ADD 8137777, TEMP?2
25 015674 Q04737 017126 JSR PC a#8C(C3 ; CHECK (C=3
26 015700 022767 77776 162234 (MP 877776, TEMP2
3427 015706 001474 BEQ sSuB1
3428 015710 EADD1:
%29 015710 012745 000343 MOV #343,~(RS)
3,30 015714 005245 INC =-(RS)
332%5 015714 000000 HALT ; WRONG RESULT AT TEMP OR WRONG SEQUEN'E
3433
3434
3435 P L R A A A L e e
3436 ;«TEST: 117 NEW INSTRUCTION IN THIS SECTION IS SUB
3L37 AR A A AT AR R R R AR R RN’ AR R AN R R AR R R AN R AR R AR RN AR AR A AN AR RN AN
3438
3439 (015720 SUB?:
3460 015720 021527 0001°7 (MP (RD) . m117
3641 015724 Q01300 BNE ESUB1 ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
342 015726 005215 INC (R5)
343 015730 012702 000136 Mov #TEMP R2 . LOAD ADDRESSES
344 015736 012703 000140 MOV #TEMP1 ,R3 ;
3445 015740 012767 021421 162170 MOV 8216421, TEMP ; LOAD LOCATIONS
346 015746 012767 156357 162164 MOV #-21621 ,TEMP1 ;
3447 015754 161213 SUB (R2).(R3) . RESULT SHOULD=-43042
348 015756 004737 017236 JSR PC,a#8CC10 ; CHECK FOR CC = 10
3449 015762 022767 134736 162150 CMP #-43042, TEMPT s CHECK IT
3450 015770 001404 B8EQ 1% JCONTINUE IF 0K
351 015772 012745 000344 MOV #3464 ,-(RS)
3452 015776 005245 INC =-(RS)
3453 016000 000GC00 i HALT ; SUB INSTRUCTION FAILED
3454 016002 012767 021421 162130 1$%: MOV 8216421, TEMPY . LOAD LOCATION
3455 016010 161213 SUR (R2),(R3: ; RESULT SHOULD=0
3456 016012 001404 BEQ 2%
3457 016014 012745 000345 MOV #345,-(RS)
3458 016020 005245 INC -(RS)
3459 016022 000000 . HALT ; SUB INSTRUCTION FAILED
360 016026 012767 177777 162106 2%: MOV #-1,TEMP1 . LOAD LOCATIONS
61 0160%2 012767 077777 162076 MOV l?????,TEMP : LOAD _OCATIONS
3462 0160640 161312 SUB (R3) ,(R2) ;. RESULT SHOULD GIVE 100000 AND OVERFLOW
3663 016042 004737 017320 JSR PC,a#$C(C?3 ; CHECK FOR CC = 13
UbL 016046 022767 100000 162062 (MP #100000, TEMP . CHECK IT
365 016056 001404 BEQ 7% ; CONTINUE If Ok
3466 016056 012745 000346 MOv #346,~(RS)
3467 016062 005245 INC =(RS)
268 016064 000000 HALT ; SUB INSTRUCTION FAILED
3469 016066 012712 177777 3%: MoV #-1,(R2)
3470 016072 161312 SUB (R3),(R2)
3471 016076 Q04737 017150 JSR PC,'B#$(C4 s CHECK FOR CC - &
372 016100 012767 077777 162030 MOV 877777, 1EMP
73 016106 162767 077777 162022 SuB n77777 ,TEMP
76 Q16116 004737 017150 JSR PC,aN8C(4 ; (HECK FOR (r=4
W75 016120 005767 162012 TST TEMP
3476 016126 001404 8FQ SO8 : TEMP SHOULD BE O
3477 016126 FSuB":
3478 016126 0127645 000347 MOV N7 7,=(RS)
370 016132 005245 IN( -(RS)
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NEW INSTRUCTION IN THIS SECTION IS Sus

HALT

; SUB INSTRUCTION FAILED OR SEQUENCE ERROR

SEQ 0093
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PN 09-0"7-78 08:58 1120 NEW INSTRUCTION IN THIS SECTION IS SOR SEQ 0094

2222322232222 RRRRARRRRR Rl 2R 2RRRRRRRR R0 )

S*TEST: 120 NEW INSTRUCTION IN THIS SECTION IS SOB

::ttt't'l'tttttt'ttt'ttttttttttttﬁﬁ"ﬁt't'ﬁ'ﬁt'Qﬁﬁﬁ."ﬁ."ﬁ't"!t't'tﬁ"'t"'

01613% SOR:

016136 021527 000120 (MP (R5) ,4120

016142 001042 BNE ESORB ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
016144 005215 INC (R5)

016146 012700 000072 MOV #10. .R0O : LOAD REGISTERS

016152 005001 CLR R1 H

016156 005201 1%: INC R1 : KEEP COUNT

016156 020127 000012 (MP R1,#10.

016162 003404 BLE 2%

016164 012745 000350 MoV #350,-(R5)

016170 005245 INC -(R5)

016172 00000¢ HALT ; SOB INSTRUCTION FAILED
016174 000277 % SCC

016176 0770°2 SoR RO,1$ ; SUB., 1 FROM REG. O, GO BACK TO 1%
016200 004757 017340 JSR PC.a#$CC17 ; CHECK FOR CC = 17

016204 005700 TST RO s REG. 0 =0 2

016206 001404 BEQ 3% ; NO, FAILED

016210 012745 000351 MoV #351,-(RS)

016214 005245 INC -(R5)

016216 000000 HALT : SOB INSTRUCTION FAILED
016220 022701 000012 3%: CMP #10. ,R1 ; DID IT GO THRU 10 TIMES ?
016224 0N14604 BEQ A . CONTINUE IF OK

016226 012745 000352 MOV #352,-(RS)

016232 005245 INC =(R5)

016234 000000 HALT ; SOB INSTRUCTION FAILEC
016236 012704 000010 4%: MOV #10,R4 : PLACE #10 IN R4

016242 077401 5%: S0B R4,5% ;. oTAY HERE UNTILL R4 0
016244 005704 TST R4

016246 001404 BEQ PSWNO ; CONTINUE IF OK

016250 ESORB:

016250 012745 000353 Mov #353,=(RS)

016254 (05245 INC -(RS)

01625¢ 000000 HALT : SOB FAJLED OR WRONG SEQUENCE

Sa 2222238822222 22222223432 2222222202222 8322233032828 22022 R R R 2]

LATEST: 121 NEW INSTRUCTIONS IN THIS SECTION ARE MTPS & MFPS

:;Q.ttQtltt“t'Qttt'ttttttiﬁtﬁttttﬁttﬁtttttkttttt'tttt.tttﬁ"tttttttttt'ttttt

016260 PSWNO:

016260 021527 000121 (MP (R5) ,4121

016264 001042 BNE EP§W0 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
016266 005215 . INC (R3)

016270 012700 000174 MOV #TEMP RO ; OUT THE ADDRESS OF TEMP IN RO
0162764 012707 00Q014( MOV #TEMPT _R1 : PUT THE ADDRESS OF TEMP1 N R1
016300 01271 1727777 MOV #177777,(‘?1) : TEMPY = 177777

016304 005010 CLR (RQ) ; TEMP -0

016306 MTPS (RO) : PSW =0

016306 106470 .WORD 104400.,.C

016310 004737 (17046 JSk PC,aN8CC0 ; (HE(K FOR (f - §
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P11 09-0C "~78 08:58 7121 NEW INSTRUCTIONS IN THIS SECTION ARE MIPS & MFPS SEQ 0095
016314 MFPS  (R1) : MOVE PSW TO TEMP1
016314 106711 LWORD 106700'..C
016316 006737 917150 JSR PC,a¥$CC4 : CHECK FOR (C = &
016322 022711 177400 M #177400, (R1) * CHECK TEMP1 TO MAKE SURE THAT ONLY
: THE LOWER BYTE WAS AFFECTED BY MFPS
016326 001404 8EQ 1%
016330 012745 000354 MOV #354,-(RS)
01633, 005245 INC -(RS)
01633 000000 HAL T : MTPS OR MFPS [NSTRUCTION FAILED
016340 005011 i$: CLR (R1)
016342 MTIPS  #377 : SET PSW = 357 SINCE T BIT CAN NOT BE SET BY MIPS
016342 106427 LWORD  106400...C
016346 006737 017340 JSR PC.a8CC17 : CHECK FOR CC = 17
016352 MFPS  TEMP : MOVE PSW TO TEMP1
8}2?22 882;§; 01725¢ .ggno ;?6;226672 CHECK FOR CC = 11 {C BIT
y : CHECK = C BIT SHOULD NOT BF EFFECTED BY MFP
016362 022767 000357 61550 (MP 2357, TEMPI
016370 001404 BEQ BTWRD
016372 EPSWNO:
016372 012745 000355 MOV #355,-(RS)
0163726 005245 INC -(R5}
016400 000000 HAL T . MFPS INSTRUCTION FAILED IN MODE 6

* OR SEQUENCE ERROK
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MACY'1 30A(1052) 09-0CT-78 08:59_PACE 97
P 09-0CT-78 08:58 T122 BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK SEQ 0096

St 2223232322232 2222232222222220222222220R2RR2 22 RR0R 220RRRRRRRRLRRRRARERRDEDN

SRTEST: 122 BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK

::.ttttttttttt.ttttt.tt.'ttt....t.tttttttttttttttttt....t't.t'.'.t...tttt.t.t

016402 BTWRD :
016402 021527 000122 c™P (RS) 4122
016406 001124 BNE  EBTWRD : IF IN WRONG SEQUNCE GO TO HALT AT THE END OF THE TEST
016410 005215 INC (R5)
016412 005000 (LR RO
016414 000277 SCC
016416 112700 000200 MOVB  #200,RO : SET THE HIGHEST BIT OF THE
016622 004727 017256 JSR  PC,aNsCC1 “ CHECK FOR CC=11
016426 022700 177600 CMP #T??éOO,RO . CHECK FOR SIGN EXTENSION IN RO
016432 001404 BEQ 1%
016434 012745 000356 MOV #356,=(RS)
016440 005245 INC -(RSS
016442 000000 HA_T ; SIGN WAS NOT EXTENDED IN RO
016444 000277 18: SCC
016446 012700 177777 MOV #177777.RO
016452 112760 000000 MovR #0,RO ;CLEAR THE LOWER BYTE OF RO.
016456 004737 017172 JSR PC,a#%$CC5 : CHECK FOR (C=5
016462 005700 TST RO ; CHECK RO FOR SIGN EXTENTION
016464 001404 BEQ 2%
016466 012745 000357 MOy #357,-(R5)
016472 005245 INC.  =(RS}
016474 Q00000 HALT ; SIGN W™ NOT EXTENDED IN RO.
016476 012704 000142 2%: MOV  ATEMP2,R * R4 IS POINTING TO TEMP2
016502 012714 000377 MOV #377,(R4) ; PLACE #377 IN LOCATION TEMPZ
016506 012706 00044t MOV ASTART=2,R6
016512 116426 000000 MOVR O(R4) ,(R6)+ ; PUSH # 377 ON STACK
016516 022706 000450 (WP #START,R6
016522 001404 BEQ 3%
016526 017745 000366 MOV #360,-(RS)
016530 005245 INC  =(RSS
016532 000000 HALT ; R6 DID NOT GET INCREMENTED
> BY 2 BY A BYTE INSTRUCTION
C16534 124627 000377 38 (MPR  —(R6) 4377 > CHECK LOCATION START=2 10
; CONTAIN PROPER DATA
016540 001404 BEQ 4%
016542 012745 000361 MOV #361,~(RS)
016546 005245 INC -(RS)
016550 000000 HALT : BYTE INSTRUCTION IS FAILING WITH R6
016552 022706 000446 4%: (MP  #START-2,R6 -+ CHECK THAT Ré WAS DECREMENTED
; By 2 8y A BYTE INSTRUCTION
016556 001404 , BEQ S8
016560 012745 000362 MOV  #362,~(RS)
016564 005245 INC  =7RS}
016566 000000 HAL T : R& WAS NOT DECREMENTED
016570 016467 007000 161340 58: MOV  O(R4).TEMP > SET THE LOWER BYTE OF LOCATION TEMP
016576 005726 TS7 (R6) + * RESTORE STACK POINTER
016600 007277 SCe
016602 114667 161331 MOVB  ~(SP),TEMP+?  ; SET THE WIGHER BYTE GF LOCATION TEME
016606 004737 017256 SR PC awb((1] * CHE(K FOR (C=11
016612 022767 177777 1613¢ CMP 1'57777,TEMP ; (HECK TEMP FOR THE C(ORRECT VvALUE
016620 001424 BEG 6%
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AAC P 09-C(7-78 08:58 1122 BYTE NSTRUCTIONS REQUIRING WORD INST. TO CHECK SEQ 0097
3616 016622 012745 000363 MOV #36%,~(RS)

3617 016626 005265 INC -(RS)

3618 016630 000000 HAL T ; TEMP FOULED UP

3619 016632 005067 161300 6$: (LR TEMP

3620 016636 000241 cLC

%21 016640 105167 1461273 COMB  TEMP+1 : WRITE 1'S IN THE HIGHER BYTE OF TEMP

3602 016644 004737 017256 JSR PC,ansCC11 : CHECK FOR CC=11

3623 016650 022767 177400 161260 (MP #1776400, TEMP

3624 01665€¢ 001406 BEQ NEXT

3625 016660 EBTWRD:

3626 016660 012765 00036 MOV #364 ,~(RS)

3607 016666 005265 INC -(RS)

3628 01666€ 0GO00C HALT ; WRONG VALUE IN TEMP OR WRONG SEQUE’.CE
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016670
016670
016674
016676
016702
016704
016706
016712

016720
016722
016726
016732
016734
016736
016740
016742
016744
016750

09-0CT=-78 08:59 PAGE 99
END OF PASS ROUTINE

09-0r 1-78 08:58

021527
001404
012745
005245
000000
005267
126727

001011
000004
013700
001404
004710
000240
000240
000240
005067
00167

012737
000000

012706
012737
000004
000760

200123
000365

000152
000042

—h
o~
- —h
NN
S

016764

000450
016754
000"¢6

000001

000024

N00024

NEXT:

(MP
BEQ
MOV
INC
HALT
°%: INC
CMPR

BNE
.TYPE
MOV
BEQ
JSR
NOP
NOP
NOP
DOAGN: (LR
RETURN: JMP

GET42:
$ENDAD :

END OF PASS

L2222 R22 RS 2]

(R5) 4123
$

2
#365,-(RS)
-(RS)

$PASS
$PASS 41

DOAGN
.ENDPAS
a#6?2 RO
DOAGN
PC, (RO)

$TESIN
START

SE0 0098

; IF IN WRONG SEQUENCE GO TO HLT BELOW

; PROGRAM IS IN WRONG SEQUENCE

; ALLOW THE TYPE OUT Of END OF

* PASS EVERY 377 PASSES

TYPE END OF PASS MESSAGE

; PREPARE 0 START FROM TEST 0

* START TEST OVER AT BEGINNING

::t't‘bt‘ttttt‘t*t'ﬁ*l"lﬁ"tt‘Qittﬁﬁtltt‘ﬁ'ﬁ"ﬁ"tt‘ﬁtﬁt“‘ﬁt"“t"tttitttlt

LSBTTL

PWRDN: MOV

HALT

MOv
MOV
.TYPL
BR

PWiRUP :

POWER FAJL ROUTINE

#PWRUP , 24

#START SP
#PWRDN, 2#24
POWER
DOAGN

: GO TO POWER UP ROUTINE AFTER THE POWER (OMES BA(K




( vKAAC

MACY'1 30A(10%2)

(/K AAC.P11
3670
3671
3672
3673
3674
3675 017004
3676 017012
3677 0170 <
3678
3679 017020
3680 017022
3681
3682 017024
3683 017030
3684 017032
3685 017036
3686
3687 017040
3688 017044

3489

09-0(T1-78 08:59 PAGE 100
POWER FAIL ROUYINE

09~-0(1-78 08:58

062716
000006

00004C 000117
100000

161114
161115

000002

.SBTTL

TYPE :

3%

4%:

TYPE ROUTINE

Bl11B
BNE
MoV

TST8
BEQ

1STB
BPL
MOvR
BR

ADD
RT”

#60,3S8ENVM
4%
a(SP) R3

(R3)
U3 3

alPS

3%
(R3)+,aTt3
1%

#2,(SP)

HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
IF SO THEN GO TO 4$

> GET ADDRESS OF MESSAGE

END OF MESSAGE °
YES, GO WRAP 1T uP

READY FOR NEXT CHARA(TER ?
NO, WAIT

LOAD AND TYPE THE (HARA(TER
YES, GET THE NEXT THARACTER

ADJUST THE RETURN PC
RE TURN

SEQ 0099
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PN 09-0(T1~-78 08:58 ROUTINES TO (HECK CONDJTION CODES SEQ 0100
017046 103402 $CCO0: BLE 1%
717050 100407 BM] 1%
017052 103004 BC( 2%

017054 1%:

017054 012745 000366 MOV #366,-(RS)

017060 005245 INC -(R5)

017062 000000 HALT JWRONG CC, IT SHOULD HAVE BEEN - 0
017064 000207 2%: RTS PC

017066 003402 $CC1: BLE 1%

017070 100401 aM] 1%

017072 10304 8Cs 2%

017074 1%:

017074 012745 000367 MOV #367,-(RS)

017100 005245 INC (RS

017102 000000 HALT JWRONG CC, IT SHOULD HAVE BEEN - 1
017104 00027 ’$: RIS ¢

017106 100402 $CC2: ! ‘i

017710 101401 8LOS 9

017112 102404 BvS 2%

0172114 . 1%:

0172114 012745 000370 MoV #370,~(RS)

017120 005245 INC =-(R5)

017122 000000 HALT JWRONG Cf, IT SHOULD HAVE BEEN = 2
017124 000207 2%: RTS PC

01726 100403 $0C3: BM] 1%

017130 001402 B8EQ 1%

017132 102CO1 8v( 19

017134 103404 BCS 2%

017136 1s:

017136 012745 000371 MOV #371,=-(RS)

017142 005245 INC -(R5)

017144 000000 HALT JWRONG CC(, IT SHOULD HAVE BEEN 3
017146 000207 ’%: RTS P

017150 100403 $CC4: 8MI 1%

017152 001002 BNE 1%

017154 102401 8vs 1%

017156 103004 8CC 2%

017160 . 1§

017160 012745 000372 MOV #372,-(R5)

017164 005245 INC -(RS)

017166 000000 HALT JWRONG CC, IT SHOULD HAVE BEEN &
017170 000207 2%: RTS PC

017172 100403 $(C5: BM] 1%

0172174 001002 BNE 1%

017176 10241 8vsS 1%

017200 103404 8(S 2%

017202 R . $:

017202 012745 00037 MOV #373,-(RS)

017206 005245 INC =(R5)

017210 000000 HALT JWRONG CC, IT SHOULD HAVE BEEN 5
311(.”( 000207 2’-’ RTS P(
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ROUTINES TO (HECK CONDITION CODES

09-0.T-78 08:58

100403
001002
102001
103404

012745
005245

000000
000207

100002
101401
102004

012745
005245

000000
000207
100003
001402

102401
103404

012745
005245
000000
00007

" 00002
101401
102404

012745
205245
000000
000207

100002
003401
103404

012745
005245

000374

000375

000376

000377

000400

20040°

$(C7:

1%:

2%:

$Cr10:

%

2%:

$((17:

1%:

2%:

$(C12:

’%:

$CC13:

1%:

2%:

$CCI17:

BM!
BNE
8v(
B(S

MOV
INC
HALT
RTS

BPL
BLOS
Bv{

MOV
INC
HALT
RTS

BPL
BEQ
BVS
B(S

MOV
INC
HALT
RTS

BPL
BLOS
BvS

MOV
INC
HALT
RTS

8PL
BLE
B(S

MoV
INC
HALT
RTS

BPL
BNE
8v(
B(S

MOV
INC

K 8

—
AAN

2%

#4374 - (RS)
-(R5)

PC
1%
1%
2%

#375,-(RS)
=(RS)

PC

#376,~(RS)
-(RS)

PC
1%
1%
8

#377,-(R5)
-(R5?

P
1%
1%
2%

#400,-'R5)
-(R5)

PC

#3201 ,=(RS)
-(R5)

: WRONG

S WRONG

; WRONG

s WRONG

< WRONC

cc,

r
-

cc,

cc.

I4
L,

IT SHOULD HAVE BEEN =

IT SHOULD HAVE BEEN

IT SHOULD + AVE BEEN

IT SHOULD HAVE BEEN

17

SHOULD HAVE BEEN

10

1"

12

13

SEQ 01O
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yKAAL P11 09-0 T=78 08:58 ROUTINES TO (HECK CONDITION CODES SEQ 0102
38G2 01735 . 0O0 HALT JWRONG CC, 17 >HOULD HAVE BEEN 17
303 (17 IR0 2%: RTS P

380 O END
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CYRAAC.P1T 09-0r1-78 08:58 (ROSS REFERENCE TABLE =-- USER SYMBOLS

ABASE - 000000 339

ACDW1 = Q0000C 339

ACDWZ = 00000C 329

ACPUOP= 00000C 339 354

ADCBO 004124 1293 13024

AD(B1 012400 <702 27144

ADCC 005720 1700 17054

ADC1 014554 3181 31934

ADDWO = Q0000C 339

ADDW1 = 000000 229

ADDW10= 000000 729

ADDW1 1= 000000 329

ADDW12= 000000 339

ADDW13= 0000CO 379

ADDW14= 000000 339

ADDW15= 000000 339

ADDWZ = 000000 339

ADDW3 - 000000 339

ADDWS = 000000 229

ADDWS = 000000 339

ADDW6 = 000000 339

ADDWZ = 000000 239

ADDW8 = 000000 339

ADDWS = 0 0 339

ADDO 006524 1875 18374

ADD1 015414 3363 33724

ADEVCT- 000000 339 345

ADEWM = 000000 729 .

ADR 000126 2864 387 2104 2107 2124 2219 2222 2248 2313« 2316 2862 2903
ADR1 000130 1884 389 2105« 2108 2125 2220% 2223 2249 2314 2317 2863 2904
ADR?2 000132 3904 391 2106 2227« 2224 2250 2315« 2318
AENV 000000 179 350 ,
AENVM = 000000 339 3519 ..
AFATAL= 000000 339 2472 g
AMADR1 000000 339

AMADR?2= (000000 229

AMADR3- 000000 339

AMADRSG= 000000 336

AMAMS T 000000 339

AMAMS 2= 000000 729

AMAMS 3= 000000 339

AMAMSS 000000 330

AMSGAD= 000000 339 34

AMSGL G- 000000 339 34L&

AMSGTY 000000 376 24"

AMTYP1 000000 329

AMTYP2- 000000 239

amTyYP3= 000000 339

AMTYP4= 000000 339

APASS = 000000 339 344

APRIOR- Q00000 30

ASLBO 003726 1236 12454

ASLBT 012166 2640 26524

ASLO 00552¢ 1643 16524

ASL1 014342 319 2131

ASRBO 004016 Ay
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(VKAAC.P11 09-0C1-78 08:58 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0104
ASKB1 012262 2678#

ASRO 005612 14784

ASR1 01443% 3157

ASWREG= 000000 339 352

ATESTN= 000000 339 343

AUNIT - 000000 339 346

AUSWR = 000000 339 353

AVECT1- 000000 239

AVECT2= 000000 339 X
BI'80 003060 1048 10574

B8l1(B1 011122 2402 24144

8I1C0 004630 1446 14554

BIC1 013256 2884 2897#

BRANCH 001110 614 6228

BTWRD 016402 3554 3564

(8|7 000660 5% 5234

qq) 000532 448 451 52 453 454 456 457 458 459 460 461 462 LELN
e 000576 477 480 481 482 483 484 485 486 L88#
cce 000646 499 503 504 505 506 507 508 509 510 512#
3 000714 525 530 531 532 533 534 €35 S374

(C4 000764 548 554 555 556 557 558 559 560 5624
cs 001076 598 602 604 606 608 6104

6 001032 575 578 579 £80 581 583 584 585 586 588«
CILNZ - 000254 3294 1801 3288

(MPBO 002720 10174

(MPB1 011020 2369 23814

(MPO 004536 14284

(MP1 013012 28354

(oMmB0 003336 1129#

(omMB1 011544 2509 25274

(om0 005132 15354

com 013712 30064

DOAGN 016744 3646 3649 36542 3669

puMMY 000134 3904 393 885 886

EADDO 006664 1889 19214

EADD1 015710 3374, 34284

EASRBO 004114 1273 12944

EASRB1 012370 2680 27034

EASRO 005710 1680 *7014

EASR1 014544 3159 2182«

EBICO 004764 1457 14874

EBICT 013530 2899 29544

EBTWRD (16660 3566 36254

ECcMPBO 003050 1019 10494

EcmPB1 011112 2383 24034

ECMPO 004620 1430 14478

ECMPI 013246 2837 28854

EINCBT 01153 2472 25104

EMODEQ (007316 2010 20464

EMODE2 007454 2060 2088 20914

EMODE3 (007646 2102 2130 21334

FMODE4L 010124 2146 2202 22054

EMODES 010354 2216 2260 2263#

EMODES 010524« 2276 2299

EMODE7 01 2310 23304

ENDCCO 000542 463 L68#
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ENUCCY 000606 487 492
ENDCC2 000656 511 5164
ENDCCS 001106 609  6lan
ENDJPT 001276 652 6764
ENDJP3 001502 088 732K
ENDJPS 001712 742 7864
ENDJP? 002112 797 8354
ENDJSR 002526 845 951a
ENDPAS 000152 403 3647
ENEGBO 003532 1166 11814
ENEGBT 011762 566 25824
ENEGD 005326 1572 15874
ENEGT 014132 3042 30604
EPSW 007132 1972 1995«
EPSWNO 016372 3528 35554
EREGS 002634 962 9824
EROLBO 003624 1191 12084
EROLBT 012060 2595 26134
EROLO 005420 1597 1614#
EROLT 014234 3073 30924
ERORBO 003716 1220 12374
ERORBT 012156 2623 26414
ERORO 005512 1627 1644H
ERORT 014332 3102 31204
ERRNM 000402 3304 465 4684 489 4924 513 5164 538 5414 563 S66# 589 5924

997 10004 1026 1029# 1032
10354 1037 10404 1043 10464 1050 10534 1060 10634 1071 10744 1078 1081#
1095 1098 1112 11154 1132 1135# 1142 11454 1150 11534 1173 11764 1182
1185# 1200 12034 1209 12124 1228 12314 1238 12614 1248 12514 1259 12624
1281 12844 1295 12984 1305 13084 1320 13234 1329 12324 1346 13494 1356
13594 1366 13694 1377 13804 1399 14024 1415 14182 1437 14400 1442 14454
1448 16518 1467 14704 1474 14778 1488 16914 1501 15044 1518 15214 1538
15414 1548 15514 1556 15594 1579 1582 1588 159i# 1606 16094 1615 16184
1635 16384 1645 1648# 1655 6584 1666 16694 1688 16914 1702 17054 1712
17154 1727 17304 1736 1739 1752 17564 1763 17664 1773 17764 1784 17874
1806 18094 1815 18184 1836 18394 1847 18504 1877 18804 18 1899# 1904
19074 1914 19174 1922 19254 1932 19354 1942 19454 1949 19524 1958 19614
1982 19854 1996 19994 2017 20204 2025 20284 2038 20614 2047 20504 2077
20804 2092 20954 2119 21224 2134 21374 2155 2158# 2168 21714 2178 21814
2188 21914 2206 22094 2234 22378 2244 22478 2264 22674 2291 2294# 2300
23034 2323 2326# 3% 2334m 2365 2368¢ 2371 23740 2393 23964 2398 24014
2404 24074 2417 26204 2431 2434m 2438 26418 2455 24584 2460 26634 2495
24984 2511 25148 2530 25334 2543 25464 2552 25554 2574 25774 2583 25864
2605 26084 2614 26178 2632 26358 2642 26458 2655 26584 2667 26704
20934 2704 27074 2717 27204 2733 27368 2742 27458 2756 27594 2767 27704
2777 27804 2788 27914 28BN 28144 2846 28494 2851 28544 2870 28734 2876
28794 2886 2889 2913 29164 2920 29234 2929 29324 2943 29464 2955 29584
2965 29684 2986 2989 .09 30104 3020 30234 3028 3031 3052 30554 3061
30644 3083 30864 3093 30964 31N 1k 3127 3o4e 313 31378 3146 3149#
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3169 31724 3183 31864 3196 31994 3212 32154 3221 32244 3235 32380 3246
32494 3256 32594 3267 32704 3293 32964 3302 33054 331 33244 3332 33354
3365 33¢3#4 3384 33874 3391 3394¢ 3400 34034 3420 4o 30 3429 36320 30T
34540 3457 34604 3466 364694 3478 36814 3694 34974 3502 35054 3507 3510#
3515 35184 3543 35464 3556 35594 3575 35784 3584 35874 3593 35964 3600
36030 3606 36094 3616 36192 3626 36294 3640 36430 3694 36974 3703 37064
3712 37154 3722 37254 3732 37354 3742 37454 3753 37564 3762 37654 3772

37754 3781 37844 3790 37934 3800 38034

£S08 01625C 3487 35144
EsuB1 016126 3441 36774
ESWABO 006406 1827 18464
ESWAB1 (15264 721 3331
ESXTO 006306 1767 18144
ESXT1 015156 3283 3301
gErsier 011010 237 2370%
EXORO 006514 185¢ 18764
EXOR1 015404 3344 b
GET42 016726 56484

INCBO 003200 1092#

INCB1 011350 24708

INCO 004774 148¢ 14984
INCT 013540 2953 29624
mMP1 001202 645 €508
JMP2 001306 6764 6864
JMP3 001412 710 764
JMP4 001512 729 7408
JMPS 001610 760 7664
JMP4 001722 784 7954
JMP/ 002024 B14 8204
JSRM 002264 8¢ 8844
JSRTST 002122 832 8434
MARK? 000150 LQ2on 887
MODEQ 007142 1964 2008#
MODE 1 007226 20264 2029
MODEZ? 007326 2045 2058#
MODE3 007464 2090 21004
MUDEL 007656 2732 2luél
MODES £10134 2204 2214
MODF6 010364 2262 274N
MODE/ 01053% 2298 23084
NBI T 000544 468 L75#
NEGBO 003452 11644

NEGB1 011676 2564m

NEGO 005246 15704

NEG1 014036 30404

NE XT 016670 3624 36378
NOBIT 000466 437 L45H
NOPT = 000260 3314 455
NOTCC 001042 587 5964
POWER 000166 L06a 3668
PSW 007040 197C#

PSWNO 016260 3513 35264
PWRDN 016754 423 36634 36E
PWRUP (016764 3663 36664
REGS 002536 924 9604

RETURN (1€75C 36554
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ROLBO 003542 1180 1189#

ROLBT 011772 2581 2593

ROt 0 005336 1586 15954

ROL1 0146142 3059 3071

RORBO 0033 1207 12184

RORB1 012079 2612 26214

RORO 005430 1613 16254

ROR1 014244 7091 31004

SBCBO 004256 1343

SBCB1 012536 2753

SBCO 006052 17504

SB(C1 014772 2V

SENVC = 000273 2334 1809 3296

SEVC - 000263 3328 1418 "482 1865 2449 2933 2949 3353

S0B 016136 3476 34854

START 000450 428 434n 847 854 868 908 923 2952 3589 1591 3603 3655 3666
SuB0 006674 1920 19294

SuB1 015720 1427 34394

SWwABO 006316 1813 18254

SWAB1 015166 3300 33094

SXTO 006230 1795#

SXT1 015074 1281#

TEMP 000136 7944 395 716+ 717 718 729+ 730 820 827 830« 64 979

833
2112» 2716 2123+
2127« 2131 2148+ 2149 2166 2173 2181+ 2182 2201 2218« %g}g 2239 2247+
61

* 366t 3472+

TEMPY 000140 3964 397 766 767 768+ 777 782+ 783 784+ 2030 2063 2105 2150
2183 2220 2280 2294* 2297 2312« 2314 2321 2328 235(C 2423 2647? 2453

2013 3044 3285 3347« 3349« 3351+ 3352 3362 3407+ 3408 3444 34466 3649
34654+ 3460+ 3531 3551~ 3553

TEMP2 000142 3084 399 2031 2032« 2036 2044 2064 2106 2109+ 2114 2122+ 2129 2151
2153 2175 2186 2186 2203 2221 2241 2261 Q2278+ 0281 2288 2315 (238S
2683 2721 2760 2860 2861 2880+ 2946 3075 3104 338 3167 3NT 337
3378« 3380 3394+ 3403w 3423+ 3424+ 3426 3587

PG 000146 4014 3684+

1PS 000144 400# 3682

1STBO 002644 980 9944

15181 010676 2329 23454

1S10 004434 13964

1511 012720 2808#

TYPE 017004 412 36754

VBIT 000610 497 4974

XORO 000416 1845  1854#

XOR1 015274 3330 33404

YESCC 000774 561 5734

2BIT 000724 536 S46H

SAPTHD 000126 370 3784 385 ) )

$CCO 017046 1317 1353 1363 1724 1760 /7 893 978 2730 2764 277 R0 1T
3253 3381 353¢  3690% ) )

$CC1 (17066 1068 1075 1106 124 1139 166 1671 3815 1530 1545 w28 Ce¥ 0%
2507 2540 2855  29°C 2917 2983  29%& 3017 359 )

$(C0 (1723 007 1009 (410 1412 73 18¥T G933 %57 539 e, B¢ @7 e ?
5856 I8 3B 3758




(VKAAC MACYT? 30A(105 )0

CURKAAC.PT1T
L1 01725¢

09-0C1=7

$CC12 017309
$C(1; 01732¢

$CC1 017340
$CT2 017106
$cC3 017126
$0C4 01715¢C

$PASTM 000134
$SVPC = 001000
$SWR = 160000

09-0(T-78 08:
8:58

1023 1082
155% 1576
2548 2571
3361 3397
1:9? 1234
3117 3143
1102 1178
1989 3499
1383 1790
1122 1528
1003 1005
19¢€3 7985
3175 3204
1107 1117
2500 2559
3581 37374
1204 1232
5087 3115
I54M

3454

302 36504
3504

3514 3675
3494 424
3614 384
3424

282 283
3794

3404 380
3804

3474

3484

LIAY

344 3643«
182#

3004 305
282 283
3524

3434 435
2824 In
5254 542
646 651
844 8454
10594 1088
1214 1219
2344 13454
1500 1531
1648 1653
1796 17974
19314 1666
2140 2145
2346 237
25294 2560
2674 2679
283% 28374
e 3067

E 9

CROSS REFERENCE TABLE -~ USER SYMBOLS

59 PAGE 110
1084 1105
1698 1781
2700 2785
3552 3572
1256 1326
3218 37774
1508 1584
3549 37954
2794 3273
2505 2996
1265 1287
2353 2355
3261 7328
1156 1335
2748 293%5
1263 1285
3150 2173

384 426
3644

903 977
442 447
547 548#
652# 68¢
956 961
1093 10944
12208 1241
1392 1397
1536 15374
16548 1474
1821 1826
1971 19724
21464 2210
2377 2382
2565 25664
26808 2710
2893 2898
3072 30734

1119
1811
2926
3613
1603

1955

1147

1868
2937
3622
1641

2478

372174
1371
2488
3474
1484
2981

1639
27484

L7°
574
688+
990
1130
12474
1424
1571

1170

476

1374
3049
2602
2973

1672
2725

1562
3227

1909

1478
2643
3179
2638

3057

1694
2782

1742
3290

2605

1481
2645
3204
2664

3463

1719
2819

1803
3350

2626

1511
2480
3298
273%9

37864

1778
2821

1862
3412

2671

SOMOANN=ONOA B N—-O
~Auu~umu—ﬂbmnnhm£$3 v, ]
L 3 L J

SEQ (108
152%

505

356

3080

18432
3152

2452
3416

2694
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3189 3194 31954 3228 3233 323w 3277 3282 3283« 3305 3310 33114 3338
3343 33444 3368 3373 337644 3435 3440 3461 3481 3486 34874 3521 3527
35284 3560 3565 35664 3638 36354

$TSTM 000132 3814
SUNIT 000110 3464
SUNITM 000136 3834
SUSWR 000122 353
17362 2904 296 300 3014 3034 3054 3194 368 3694 37214 3734 3854 3874
3804  391# 393x 3954 3974 39GH 4094 'SRY 6224 4324 81v 19774 1978«
12%3: 9814 19884 19894 19914 19924 35354 35364 3538 35304 35484 35494 3551«
TYPE = 000004 3358 3647 3668
% = 000126 3684 373
A = 016352 19774 19804 1988+ 19914 35354 35384 35484 35514
B = 016356 19774 1978 1980 1981 19884 1989 19914 1992 35354 3536 3538 3539 3548

.
.
P
i
QD
Q
Q
&
~N
-
)
~
~
&8
—_
O
oo
s
-
O
ao
3
-
O
bt
&8
W
o)
W
N
¥
(V]
(¥,
N
-3
v
AN

484  3551«#




(WKAA(

MACY11 30A(1052)

CYxkAAC P11

COMMEN
ENDLOM
ERROR

ESCAPE
GETPR]
GF T SWR
HLT

HLT
MF PS
MTPS

NEWIST
NWTEST

PUSH
REPORT
SEQ(Hx

»
»
3138
¢

NINDPVNINY — —
S NTASEE
SREB

NN
&
8%

3593

09-0CT~-78 08:59 PAGE 113

09-0(1-78 08:58

465
&77
787

900
10463
1238

1442
“645

46

4P9

G 9

CROSS REFERENCE TABLE == MACRO NAMES

563
712
816
919
1078
1295
1488
1702
1914

&5 =0 \O NVNHN-2 000 NV

ORNRNN) =) DN =0
NOORA) OO — OV

PON) — = = 2

2632

562

3435

546

O NWVWN =000 N
NN =N = NN —
N NOOOMN) = OO0~ —

646
1267
1791
2410
3036

— b b

NN — 000 O
OV
WONONONVONNY &~

686

740

863

SEQ 0110
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994 1017 1057 1092 1129 1164 1189 1218 1245 127° 1302 1343 1396 1428 1455
1498 1535 1570 1595 1625 1652 1678 1709 1750 1795 1825 1854 1887 1929 1970
2008 2058 2100 2144 2214 2274 2308 2345 2381 2614 2470 2527 2564 2593 2621
2652 2678 2714 2753 2808 2835 2897 2962 3006 3040 3071 3100 3131 3157 3193
3232 3281 3309 3342 3372 3439 3485 3526 3564 3637
SEQUEN 3164 &47 476 (98 524 547 574 597 623 651 687 741 796 844 961
995 1018 1058 1093 1130 1165 1190 1219 1246 1272 1303 1344 1397 1429 1456
4,99 T 36 1571 1596 1626 1653 1679 1710 1751 1796 1826 1855 1888 1930 1971
2009 ¢ 9 2101 2145 2215 2275 2309 2346 2382 2615 2471 2528 2565 2594 2622
2653 & S 2715 2754 2809 2836 2898 2963 3007 3041 3072 3101 3132 3158 3194
3233 328¢ 2310 3343 3373 3440 3486 3527 3565 3638
SETPR] 1
SETUP 1
SK[P 14
SLASH 1%
STARS 1 2728 292 298 2164 338 365 367 374 442 444 471 473 493 495
519 521 542 544 569 571 592 594 618 620 646 648 682 684 736
738 791 793 839 841 956 958 990 992 1013 1015 1053 1055 1088 1
1125 1127 1160 1162 1185 1187 1214 1216 1241 1243 1267 1269 1298 1300 1339
1341 1392 1394 1424 1626 1451 1453 1494 1496 1531 1533 1566 1568 1591 1593
1621 1623 1648 1650 16764 1676 1705 1707 1746 1748 1791 1793 1821 1823 1850
1852 1883 1885 1925 1927 1966 1968 2004 2006 2054 2056 2096 2098 2140 2142
2210 2212 2270 2272 2304 2306 2341 2343 2377 2379 2410 2612 2466 2468 2523
2525 2560 2562 2589 2591 2617 2619 2648 2650 2674 2676 2710 2712 2749 2751
2804 2806 2837 2833 2893 2895 2958 2960 2002 3004 3036 3038 3067 3069 3096
3098 3127 3129 3153 3155 3189 3191 3228 3230 5277 3279 3305 3307 3338 3340
3368 3370 3435 2437 3481 3483 3521 3523 3560 3562 3658
SWRSU 1»
TYPBIN 1
TYPDEC 1»
TYPNAM 1
TYPNUM 1
TYPOCS »
TYPO(T »
TYPTXT it
$C17 3074 660 696 859 894
SNWTST 315# 442 471 493 519 542 569 592 618 646 682 736 791 839 956
990 1013 1053 1088 1125 1160 1185 1214 1241 1267 1298 1339 1392 1424 1451
1494 1531 1566 1591 1621 1648 1674 1705 1746 1791 1821 1850 1883 1925 1966
2004 2054 2096 2140 2210 2270 2304 2341 2377 2610 2466 2523 2560 2589 2617
2648 2674 2710 2749 2804 2831 2893 2958 3002 3036 3067 3096 3127 3153 3189
3228 3277 3305 3338 3368 2435 3481 3521 3560
$SESCA 1
SSNEWT .
$$SKIP 1
.EQUAT 1»
.HEADE " 2724
KkT11 'y
.SETUP 1.
<« SWRH] »
LBACT 14 2720 296
.SAPTH K J 2728 336
SAPTH 1 e7on 3,2
LSAPTY »
SASTA 12
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.S(MTA 'y
.$082) 1%
.$0820 M
.801v »
.$EOP o
.$ERRO V]
.$ERRT o |
ST o
. SPOWE M
. $SRAND ‘N
$RDDE s
$RDO( n
$RFAD 14
$R2OAZ o
$SAVE i
$SB2D o ]
$SB20 1%
$5C0P W
£S12E 14
$SUPR 14
$ TRAP iy 4
$7YPB 1~
$TYPD .
$TYPE Y 4
$TYPO 14
$L0OCA 1
1170 1

. ABS. 017362 oy

ERRORS DETECTED: (
CVKAAC . BIN, CVKAAC.LST/CRF/SOL/NL : TGC=CVKAAC. SML, CVKAAC.P*1
RUN-TIME: 73 18 7 SECONDS
RUN-TIME RATID: 103/33=3.0
ORE JSED: 32k (&3 PAGES)




	0000_fiche=1,x=00,y=00
	0001_fiche=1,x=00,y=01
	0002_fiche=1,x=00,y=02
	0003_fiche=1,x=00,y=03
	0004_fiche=1,x=00,y=04
	0005_fiche=1,x=00,y=05
	0006_fiche=1,x=00,y=06
	0007_fiche=1,x=00,y=07
	0008_fiche=1,x=00,y=08
	0009_fiche=1,x=00,y=09
	0010_fiche=1,x=00,y=10
	0011_fiche=1,x=00,y=11
	0012_fiche=1,x=00,y=12
	0013_fiche=1,x=01,y=00
	0014_fiche=1,x=01,y=01
	0015_fiche=1,x=01,y=02
	0016_fiche=1,x=01,y=03
	0017_fiche=1,x=01,y=04
	0018_fiche=1,x=01,y=05
	0019_fiche=1,x=01,y=06
	0020_fiche=1,x=01,y=07
	0021_fiche=1,x=01,y=08
	0022_fiche=1,x=01,y=09
	0023_fiche=1,x=01,y=10
	0024_fiche=1,x=01,y=11
	0025_fiche=1,x=01,y=12
	0026_fiche=1,x=02,y=00
	0027_fiche=1,x=02,y=01
	0028_fiche=1,x=02,y=02
	0029_fiche=1,x=02,y=03
	0030_fiche=1,x=02,y=04
	0031_fiche=1,x=02,y=05
	0032_fiche=1,x=02,y=06
	0033_fiche=1,x=02,y=07
	0034_fiche=1,x=02,y=08
	0035_fiche=1,x=02,y=09
	0036_fiche=1,x=02,y=10
	0037_fiche=1,x=02,y=11
	0038_fiche=1,x=02,y=12
	0039_fiche=1,x=03,y=00
	0040_fiche=1,x=03,y=01
	0041_fiche=1,x=03,y=02
	0042_fiche=1,x=03,y=03
	0043_fiche=1,x=03,y=04
	0044_fiche=1,x=03,y=05
	0045_fiche=1,x=03,y=06
	0046_fiche=1,x=03,y=07
	0047_fiche=1,x=03,y=08
	0048_fiche=1,x=03,y=09
	0049_fiche=1,x=03,y=10
	0050_fiche=1,x=03,y=11
	0051_fiche=1,x=03,y=12
	0052_fiche=1,x=04,y=00
	0053_fiche=1,x=04,y=01
	0054_fiche=1,x=04,y=02
	0055_fiche=1,x=04,y=03
	0056_fiche=1,x=04,y=04
	0057_fiche=1,x=04,y=05
	0058_fiche=1,x=04,y=06
	0059_fiche=1,x=04,y=07
	0060_fiche=1,x=04,y=08
	0061_fiche=1,x=04,y=09
	0062_fiche=1,x=04,y=10
	0063_fiche=1,x=04,y=11
	0064_fiche=1,x=04,y=12
	0065_fiche=1,x=05,y=00
	0066_fiche=1,x=05,y=01
	0067_fiche=1,x=05,y=02
	0068_fiche=1,x=05,y=03
	0069_fiche=1,x=05,y=04
	0070_fiche=1,x=05,y=05
	0071_fiche=1,x=05,y=06
	0072_fiche=1,x=05,y=07
	0073_fiche=1,x=05,y=08
	0074_fiche=1,x=05,y=09
	0075_fiche=1,x=05,y=10
	0076_fiche=1,x=05,y=11
	0077_fiche=1,x=05,y=12
	0078_fiche=1,x=06,y=00
	0079_fiche=1,x=06,y=01
	0080_fiche=1,x=06,y=02
	0081_fiche=1,x=06,y=03
	0082_fiche=1,x=06,y=04
	0083_fiche=1,x=06,y=05
	0084_fiche=1,x=06,y=06
	0085_fiche=1,x=06,y=07
	0086_fiche=1,x=06,y=08
	0087_fiche=1,x=06,y=09
	0088_fiche=1,x=06,y=10
	0089_fiche=1,x=06,y=11
	0090_fiche=1,x=06,y=12
	0091_fiche=1,x=07,y=00
	0092_fiche=1,x=07,y=01
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